
Item # Description Brand New MSRP
104 Wheel 7 In Sym Little Wonder $17.38
105 Wheel 7 In Offset Little Wonder $16.56
106 WHEEL-8IN SYM Little Wonder $30.68
107 WHEEL-8IN OFFSET Little Wonder $30.68
108 BRKT-WHEEL FRONT Little Wonder $25.53
109 Clevis Pin Little Wonder $1.16
113 Screw Cap Little Wonder $1.04
115 Nut Hex Little Wonder $1.04
116 PULLEY-.625 X 2.0 X 4L BELT Little Wonder $23.75
117 Key Little Wonder $2.18
118 Screw Set 5/16 Little Wonder $1.04
119 Screw 1/4-20 x 3/4 HHCS Little Wonder $3.40
121 Key Woodruff 606 Little Wonder $2.52
122 Retaining Ring Little Wonder $1.04
124 BRG-203 DOUBLE SEAL W/RING Little Wonder $14.41
126 HEAD-CUTTER Little Wonder $62.21
128 WASHER-BLADE Little Wonder $2.16
129 BLADE-10.0 EDGER Little Wonder $9.01
132 Tension Pin 1/4 x 1 1/4 Little Wonder $1.04
135 Yoke Lock Little Wonder $4.20
136 Nut Yoke Lock Little Wonder $1.04
137 Screw Lock w/Grip Little Wonder $7.71
138 KEY-HEAD SHAFT Little Wonder $27.56
139 GUARD-BELT HEAD Little Wonder $5.76
140 Bolt 1/4-20 x 3/8 Little Wonder $1.04
152 Bolt Brace 5/16-18 x 2 1/2 Little Wonder $1.04
154 KNOB-BLKW/ STEEL PLTD INS. Little Wonder $21.76
155 ROD-UPPER ADJ Little Wonder $30.24
156 Cotter Pin 3/32 Little Wonder $1.04
159 TOOTHED SEGMENT-INDEX GEAR Little Wonder $10.99
163 WASHER-.328X .75 X 14GA Little Wonder $1.04
164 SPRING-COMP .68 X .88 X 1.38 Little Wonder $9.62
166 BRACKET-INDEX ROD Little Wonder $5.76
167 Lever Belt Slackener Little Wonder $3.59
169 LINK-BELT SLACKENER Little Wonder $16.67
170 Clevis Pin 5/16x15/15 SAESTDZP Little Wonder $1.44
171 PIN-SLACKENER HOOK Little Wonder $8.22
173 Nut Hex Little Wonder $0.36
177 BELT-V 4L-300 Little Wonder $11.13
178 SPACER-.266 X .50 X .313 Little Wonder $1.04
179 Screw HHCS Little Wonder $1.04
181 SHAFT-CUTTER HEAD Little Wonder $27.84
184 AXLE-.500 X 12.81 EDGER Little Wonder $12.28
185 SHAFT-.375 X 6.81 Little Wonder $6.36
191 BRACKET-GUIDE Little Wonder $27.28
192 GUIDE-PLATE Little Wonder $5.76
193 BRACKET-FRONT WHEEL Little Wonder $5.76
194 Bolt Axle Front Little Wonder $1.40
195 GUARD-BELT Little Wonder $58.21

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



196 HEX HEAD BOLT 5/16-24 x 1 1/4 Little Wonder $1.04
197 Nut Jam 5/16 x 24 Little Wonder $1.04
209 ASSY-FLAP, MUD Little Wonder $36.68
214 Throttle Control Little Wonder $10.75
220 PULLEY-.670 X 2.0 X DBL 4L BLT Little Wonder $31.52
251 PULLEY-.75 X 2.13 X DBL 4L Little Wonder $40.80
266 SUPPORT-HANDLE LH Little Wonder $24.89
277.10 BRACE-LOWER HANDLE EDGER Little Wonder $28.82
314 Felt HT Gas Little Wonder $1.04
316 Cover Plate Little Wonder $4.32
328 Washer 1/4 Common $1.04
371 Pinion Little Wonder $36.45
373 Bushing Lower Little Wonder $2.83
377 Handle Clamp Mantis $1.04
378 Bolt 1/4-20 x 1 1/2 Hex Hd Little Wonder $1.04
410 Screw 1/4-20 x 1 HHCS Little Wonder $1.04
422 Worm Mantis $63.43
426 Worm Disc Mantis $1.04
464 Switch Bracket Mantis $4.32
466 Cult Trans Housing Machined Mantis $68.75
468 Shaft Drive Mantis $23.50
478 Throttle Clip Mantis $1.04
486 Wheel 6 In Mantis $13.25
491 Wheel 7 x 1 1/2 Mantis $12.46
493 Spring Thatcher Mantis $1.04
496 Washer 5/16 Mantis $1.04
497 Bolt Shoulder Axle Mantis $2.10
651 Screw 8-32 x 1/2 Mantis $1.04
901 Deck 8 HP Little Wonder $56.20
905 Housing Assy Blower 8 HP Little Wonder $257.20
915 KEY-1/4 X 1/4 X 2SQ Little Wonder $1.04
936 Deflector Assy 5 HP Side Little Wonder $10.48
939 Bolt 3/8-24 x 1 1/2 Little Wonder $1.04
941 Washer Lock 3/8 Split Little Wonder $1.04
942 BOLT-HEX 5/16-18X1-3/4 Little Wonder $1.04
945 Throttle Little Wonder $53.36
946 THROTTLE CLIP Little Wonder $1.04
963 WASHER - LOCK EXT. 5/16 Little Wonder $1.04
966 Deflector Little Wonder $5.76
967 Bushing Ind Slide-Lock Little Wonder $2.52
972 Nut Lock 1/4-20 Little Wonder $1.04
973 Nut Lock 10-32 Little Wonder $1.04
980 Screw HH Cap 3/8-16 x 2 Little Wonder $1.04
990 Clamp Ideal 9256 Little Wonder $7.63
1017 Cable Retainer Mantis $1.33
1030 Switch Bracket Mantis $2.76
1061 UNPAINTED 465 FENDER Mantis $6.15
3023 Motor Housing Base Assy Little Wonder $10.24
3025 Brush Holder Little Wonder $1.04
3026 Brush Retainer Little Wonder $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



3033 Switch Nomally Open Little Wonder $8.50
3036 Nut Lock 1/4-20 Little Wonder $1.04
3037 Nut Lock DIN 982 M6-8 Little Wonder $1.04
3038 Screw Socket Hd Cap DIN 912 Little Wonder $1.04
3039 Screw B4.2 x 16 DIN 7981 Little Wonder $1.04
3040 Screw B4.2 x 25 DIN 7981 Little Wonder $1.04
3041 Screw B3.5 x 13.0 DIN 7981 Little Wonder $1.04
3042 Screw 8-32 x 1 Little Wonder $1.04
3044 Screw 8-32 x 1-7/8 Little Wonder $1.04
3050 Connector Blocks 2 Little Wonder $1.00
3065 Wrench DE M5 Little Wonder $1.04
3066 Screw HHCS M5 Little Wonder $6.47
3068 Nut 4.2 x 32 Heavy Cap M5 Little Wonder $6.36
3070 STUD  1/4-28 X 3/4 Little Wonder $0.52
3079 Hardware Bag HT SE Little Wonder $2.92
3127 Loop Handle Inside Cream Mantis $1.04
3134 Strain Relief Mantis $5.65
4003 Clutch Mantis $29.40
4019 Washer Lock 10 Split Med Mantis $0.36
4036 LABEL-WARNING EAR/EYE Little Wonder $1.04
4046 Brush 9 In for 6020 Little Wonder $94.95
4048 Label Europe MO Address Mantis $1.49
4049 Screw 1/4-20 x 3 1/4 Hex Hd Mantis $1.04
4051 Nut Flange 1/2-20 Mantis $1.04
4058 Label ID Mantis Mantis $1.61
4070 Spring Trigger Cultivator Little Wonder $1.04
4073 Screw Pan Hd Shoulder M5 Little Wonder $1.04
4074 Screw Machine M5 Little Wonder $1.04
4075 Ground Wire 43 1/2 In Mantis $8.07
4076 Nut Hex M5 Mantis $1.04
4077 Nut Lock Spring Insert M5 Mantis $1.04
4078 Nut Jam M6 Hex Mantis $1.04
4079 Washer Lock Internal M6 Mantis $1.04
4090 Oil Bottle LW Little Wonder $3.01
4092 Weed Reducer Mantis $4.32
4106 Fender Thatcher One Z Bend Mantis $21.62
4120 Label Thatcher Left Little Wonder $1.04
4121 Label Thatcher Right Mantis $1.04
8997 Wrench Spark Plug Mantis $5.66
9052 Spark Plug BPM-7Y Mantis $7.80
9053 Spark Plug Resistor BPMR7A Mantis $7.87
9856 Funnel Mantis $1.04
9985 Lith 0 Grease 2 Oz Tube Mantis $6.82
18002 Bolt Shoulder 1/2 x 2 Little Wonder $6.92
18003 Pulley Gearbox Drive Little Wonder $84.25
18004 Bushing Flanged Little Wonder $1.44
18006 Pulley Idler Blade Drive S/L Little Wonder $46.23
18008 Hub 7/8 In Little Wonder $22.24
18018 Spring Tension 3/4 x 4 3/4 Little Wonder $7.78
18019 Idler Arm Blade Drive Little Wonder $35.21

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



18020 Pulley Idler Little Wonder $15.00
18023 Nut Push 5/16" Little Wonder $1.04
18025 Flange Bearing Little Wonder $36.84
18029 Hub Mulching Little Wonder $61.98
18033 Rod End Little Wonder $27.22
18038 Pulley Hydro Drive Little Wonder $47.48
18040 Pulley Blade Drive Little Wonder $50.75
18053 Key Little Wonder $3.27
18054 Key Woodruff Little Wonder $1.04
18055 Key Drive Wheel 3/16 x 1-3/8 Little Wonder $2.77
18060 Washer Blade Little Wonder $16.39
18061 Nut Lock 3/4 Nylon Little Wonder $1.04
18098 Bolt Eye Little Wonder $21.98
18101 Pin Detent Little Wonder $9.55
18103 Gauge Wheel Little Wonder $16.39
18109 Collar Set w/ Set Screw Little Wonder $3.43
18110 Bushing Nylon Little Wonder $1.04
18112 Bolt Shoulder 1/2 x 1 Little Wonder $5.76
18113 Swivel 5/16 Little Wonder $6.73
18114 Grip Handle Bar Black Little Wonder $4.32
18115 Grip Blade Engage Red Little Wonder $2.14
18118 Bushing Flange 3/4 x 1 Little Wonder $5.76
18120 Spring Latch 1/2 x 2 1/4 Little Wonder $1.68
18124 Linch Pin Little Wonder $1.04
18125 Fork Weld Assy,Black PowdCoat Little Wonder $78.59
18127 Wheel Caster Tire Assy Little Wonder $120.88
18128 Bushing Flange 1 x 7/8 x 1 Little Wonder $5.76
18129 Spacer 1 x 5/8 x 1/4 Little Wonder $19.71
18130 Sleeve 5/8 x 1/2 x 4 1/8 Little Wonder $23.26
18131 Split Collar 1 3/4 Little Wonder $29.48
18134 Bushing Bronze 3/4" Tall Little Wonder $41.61
18201 Belt Blade Drive Little Wonder $39.28
18204 Belt Little Wonder $56.41
18205 Mud Flap Little Wonder $24.55
18206 Mud Flap Clamp Little Wonder $7.32
18301 Lever Little Wonder $21.28
18302 Pulley Little Wonder $72.04
18305 Pin Aluminum Hydro Mount Little Wonder $5.33
18307 Chain Tensioner Little Wonder $4.32
18309 Washer Spring 3/8 x 1 1/2 Little Wonder $4.28
18316 Bearing Axle Little Wonder $44.19
18401 Arm Housing Little Wonder $345.69
18402 Handle Left Little Wonder $73.11
18403 Handle Right Little Wonder $80.94
18405 Front Belt Cover Little Wonder $54.04
18406 Blade and Belt Cover Little Wonder $379.43
18408 Blade Scraper Little Wonder $21.12
18411 Support Little Wonder $63.54
18412 Handle Bar Little Wonder $29.52
18413 Blade Ebgage Lever Little Wonder $50.87

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



18414 Wheel Spacer Little Wonder $5.69
18415 Wheel Spacer Little Wonder $5.76
18416 Rod Blade Lift 29 3/8 Little Wonder $26.12
18418 Arm Blade Belt Tensioner Little Wonder $44.50
18420 Rod Little Wonder $10.43
18421 Latch Rod Little Wonder $23.72
18422 Lever Blade Lift Little Wonder $90.04
18423 Quadrant Little Wonder $17.42
18424 Rod Blade Engage 37 1/8 Little Wonder $131.72
18426 Shank Little Wonder $23.68
18427 Rocker Spacer 1/2 In Little Wonder $5.76
18430 Quadrant Spacer Little Wonder $5.84
18437 Thrust Collar Little Wonder $37.82
18462 Scraper Blade Inner Little Wonder $14.07
18465 Dust Shield Little Wonder $19.66
18501 Differential with Sprocket Little Wonder $256.52
18502 Blade Drive Gearbox Little Wonder $560.52
19106 Frame Nose Little Wonder $79.04
19213 Blade Frame Little Wonder $816.69
19219 Seal Shaft Little Wonder $16.67
19220 Spacer 1 x 1 1/4 x 1/2 Little Wonder $5.76
19221 Washer Flat 3/4" SAE Little Wonder $1.04
19223 Spacer 1 x 1 1/4 x 13/16 Little Wonder $5.76
19224 Belt, Cogged Little Wonder $59.32
19225 Sheave Blade Drive Little Wonder $87.41
19226 Hub Tapered Little Wonder $47.67
19227 Bell Crank and Extender Little Wonder $64.07
19228 Spring Little Wonder $9.36
19230 Spacer 1 x 1 1/4 x 5/8 Little Wonder $5.13
19231 Sheave Blade Driven Little Wonder $107.79
19233 Disc Blade with holes Little Wonder $66.14
19240 Clamp Mud Flap Little Wonder $28.59
19242 Lever Wheel Gauge Little Wonder $85.67
19243 Quadrant Little Wonder $83.21
19245 Rod Latch Little Wonder $15.09
19246 Cable Lift Little Wonder $71.28
19250 Angle Wear Nylon Little Wonder $20.66
19253 Clip Hanger Walker Only Little Wonder $22.55
19255 Gearbox Little Wonder $813.00
19256 Grip Blade Lift Little Wonder $4.32
19257 Handle Lift Little Wonder $184.78
19258 Nose Wheel Little Wonder $9.65
19259 Shield Drive Belt Little Wonder $59.63
19260 Tread Anti-Slip 4" X 60 ft Little Wonder $9.38
19287 Cover Hinged Gearbox Little Wonder $65.05
8-53 Nut Wing 1/4-20 Little Wonder $0.65
20901 Engine Spacers Little Wonder $6.67
20902 Bushing Flanged Little Wonder $1.44
20906 Fuel Tank Little Wonder $74.63
20908 Fuel Valve Little Wonder $12.53

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



20909 Plate Tank Little Wonder $36.55
20912 Chain Lift Walker 1 Link Little Wonder $25.99
20914 Main Frame Grasshopper 2001+ Little Wonder $437.09
20915 Drive Line Assy Walker 2001+ Little Wonder $422.75
20916 Drive Line Assy GH 2001+ Little Wonder $399.07
20935 Adhesive Strip Little Wonder $1.51
20936 Label Bedshaper Little Wonder $11.00
20937 Label Warning List Little Wonder $4.32
20938 Label Travel Control Little Wonder $2.04
20940 Label Blade Engage Little Wonder $1.04
20941 Label Warning Utilities Little Wonder $3.61
20942 Label Danger Little Wonder $9.03
20943 Label Throttle Control Little Wonder $1.04
20945 Label Blade Lift Little Wonder $3.61
20946 Label Caution Hot Little Wonder $1.04
20947 Spacer Hydro Idler Little Wonder $6.85
20948 Pulley Idler w/ Bushing 5/8 ID Little Wonder $44.63
20949 Snap Ring Blade Shaft Little Wonder $1.04
20950 Ball Joint Little Wonder $8.84
20951 Support Rod Little Wonder $84.78
20952 Mounting Bracket Little Wonder $12.73
20953 Tube Little Wonder $50.68
20954 Grip Green Little Wonder $3.93
20956 Collar Set 3/8" Little Wonder $1.51
20957 Label "LW" Front of Bedshaper Little Wonder $18.71
20959 Adapter Frame 928 GH Little Wonder $374.44
20966 Grease Fitting 3/16 Little Wonder $2.10
20967 Pop Rivet 64 3/16Dia x 1/2long Little Wonder $1.04
20969 Pallet Cover Little Wonder $15.03
20974 Hairpin Cotter Little Wonder $1.04
20976 U Joint Only Little Wonder $122.72
20978 Key 1/4 x 1/4 x 1 Little Wonder $1.51
20979 Blade Cover Little Wonder $84.25
20980 Cover Blade Less 20979 Little Wonder $197.08
20981 Label 900 Hydrostatic Little Wonder $13.01
20982 Label Patent Little Wonder $1.99
20983 Fuel Filter Little Wonder $9.42
20994 Screw 1/4 x 3/4 Self Tapping Little Wonder $1.04
21025 PTO Driveline Assy GH Little Wonder $278.26
21026 Adapter Frame Walker 2001+ Little Wonder $416.03
21027 Cover Hinged Blade Little Wonder $68.07
21028 Sleeve Machined Deck Little Wonder $38.19
21029 Sleeve Machined Arm Little Wonder $24.81
21032 Safety Glasses Little Wonder $12.31
8-57 Bolt 3/8-16 x 1 Grd 5 Little Wonder $0.67
21034 Bushing Corner Idler Adapter Little Wonder $6.74
21050 Hub Tapered Little Wonder $136.36
21052 Shim Gearbox Spacer Extender Little Wonder $4.32
21053 Nutsert 5/16 Little Wonder $4.32
21054 PTO Driveline Assy Walker Little Wonder $409.13

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



21055 Blade Cover Assy Little Wonder $180.07
21056 Pulley and Hub Drive Blade Little Wonder $203.40
21058 Screw SCHS 1/4 x 1 1/2 GR 5 Little Wonder $1.04
21061 Stiffener Little Wonder $38.46
21062 Tine Shredder Little Wonder $67.48
21063 Mud Flap Little Wonder $28.62
21064 Scraper Outer Extended Little Wonder $38.46
21071 Nut 3/4 NF Slotted Little Wonder $1.61
21075 Spring Blade Drive Little Wonder $17.46
21076 Chain Lift 29 Links Little Wonder $15.12
21085 Tines Short Little Wonder $30.86
21091 Crating Little Wonder $125.56
21092 Sleeve Wheel, 5/8"ID x2 3/8"Lg Little Wonder $11.11
21094 Weight 8 Lbs Little Wonder $68.34
21099 Transmission Hydrostatic Little Wonder $1,801.32
8-59 Aux Handle Strap Little Wonder $1.96
22020 Bolt Flange 5/16 x 3/4 Little Wonder $1.04
22021 Screw Set 5/16 x 3/8 Little Wonder $1.04
22022 Pulley Hydrostatic Trans Little Wonder $97.60
22025 Cross Little Wonder $60.39
22026 Label Arrow Little Wonder $1.04
22033 Wheel Assy 145/70 Little Wonder $127.39
22046 Cap Screw Tran 5/16 x 4 1/2 Little Wonder $1.04
22047 Lever Tow Valve Little Wonder $16.95
22048 Lever Control Little Wonder $29.79
22054 Cover Transmission Little Wonder $98.48
22057 Rod Hydro Little Wonder $40.72
22058 Rod Blade Engage Short Little Wonder $28.56
22059 Sprocket Drive Little Wonder $137.99
22066 Chain Drive Little Wonder $40.94
22074 Shim Corner Idler Little Wonder $2.27
22083 Retaining Ring Little Wonder $2.74
22084 Bracket Trans Mount Little Wonder $15.89
22086 Slide Rod W A Little Wonder $25.83
22087 Handle Hydro Control Little Wonder $27.42
22088 Adapter Fitting Hydrostatic Little Wonder $36.71
22089 Reservoir Hydrostatic Little Wonder $49.12
22103 Spring Return RTN Little Wonder $5.76
22104 Handlebar Support w/o Tie Hole Little Wonder $43.64
22113 Set Collar Hydro Control Little Wonder $1.86
22116 Clip Little Wonder $1.04
22121 Seal Little Wonder $38.57
22124 Tab Short For New Handlebars Little Wonder $9.65
22127 Nut 3/4-10 Lock Nut Little Wonder $9.53
22130 Spacer Blade Arm Little Wonder $18.00
22141 Throttle Control Honda Little Wonder $45.85
22142 Shim Transmission Sprocket Little Wonder $1.51
22143 Bushing Large Hydro Handle Little Wonder $1.56
22144 Bushing Small Hydro Handle Little Wonder $1.04
22157 Spacer Stepped Hydro Controls Little Wonder $2.26

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



22158 Washer Plastic Hydro Controls Little Wonder $2.26
22159 Nut 5/16 For Trans Controls Little Wonder $1.51
22167 Kawasaki 13 HP V-Twin Little Wonder $1,792.79
22170 Belt Hydro Drive Little Wonder $32.73
22172 Banded Belt Little Wonder $111.11
22173 FuelLine 1/4 Dia x 1 FT Rubber Little Wonder $12.63
22174 Fuel Clamp Little Wonder $1.04
22184 Set Screw Little Wonder $1.51
22187 Fuel Line Assy Little Wonder $15.09
22190 Shaft Blade Little Wonder $33.97
22192 Frame Main Little Wonder $534.26
22193 Pulley Idler Little Wonder $73.66
22205 Lift Rocker Assembly Little Wonder $72.04
22208 Throttle Cable Kawasaki Little Wonder $26.58
22216 Welded Blade Engage Lever Little Wonder $24.96
22221 Wire Kill Switch Little Wonder $14.30
22230 22033 Wheel with Washer Fluid Little Wonder $80.18
22252 Honda Engine 13 HP w/tank Mantis $3,419.86
8-18 GRIP RING Little Wonder $0.52
48428 COLLAR SET.38 Little Wonder $14.88
90000 Washer Flat Heavy 5/16 Little Wonder $2.14
90001 Washer Flat 5/8 Little Wonder $1.04
90002 Washer Flat 1/2 Little Wonder $1.04
90003 Nut Hex 1/2 Little Wonder $1.04
90004 Washer Lock 1/2 Little Wonder $1.04
90006 Screw Cap 1/2 x 1 1/2 GR 5 Little Wonder $1.04
90007 Screw Cap 1/2 x 1 Gr 5 Little Wonder $1.04
90008 Screw Cap 1/2 x 4 1/4 Gr 5 Little Wonder $2.85
90009 Washer Flat 1/4 Little Wonder $0.38
90010 Nut Hex 1/4 Little Wonder $1.04
90011 Washer Lock 1/4 Little Wonder $1.04
90012 Nut 1/4 Little Wonder $1.04
90013 Bolt Carriage 1/4 x 1 1/2 Little Wonder $1.04
90014 Screw SHCS 1/4 x 1 1/2 gr 5 Little Wonder $1.72
90015 Screw Cap 1/4 x 1 1/4 Gr 5 Little Wonder $1.04
90016 Screw Cap 1/4 x 1 3/8 Gr 5 Little Wonder $1.04
90017 Screw Cap 1/4 x 1 Little Wonder $1.04
90018 Screw Cap 1/4 x 2 Gr 5 Little Wonder $1.04
90019 Screw Cap 1/4 x 3/4 Gr 5 Little Wonder $1.04
90020 Cotter Pin 1/8 x 3/4" Little Wonder $1.04
90021 Cotter Pin 1/8 x 1 Little Wonder $1.04
90024 Cotter Pin 3/16 x 1 1/2 Little Wonder $1.04
90026 Roll Pin 3/16 x 1 Little Wonder $0.75
90027 Screw Set 3/16 x 3/8 Little Wonder $1.43
90028 Washer Flat 3/4 Little Wonder $1.04
90029 Washer Flat 3/8 Little Wonder $1.04
90030 Nut Hex 3/8 Little Wonder $1.04
90031 Nut Hex 3/8 Fine Thread Little Wonder $1.04
90032 Nut Lock 3/8 Little Wonder $1.04
90033 Washer Lock 3/8 Little Wonder $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90034 3/8 Nut Fine Thread Little Wonder $1.04
90035 Nut 3/8 Little Wonder $1.04
90036 Screw Cap 3/8 x 1 1/2 Gr 5 Little Wonder $1.04
90037 Carriage Bolt 3/8 x 1 1/2 Gr 5 Little Wonder $1.04
90038 Screw Cap 3/8 x 1 1/4 Gr 5 Little Wonder $1.04
90039 Screw Cap Self Tap 3/8 x 1 3/4 Little Wonder $0.82
90040 Screw Cap 3/8 x 1 Gr 5 Little Wonder $1.04
90041 Bolt Carriage 3/8 x 2 3/4 Little Wonder $1.04
90042 Screw Cap 3/8 x 3/4 Gr 5 Little Wonder $2.72
90043 Screw Cap 3/8 x 4 1/2 Gr 5 Little Wonder $1.55
90044 Bolt Carriage 5/16 x 1 Little Wonder $1.04
90045 Screw Cap 5/16 x 1 1/2 Little Wonder $1.04
90046 Washer Flat 5/16 USS Little Wonder $1.04
90048 Nut Hex 5/16 Little Wonder $1.04
90049 Nut Lock 5/16 Little Wonder $1.04
90050 Nut Lock Nylon 5/16 Little Wonder $1.04
90052 Washer Lock 5/16 Little Wonder $1.04
90053 Screw Cap 5/16 x 1 1/2 Gr 5 Little Wonder $1.04
90054 Screw Cap 5/16 x 1 Gr 5 Little Wonder $1.04
90057 Screw Cap 5/16 x 3/4 Gr 5 Little Wonder $1.04
90058 Washer Flat 5/8 Little Wonder $0.38
90060 Screw Cap 5/8 x 3 3/4 Gr 5 Little Wonder $4.76
90061 Screw Cap 5/8 x 3 Little Wonder $1.04
90062 Screw Cap 5/16 x 1 1/2 Little Wonder $1.04
90064 Bolt Carriage 5/16 x 1 1/4 Little Wonder $1.04
90066 Cotter Pin 1/8 x 1 Little Wonder $1.04
90067 Washer Flat 5/16 Little Wonder $1.04
90069 Screw Set 3/8 x 3/4 Little Wonder $1.04
90073 Screw 3/8 x 2 1/2 Little Wonder $0.46
90074 Screw Cap 1/2 x 5 1/2 Gr 5 Little Wonder $4.32
90075 7/16 x 1 1/4 Bolt grade 5 Little Wonder $1.04
90076 Lock Washer 7/16 Little Wonder $1.04
90077 Nut Hex 7/16 Little Wonder $1.04
90079 3/32 x 1 Cotter Pin Little Wonder $1.04
90080 3/8 x 2 1/2 Bolt Grade 5 Little Wonder $1.04
90081 1/4 X 1 3/4 Carriage Bolt Little Wonder $1.04
90082 1/2 x 4 Bolt Grade 5 Little Wonder $3.81
90083 Washer 3/8" Fender Little Wonder $1.04
90084 Bolt 5/16-24 x 1 1/2 Grade 5 Little Wonder $1.04
90102 Roll Pin 3/8 x 1 1/2 Little Wonder $2.70
90511 Bolt Flanged 5/16 x 3/4 Little Wonder $1.04
90602 Key 3/16 x 3/16 x 1 3/8 Little Wonder $1.04
90603 Key 5mm x 7/8 Little Wonder $1.68
90605 3/16 x 3/16 x 1" Key Little Wonder $1.04
100132 Pro Clutch Drum Threaded Little Wonder $31.16
100133 Pro Cross Handle Brace Red Little Wonder $44.95
100203 Blades Mantis Edger Mantis $14.69
100506 Blade Washer Small Little Wonder $2.06
200100 Lower Support Mantis $77.00
200101 Short Spacer Mantis $27.00

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



200102 Upper Sup/W/Guide Mantis $111.40
200103 Long Spacer Mantis $29.79
200105 Gears Mantis $35.49
200106 Spring Pin Mantis $1.04
200107 Middle Sup Wheel Mantis $30.49
200108 Handle Mantis $21.14
200109 Plastic Grip Mantis $5.23
200111 Cable Tie Mantis $1.04
200115 Axle Rod Mantis $62.52
200201 Divider Mantis $208.00
200203 Door Panel Mantis $74.71
200204 End Cap for Compost-Twin Mantis $87.41
200211 Drum End Section Mantis $84.25
200220 Breather Cap Mantis $30.00
200222 Mesh Screen Mantis $3.90
200224 Drum Mid-Section Mantis $84.72
200226 Hanger, Sifter Screen Mantis $15.89
200500 Shoulder Bolt 2 Mantis $1.04
200504 Acorn Nut 1/4-20 Mantis $1.04
200505 Pal Nut Mantis $1.04
200506 10 Screw Mantis $1.04
200507 10 Lock Washer Mantis $0.30
200508 10 Flat Washer Mantis $2.74
200509 Keps Nut 10-32 Mantis $1.04
200510 10 Shoulder Screw Mantis $1.04
200511 10 Nylon Insert Nut Mantis $1.04
200512 1/4 Flat Washer Mantis $1.04
200513 Hdwr Bag Internal A Black Cap Mantis $10.01
200517 Hardware Bag for Compost-Twin Mantis $75.73
200600 Label Warning Mantis $1.98
200803 Insert Tubing Box Activator Little Wonder $5.41
200804 Insert Tubing Box Restraint Little Wonder $2.26
201100 Compost Plus  2lb. box Mantis $18.67
201105 Book Guide to Composting Mantis $4.76
300101 Handle Tube Little Wonder $33.80
300102 Handle Support Channel Little Wonder $2.83
300103 Grip Pair Little Wonder $25.57
300105 Grip Front Half Little Wonder $4.53
300106 Trigger Little Wonder $3.71
300107 Trigger Lockout Little Wonder $3.71
300108 Spring Trigger Lockout Little Wonder $5.65
300109 Switch Cap Little Wonder $5.65
300113 Spacer Little Wonder $1.04
300119 Conduit 6 1/2 In Little Wonder $1.04
300120 Switch w/Lead Wires Little Wonder $5.65
300123 Switch w/ Lead Wires Little Wonder $5.56
300189 Blade Only 30 in DE Little Wonder $32.45
300191 Blade Only Inside 42 in SE Little Wonder $131.24
300200 Handle Side Little Wonder $24.93
300201 Grip Side Handle Little Wonder $4.71

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



300304 Frame Bar 16 In DE w/Studs Little Wonder $19.95
300308 Frame Bar 24 In DE w/Studs Little Wonder $58.12
300312 Frame Bar 30 In DE w/Studs Little Wonder $28.05
300314 Frame Bar 42 In SE w/Studs Little Wonder $40.94
300316 Thread Protector Little Wonder $1.04
300503 Screw 10-32 x 1 1/4 PHMS Little Wonder $1.04
300505 Screw 1/4-20 x 2 1/2 HHCS Zinc Little Wonder $1.04
300506 Screw 1/4-28 x 1 5/8 HHCS Little Wonder $1.04
300507 SCREW-MACINE 10-32X5-1/2 HH Little Wonder $1.04
300510 Screw 10-32 x 4 HHCS Little Wonder $5.65
300512 Screw 1/4-20 x 2 1/4 HHCS Little Wonder $1.04
300600 Label Cat 2230S Little Wonder $1.04
300618 Label Warning HT Gas Germany Little Wonder $1.04
300619 Label Warning HT Gas France Little Wonder $1.04
300620 Label Warning HT Gas Spain Little Wonder $1.00
300621 Label Warning Gas Netherlands Little Wonder $0.43
300622 Label Warning HT Gas Italy Little Wonder $1.00
300623 Label Warning HT Gas Denmark Little Wonder $1.04
300625 Label Warning HT Gas Sweden Little Wonder $0.43
300626 Label Warning Mantis Europe Mantis $2.96
300633 Label Warning Jakob M-L Mantis $1.04
300816 Insert Blade Guard 30 In DE Little Wonder $15.12
300818 Insert Gas DE Handle Little Wonder $5.13
300821 Insert Engine HT Gas SE Little Wonder $5.70
300824 Insert Blade Guard 30 In SE Little Wonder $4.24
310100 Gear Housing Assy Little Wonder $58.87
310104 Motor Cap Little Wonder $7.79
310105 Brush Little Wonder $10.94
310106 Frame Bar Support SE Little Wonder $4.32
310108 Motor Hsg Cap and Base Set Little Wonder $30.47
310109 Dowel Pin 3mmX20mm Steel Little Wonder $1.04
310110 Gear Set Eccentric - Cluster Little Wonder $103.38
310111 Gear Eccentric EHT 3 Little Wonder $79.00
310112 Gear Cluster EHT 3 Little Wonder $36.00
310200 Handle Side Set Little Wonder $26.64
310201 Handle Side Left Little Wonder $6.31
310202 Handle Side Right Little Wonder $6.31
310203 Loop Handle Set Little Wonder $30.40
310204 Loop Handle Outside Little Wonder $10.21
310205 Loop Handle Inside Little Wonder $10.21
310206 Guard Little Wonder $10.66
310207 Hand Guard Loop Handle Little Wonder $11.85
310209 Trigger Rear Housing Little Wonder $5.76
310210 Trigger Side Handle Little Wonder $4.05
310215 Conduit Extrusion for EHT Little Wonder $5.76
310217 Grommet Conduit Little Wonder $3.97
310218 Black Loop Handle TriggerStrap Little Wonder $13.49
310219 Loop Handle Trigger Set Little Wonder $14.49
310220 Trigger Loop Handle Top Little Wonder $1.95
310221 Trigger Loop Handles Sides Little Wonder $1.95

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



310222 Set of Triggers and Strap Little Wonder $19.83
310300 Frame Bar Assy 19 In Single Little Wonder $31.78
310305 Frame Bar Assy 24 In Single Little Wonder $32.73
310310 Frame Bar Assy 30 In Single Little Wonder $38.26
310315 Frame Bar Assy 19 In Double Little Wonder $29.07
310320 Frame Bar Assy 24 In Double Little Wonder $35.93
310325 Frame Bar Assy 30 In Double Little Wonder $41.95
310400 Housing Main Set LW Little Wonder $53.49
310401 Housing Main Right LW Little Wonder $25.53
310402 Housing Main Left LW Little Wonder $27.04
310403 Housing Brush Cap Cover Plate Little Wonder $5.76
310404 Housing Loop Handle CoverPlate Little Wonder $3.16
310405 Switch Normally Closed Little Wonder $7.29
310407 Grommet Rubber Little Wonder $1.39
310410 Cord 120V Assy Little Wonder $9.01
310412 Cord 220V Assy Little Wonder $18.27
310414 Cord 240V Assy Little Wonder $25.71
310416 Cord Assy Swiss Little Wonder $14.85
310422 Cord 230V Austrialia Little Wonder $21.09
310433 120V Cord Assembly Canada Little Wonder $15.24
310436 PCB 110V SE Little Wonder $28.16
310437 PCB 110V DE Little Wonder $48.10
310438 PCB 220V SE Little Wonder $77.07
310439 PCB 220V DE Little Wonder $60.69
310440 Set Housing and PCB 120v SE Little Wonder $77.94
310441 Set Housing and PCB 120v DE Little Wonder $69.97
310442 Set Housing and PCB 230v SE Little Wonder $135.54
310443 Set Housing and PCB 230v DE Little Wonder $120.99
310444 Cord 120V Assy UK Little Wonder $26.49
310445 Extention Cord 120v UK Yellow Little Wonder $53.84
310446 Cord 230v Assy Little Wonder $26.49
310447 Extension Cord 230v Orange Little Wonder $26.49
310448 Cord 230v Assy Swiss Little Wonder $26.49
310450 Housing Main Set Mantis Mantis $37.04
310451 Housing Main Right Mantis Mantis $19.51
310500 Screw Plasti-tite #8x3/4" Little Wonder $1.04
310501 SOCKET-FLT HEAD 1/4-28X3/4 SS Little Wonder $1.04
310502 NUT-NYLOC 1/4-28 Little Wonder $1.04
310503 Motor Bolt 8-32 x 2 1/2 Little Wonder $1.04
310504 Plasti-tite Screw # 8x1 In Little Wonder $1.04
310505 Screw 1/4-28 x 1 in large head Little Wonder $1.04
310600 Label Warning Little Wonder $0.43
310601 Label WARNING Read Manual Mantis $1.04
310802 Insert for 24 In EHT Little Wonder $21.81
310803 Insert for 30 In EHT Little Wonder $22.24
310806 Insert for 19 In EHT Little Wonder $23.99
310900 Magnet Assy 220v Little Wonder $55.62
310901 Armature 120v Little Wonder $102.91
310902 Armature 220v Little Wonder $104.92
310903 Magnet Assy for 120V Little Wonder $57.33

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



310905 Motor Assy 120V Little Wonder $192.07
310910 Motor Assy 220V Little Wonder $206.87
310912 Field Assy 220V Tall Little Wonder $148.35
310931 Armature 110V Tall Little Wonder $140.35
310932 Field 110V Tall Little Wonder $87.30
310942 Field 110V Short Little Wonder $65.48
320000 Gear Housing Assy Little Wonder $154.36
320004 Modified Pinion Gear Little Wonder $61.48
320005 Modified Eccentric Gear Little Wonder $37.66
320100 Gasket Little Wonder $2.42
320101 Cover Plate Little Wonder $3.61
320300 Frame Bar 19" DE w/Studs Little Wonder $23.14
320302 Frame Bar 24" DE w/Studs Little Wonder $23.84
320403 Shock Absorber Little Wonder $1.04
320404 Loop Handle w/Guard Little Wonder $30.98
320501 Bolt, 10-32 x 2 3/7 Little Wonder $1.04
320502 Screw, 8-32 x 5/8 Phillips Little Wonder $1.04
320802 Insert Engine Little Wonder $7.56
320803 Insert Blade Little Wonder $8.09
320900 Eng DE Gas HT SV-4B(H2)1E Little Wonder $339.74
330204 Harness Pipe Adaptor Little Wonder $15.12
330210 Trigger Lockout Little Wonder $5.76
330211 Trigger Little Wonder $19.66
330213 Housing Trigger Right Little Wonder $15.12
330214 Housing Trigger Left Little Wonder $15.12
330215 1500 mm Drive Shaft Little Wonder $55.06
330216 1500 mm Pipe Little Wonder $78.68
330409 Gear Shaft Little Wonder $127.16
330421 Stay Bar - OBSOLETE Little Wonder $6.05
330454 Blade Cover 20" Little Wonder $12.46
330503 Fastener Set Trigger Assy Little Wonder $7.56
330506 Retaining Ring Bearing 6000DDU Little Wonder $1.04
330512 Retaining Ring Bearing 608DD Little Wonder $1.04
330519 Bolt for Loop Handle Little Wonder $1.82
330520 Nut for Loop Handle Little Wonder $1.82
330521 Washer for Loop Handle Little Wonder $1.82
330601 Label Throttle Control ERHT Little Wonder $0.46
331123 Snap Ring Large Pruner Mantis $1.04
331137 Gear Case Assy Edger Mantis $88.69
331142 Ring Retaining Edger M Little Wonder $0.70
331160 Guard Witch Clamp Assy Edger Mantis $24.31
331176 Sleeve Edger Mantis $1.04
331180 Label,Safety,Edge Trimmer Attc Mantis $1.04
331182 Outer Shaft 24 Dia x623MM Edge Mantis $17.66
331261 Rotor Power Head Little Wonder $56.46
331300 Stator 230v Little Wonder $77.37
331301 Rotor 230v Little Wonder $113.08
331303 Inductance Little Wonder $1.22
331304 Capacitor Little Wonder $3.59
331305 Joint Ring Little Wonder $0.71

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



331309 Shaft Edger Little Wonder $15.12
331310 Nut M8-L Mounting Little Wonder $0.71
400010 Gas Tiller Trans w/drive shaft Mantis $158.74
400136 Rubber Washer .12 Thick Mantis $1.04
400137 Rubber Washer .04 Thick Mantis $1.04
400142 Honda 25cc Foreign Eng w clutc Mantis $716.52
400217 Trigger Black Mantis $1.04
400233 Throttle Cable 22cc Mantis $12.11
400258 2005 Cult Handle Set Upper onl Little Wonder $60.51
400260 Handle Assy RH Red Max Little Wonder $112.27
400261 Handle Assy Right 2 Cycle Mantis $49.94
400263 Handle Assy LH 2010 Mantis $20.27
400299 Spark Plug BPMR-8Y Mantis $9.77
400300 Grease Fitting Mantis $1.04
400301 Trans housing w/grease fitting Mantis $52.31
400302 Trans Assy XP Mantis Mantis $237.59
400305 Tiller Brace Assy XP Mantis $31.59
400306 Handle Brace XP Tiller Mantis $15.23
400307 Adaptor Engine XP Mantis $28.67
400308 Clutch Drum XP Mantis $64.16
400310 Throttle Stop Honda 35cc Little Wonder $1.61
400311 Spacer XP Tines Mantis $2.74
400313 Dust Cap for Grease Fitting Mantis $1.04
400315 Carry Handle Tiller Mantis $5.76
400316 Hub Tiller XP Mantis $10.26
400317 Left flat tine no P/N Mantis $9.97
400318 XP Tine Pin Assy Mantis $9.97
400319 Tine Shaft for P/N 400318 Mantis $9.97
400320 Plate for P/N 400318 Mantis $9.97
400321 Hub Shaft for P/N 400318 Mantis $9.97
400322 Tine Fork XP Mantis $33.54
400323 Left Curved tine 6 hub holes Mantis $10.26
400324 Right Curved tine 6 hub holes Mantis $10.26
400325 Left Flat tine 6 hub holes Mantis $10.26
400326 Right Flat tine 6 hub holes Mantis $10.26
400327 Double Curve Tine Assy Left XP Mantis $56.36
400328 Double Curv Tine Assy Right XP Mantis $56.36
400329 Curved Tine/Fork Assy Left XP Mantis $100.85
400330 Curved Tine/Fork Assy right XP Mantis $100.85
400334 Double Flat Tine Assy Left XP Mantis $54.72
400335 Double Flat Tine Assy Right XP Mantis $54.72
400337 Flat Tine/Fork Assy Left XP Mantis $100.85
400338 Flat Tine/Fork Assy Right XP Mantis $100.85
400352 Handle Assy Right Subaru Little Wonder $49.28
400401 Tiller Switch Assy Mantis $17.38
400500 Rivet 5/16 X 11/16 Flat Head Mantis $1.04
400501 Rivet 5/16 X 3/4 Flat Head Mantis $1.04
400502 Rivet 5/16 X 13/16 Flat Head Mantis $1.04
400503 Bolt Carriage 5/16-18x.62 Mantis $1.04
400504 Nut For Switch P/N 479 Mantis $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



400505 Washer For Switch P/N 479 Mantis $1.04
400508 Hardware Bag Cult Fold Down Mantis $6.67
400509 Bolt Carriage,1/4-20x1.75,zinc Mantis $1.04
400510 Knob 3 Prong Mantis $5.76
400511 Screw M6x1x12MM Serr Flange HD Mantis $1.04
400512 5x.8x13mm Type F Hex Flange HD Mantis $1.04
400515 Washer 1/4 x 41/64 SAE Mantis $1.04
400516 Bolt 1/4-20 x 1/2 w/patch Mantis $1.04
400518 Bolt M6 x 1 x 25mm Serr Flg Hd Mantis $1.04
400519 Nut Jam 1/4-28 Hex Little Wonder $1.04
400520 Washer Lock Internal 1/4 Little Wonder $1.04
400521 Washer Flat #6 Little Wonder $0.71
400522 Nut Nylock #6-32 Little Wonder $0.71
400523 Knob Straight Tiller FDH Mantis $4.32
400524 Retaining Ring Internal Little Wonder $1.61
400529 Bolt M6 x 1 x 35mm Serr Flg Hd Little Wonder $1.04
400532 Screw 1/4-20 x 3 1/2 Hex Hd Mantis $1.04
400609 Label Fender Warning H/RM Mantis $3.97
400620 Label for Brace Gas Tiller Mantis $1.04
400621 Label for Brace Elec Tiller Mantis $2.85
400629 Label Spark Arrest CA Mantis $1.55
400630 Label fendor 2 cyc w/spark Mantis $2.83
400631 Label fender 4 cyc w/spark Mantis $1.20
400632 Label Warning Carbon Monoxide Mantis $1.21
400633 Label Brace Front XP Little Wonder $5.76
400634 Label Brace Rear XP Mantis $2.52
400635 Label XP Tine Warning Mantis $1.04
400638 Label Domed XP Brace Front Mantis $7.14
410100 Plate Thatcher Wheel Side Mantis $4.76
410102 Plate Thatcher Left Assy Mantis $14.53
410103 Plate Thatcher Right Assy Mantis $14.53
410107 Thatcher Bank Assy Left 3 Row Mantis $83.29
410108 Thatcher Bank Assy Right 3 Row Mantis $83.29
410110 Top Bracket Clamp Kickstand Mantis $5.76
410112 Spring Mantis $1.04
410113 Hardware Bag Kick Stand Mantis $7.37
410132 Stake Assembly Mantis $31.78
410137 Wrench Spark Plug Honda Little Wonder $14.30
410138 Spark Plug Honda 22/31cc Mantis $10.74
410141 Bracket Wall Mounting LH (a) Mantis $15.14
410142 Bracket Wall Mounting RH (b) Mantis $15.14
410143 Hook Single 75mm (c) Mantis $4.55
410144 Hook Double 100mm (d) Mantis $4.40
410145 Hook Straight 1 1/2 In (e) Mantis $4.55
410146 Hook J Storage Rack (f) Mantis $4.55
410157 Wheel 6 Cu ft Load Dumper Mantis $47.32
410158 Kickstand Leg Assy Mantis $19.86
410165 Fender extention XP Mantis $50.46
410166 Fender Clamp XP Mantis $40.37
410167 Fender ext kit for XP Dethatch Mantis $83.91

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



410519 Nut Locking 10-24 (h) Mantis $1.04
410520 Screw Self Tap #12 x 38mm (i) Mantis $1.04
410524 Washer 20mm OD 9.7mm ID Mantis $1.04
410525 Cotter Pin Kickstand Mantis $1.04
410526 Recoil hardware kit Mantis $1.72
410527 Hardware bag XP fender ext Mantis $2.58
410825 PDQ Tray HIK Mantis $3.51
410829 Cylinder spacer Mantis $1.04
420107 Plate Motor Mounting Mantis $24.97
420110 Spring Trigger Mantis $4.91
420113 Brace Handle Black Mantis $31.64
420115 Cord Assy 230v Europe Mantis $26.04
420121 Cover Switch Button Little Wonder $1.04
420123 PC Board Assy 120v Mantis $98.21
420124 PC Board Assy 230v Mantis $58.17
420127 Cord Motor Power 120v Mantis $16.51
420128 Circuit Breaker 120V 7amp Mantis $25.87
420129 Wire for Circuit Breaker Mantis $2.07
420131 Housing Set Left & Right 120v Mantis $36.55
420132 Housing, Left Mantis $18.58
420133 Housing Right 120v w/circuit Little Wonder $21.18
420134 Housing, Bottom Mantis $22.92
420137 Cord, Motor Power 230v Mantis $22.88
420138 Circuit Breaker 220v 3.5Amp Mantis $47.67
420143 Housing Right w/o CB hole Mantis $21.59
420144 Housing Right 120v w/CB Mantis $33.55
420145 Housing Right 230v w/CB Mantis $58.74
420150 Cover Plate Elec. Tiller Trans Mantis $3.15
420151 Motor Mounting Plate 04 Little Wonder $23.07
420200 Handle Right Side Set Mantis $39.07
420203 Trigger Set Mantis $21.44
420204 Trigger Mantis $1.28
420205 Trigger Lock Mantis $1.28
420206 Cord Assy 120v Mantis $9.43
420207 Handle Left Side Set Mantis $36.00
420213 Handle Upper Mantis $9.82
420214 Handle Lower Mantis $13.91
420222 Coupler Shock Absorber Mantis $4.72
420223 Coupler Housing Mantis $21.77
420224 Coupler Driver Mantis $2.18
420231 Handle Up Assy w/Trigger 120v Mantis $111.25
420232 Upper Handle Assy Left Mantis $33.04
420233 Handle Up Assy w/trigger 230v Mantis $139.58
420236 Handle Right Side Set Ver 2 Little Wonder $34.79
420239 Power Cord 120v Ver 2 Little Wonder $8.72
420240 Power Cord 230v Ver 2 Little Wonder $31.70
420241 PC Board 120v CSA Little Wonder $57.49
420242 PC Board 230v Ver 2 Little Wonder $54.76
420243 Housing Upper Set Ver 2 Little Wonder $30.26
420246 HSG Lower 04 Little Wonder $21.18

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



420247 Circuit Breaker 120v 04 Little Wonder $23.89
420248 Cord Motor Power 120v Ver 2 Little Wonder $16.33
420249 Cord Motor Power 230v Ver 2 Little Wonder $20.75
420252 Cable Clamp Elec Tiller Little Wonder $4.76
420256 Cord, Motor Power 230v Little Wonder $21.78
420257 Cord Motor Power 120v Little Wonder $15.24
420258 Wire for Circuit Breaker 230v Little Wonder $2.72
420400 Cord 5 Conductor Assy Mantis $8.89
420401 Cord Only 5 Conductor Mantis $8.89
420402 Grip Rt Side Set 5 Conductor Mantis $33.94
420403 Grip Rt Side - Rt Half 5 Cond Mantis $16.90
420404 Grip Rt Side - Lft Half 5 Cond Mantis $16.90
420406 Housing Right 120v w/CB Mantis $21.59
420408 Cable Clamp ET 5 Cond Cord Mantis $4.63
420409 Bracket L Mantis $246.91
420410 Housing Right w/CB hole Mantis $22.24
420411 Cord w/plug CSA Mantis $8.89
420412 Handle Up Assy w/Trig 120v CSA Mantis $108.00
420413 Insulation Sheet Formex GX10 Mantis $8.89
420414 CSA PC Board w/ L Bracket Mantis $8.89
420415 SP 1000 Insulation Mantis $8.89
420416 Insulator SIL PAD 400 Mantis $8.89
420417 Plastic Spacer Mantis $9.15
420418 Screw 4-40 UNC x 100 deg CS Mantis $8.89
420419 Sleeving .25 ID Mantis $8.89
420420 Clamp PCB CSA Mantis $8.89
420421 Wire for Circuit Breaker CSA Mantis $1.84
420422 Sleeving .133 ID 5.25" Mantis $8.89
420423 Ground Strap Mantis $4.53
420424 Washer Star Int/Ext #10 Mantis $4.53
420425 Washer Star Int/Ext 1/4 Mantis $4.53
420426 Ground Jumper Tube-Pig Tail Mantis $4.53
420427 Upper right handle w/grd hole Mantis $4.53
420428 Bell Crimp Connector Mantis $4.53
420429 Screw Grounding Mantis $4.53
420430 Richco IEC-TO220-18 Clamp Mantis $8.89
420511 Screw, 1/4-20 x 1/2 Socket HD Mantis $1.04
420512 Screw, 10-32 x 1/2 6 Lobe T-20 Mantis $1.04
420513 Screw, 8-32 x 7/8 6 Lobe T-20 Mantis $1.04
420514 Nut, 8-32 Hex Mantis $1.04
420515 Lock Washer Internal Star CB Little Wonder $1.04
420600 Label Fender Warning Elec Mantis $1.04
420602 Label Elec Tiller Brace Blank Mantis $2.06
420606 Label Fender Warning Elec CSA Mantis $1.04
420607 Label CSA Grounding Mantis $1.04
420900 Motor 120v Electric PM Mantis $261.94
420905 Motor 120v Electric PM w/plate Mantis $242.07
420906 Motor 120v CSA w/mt Plate&PCB Mantis $246.91
420907 Motor 120v w/mounting plate Mantis $246.91
420910 Motor Elec 230v w/Ferrite Core Mantis $299.73

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



420915 Motor Elec 230v PM w/plate Mantis $285.29
430003 Upper Right Handle Assy 2 cycl Mantis $74.24
430004 Upper Right Handle Assy 4 cycl Mantis $74.24
430006 Upper Left handle Assy Mantis $29.68
430022 Bumper Tube Left Mantis $7.41
430023 Bumper Tube Right Mantis $7.41
430024 Carry Handle Mantis $7.18
430025 Bumper\Carry Handle Grip Mantis $1.80
430035 Elec Tiller Brace Assy Mantis $5.89
430037 Hardware Bag Kick Stand 2 Mantis $7.41
430038 Knob Height Adjust Mantis $5.62
430039 Bolt Carriage 1/4-20 x 2.25 Mantis $1.04
430042 Jumper Wire Echo Mantis $1.04
430043 Jumper Wire Honda Mantis $1.04
430044 Hardware Bag Cult Mantis $22.25
430045 Bolt wiz Flange 1/4-20 x 1 1/4 Mantis $12.35
430048 Bolt Curved Head Mantis $1.04
430049 Carry handle w/grip Mantis $20.29
430050 Lower handle Left w/plug Mantis $14.85
430051 Lower handle Right w/plug Mantis $14.85
430052 Middle handle Left w/plug Mantis $7.41
430053 Middle handle Right w/plug Mantis $7.41
430056 Label Brace Front Mantis Dome Mantis $6.08
430057 Label Brace Rear Warning Mantis $1.04
430058 Label Mantis Logo silver edge Mantis $1.04
430060 Upper Rt Handle Assy 4c EU Mantis $72.07
430063 Handle Brace non adjust Mantis $14.41
430063.40 Handle Brace non adjust Mantis $13.71
430066 Label Brace Front Mantis Mantis $6.08
430067 Lower handle w/plug Mantis $13.98
430068 Hardware Bag XP 7990 Mantis $15.55
430069 Upper Rt Handle 2 cy Hybrid Mantis $74.25
430070 Upper Rt Handle 4 cy Hybrid Mantis $72.07
430071 Upper Left handle Assy Hybrid Mantis $28.82
430073 XP Deluxe Brace Assy Mantis $22.25
430081 HARDWARE BAG,TIL 7920,7924,794 Mantis $8.46
430082 Lower Handle w/plug tiller hyb Mantis $11.81
430084 Gas Tiller Brace Ass 7920,7940 (use 430163) Mantis $21.59
430085 CROSS BRACE ASSY, 7990 XP Mantis $26.50
430142 Sifter Screen, Composter,GRN Mantis $81.64
430147 Label Brace Front, Tiller Mantis $1.82
430160 Upper Rt Handle 7228 Mantis $24.71
430161 Upper Left Handle, Lowe's Mantis $18.31
430163 Gas Tiller Brace Assy Mantis $64.55
430168 Upper RT Handle, 7268 Mantis $31.02
430177 Hardware Bag, Original CT Mantis $20.12
430178 Hardware Pack, Original CT Mantis $43.68
430182 HARDWARE BAG/PLASTIC PARTS CCT Mantis $20.88
430191 CCT HARDWARE BAG/PKG PER STEPS Mantis $33.60
430192 HARDWARE BAG,PKG PER STEPS BPC Mantis $30.01

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



430205 Compost Success Kit Mantis $89.13
430207 FENDER SP 7248,7268,7940,7945 Mantis $15.01
430208 FENDER SP 7920,7924,7228 Mantis $16.68
430209 FENDER XP SP 7990, 7566 Mantis $43.59
430225 LABEL WARN PROP 65, FEND 2 CYC Mantis $2.74
430226 LABEL WARN PROP 65, FEND 4 CYC Mantis $1.04
430227 LABEL WARN PROP 65, FEND ELECT Mantis $2.74
430228 Label WARN, PROP. 65 FEND NAR Mantis $2.74
430229 Label WARN, PROP. 65 VINYL 1x4 Mantis $2.74
430230 LABEL WARN W/PROP 65, FEND WID Mantis $2.74
430231 Label WARN, PROP. 65 PAPER 1X4 Mantis $2.74
430802 Bubble Bag 6" x 15" Mantis $1.04
500201 Cam/bearing Kit Mantis $87.41
500202 Pump Head Assy Mantis $253.09
500203 Pump Service Kit Mantis $160.37
500207 Viton Check Value Kit Mantis $66.65
510204 Capacitor 300vac Little Wonder $30.67
510205 Capacitor 125vac Little Wonder $39.49
510525 Hardware Bag Swift Split Mantis $37.12
510600 Label Swift Split Mantis $1.49
510601 Label Warning Swift Split Mantis $2.10
510900 Motor 120 v Little Wonder $348.78
520220 DRAIN PLUG, M10 X 8MM THREAD Mantis $2.68
600025.00 Liner Kit HPV Little Wonder $112.33
600100 NOZZLE INTAKE LV Little Wonder $141.04
600101 COLLECTOR DISCHARGE LV Little Wonder $276.64
600102 HOSE-NOZZLE 7" Little Wonder $80.88
600103 THROTTLE CABLE CONTROL ASSEM. Little Wonder $31.93
600105 Debris Bag and Strap Little Wonder $242.04
600114 FAN ASSY LV 6 HP Little Wonder $476.72
600121 Frame Assy LV Little Wonder $194.78
600130 HANDLE-LAWN VAC Little Wonder $75.60
600130.10 HANDLE-LAWN VAC Little Wonder $75.60
600132 Nozzle Linkage Bracket Little Wonder $59.61
600133 ASSY- NOZZLE CLAMP PLATE Little Wonder $36.00
600133.17 NOZZLE CLAMP PLATE ASSEMBLY Little Wonder $31.70
600133.7 ASSY-NOZZLE CLAMP PLATE Little Wonder $34.31
600135 Axle Little Wonder $31.93
600136 Spacer for Front Wheel Little Wonder $5.76
600137 SPACER-.64 X .81 X .86 Little Wonder $3.28
600138 FLANGE ANGLE-DISCHARGE Little Wonder $17.02
600138.17 FLANGE ANGLE-DISCHARGE Little Wonder $17.88
600138.7 FLANGE ANGLE-DISCHARGE Little Wonder $18.42
600142 FLANGE CLAMP PLATE ASSEM Little Wonder $21.18
600142.7 FLANGE CLAMP PLATE ASSY Little Wonder $29.53
600151 Axle Linkage Assembly Little Wonder $65.96
600152 KNOB Little Wonder $7.14
600153 GRIP-HANDLE, LAWN VAC Little Wonder $8.60
600161 HOOK STRIP-FOR COLLECTOR Little Wonder $5.76
600162 KNOB-NOZZLE CONTROL CABLE Little Wonder $5.76

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



600164 GUARD-SIDE, HPV NOZZLE Little Wonder $29.60
600167 HOSE-7" DIA X 12' LV Little Wonder $401.44
600168 NOZZLE-INTAKE HOSE LV Little Wonder $90.12
600169.17 HANDLE-HOSE NOZZLE Little Wonder $136.00
600173 BAG-LV NOZZLE Little Wonder $1.87
600175 LINER-LV 4 PLY CONVEYOR BELT Little Wonder $106.91
600176 CLAMP-BAND, HPV DEBRIS BAG Little Wonder $52.39
600177 BAG-DEBRIS W/O BAND INSIDE Little Wonder $177.30
600180.17 DECK-LAWN VAC Little Wonder $345.48
600182.17 BRACKET-FRONT WHEELS Little Wonder $128.08
600183.17 BRACKET-NOZZLE Little Wonder $106.00
600184.17 HANDLE MOUNT Little Wonder $199.80
600186 Housing LV w/o holes Ver 2 Little Wonder $278.53
600187.10 HOUSING-LV, W/HOLES VER. 2 Little Wonder $211.81
600187.10 HOUSING-LV, W/HOLES VER. 2 Little Wonder $211.81
600192 AXLE-REAR, LV VER. 2 Little Wonder $15.11
600194 Pulley Engine Little Wonder $75.73
600195 Wheel Pneu Offset 12" Drive Little Wonder $72.37
600196 STRAP-BAG SEAL Little Wonder $45.92
600197 INSERT-BAG, FELT LAWN VAC Little Wonder $115.83
600198 PLATE-FRONT, LV VER. 2 Little Wonder $85.80
600199 Deck LV Ver 2 for Trans Little Wonder $149.52
600203 Bracket Tension LV Tran Little Wonder $28.23
600204 Bracket Mount Tension LV Tran Little Wonder $60.58
600206 Bell Crank Weld Handle LV Tran Little Wonder $47.67
600209 Rod Control Lower LV Tran Little Wonder $9.53
600210 Rod Control Upper LV Tran Little Wonder $9.53
600211 Handle Weld Control LV Tran Little Wonder $32.42
600215 Cruise Control Bail,LV Tran Little Wonder $49.66
600219 Strap Torque LV Tran Little Wonder $13.55
600220 Lever Disconnect LV Tran Little Wonder $19.06
600231 Bell Crank Weldment Deck Little Wonder $34.43
600238 Key Engine Pulley LV Tran Little Wonder $1.80
600239 Throttle LV w/Trans Little Wonder $20.96
600241 Bushing 3/8"IDx1/2"ODx3/8"LGLV Little Wonder $1.68
600242 Bracket Bell Crank Handle LV Little Wonder $22.64
600244 Bracket Bellcrank Deck LV Tran Little Wonder $14.81
600246 Bushing 3/8"IDx1/2"ODx1/4"LGLV Little Wonder $2.44
600249 Stand Off Assy Engine Little Wonder $9.16
600252 Spring Hanger LV w/trans Little Wonder $5.56
600253 Spring Idler Pulley LV w/trans Little Wonder $4.32
600256 Spacer Bellcrank Brk LVw/trans Little Wonder $5.23
600257 Weight Disc Little Wonder $40.37
600258 Collar 5/8" Little Wonder $4.43
600259 Bushing Actuator Little Wonder $6.35
600260 Spring Return Control Little Wonder $9.82
600262 Spacer Bail Handle Little Wonder $1.56
600263 Spacer Control Hanger Little Wonder $1.74
600264 Idler Bracket Little Wonder $48.23
600266 Bellcrank Link Weldment Little Wonder $43.23

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



600269 OiliteBushg3/4idx1 1/4odx1/16t Little Wonder $2.29
600270 OiliteFlanged 1/2idx5/8odx1/2h Little Wonder $3.30
600271 Vinyl Cap LV Tran Little Wonder $3.31
600273 Bearing Ball 3/8 x 7/8 LV Tran Little Wonder $21.97
600274 Spacer Idler Pulley LV Tran Little Wonder $9.51
600275 Bolt,Hex 3/8-16 x 2" Gr 5 Little Wonder $1.04
600276.7 WLDMT-YOKE LV SWIVEL WHL Little Wonder $115.80
600283 LINKAGE-FOOT PEDAL Little Wonder $41.56
600284 LINKAGE-STRAIGHT Little Wonder $31.91
600285.17 BRACKET-MOUNTING Little Wonder $55.72
600286 SPRING-SWIVEL WHEEL LV Little Wonder $64.84
600287 BUSHING-FLG .625 X .75 OILITE Little Wonder $6.47
600289 WEIGHT-SWIVEL WHEEL, LV Little Wonder $72.04
600289.7 WEIGHT-SWIVEL WHEEL, LV Little Wonder $70.67
600290 WHEEL-SWIVEL WHEEL LV Little Wonder $174.40
600292 Pulley/Bearing Assembly Little Wonder $44.21
600297 AXLE-FRONT, LV VER. 2 Little Wonder $46.32
600298 AXLE-REAR, LV VER. 2 Little Wonder $50.48
600300 Bearing Pulley Upgrade Kit Little Wonder $236.01
600312 Belt LV SP 3L Belt 2.75ft/belt Little Wonder $107.01
600500 BAG-HARDWARE, LV Little Wonder $12.08
600504 BOLT-CARRIAGE 3/8-16X2-1/4 Little Wonder $1.04
600509 BOLT-BUTTON 1/4-20X2", ZP, GD5 Little Wonder $1.04
600511 Hardware Bag HPV Liner Kit Little Wonder $15.51
600512 Hardware Bag Nozzle Side Guard Little Wonder $6.36
600521 Hardware Bag LV Ver 2 Trans Little Wonder $5.70
600523 WASHER-5/16" DIA. X 3/16" THK Little Wonder $1.04
600526 Bolt,Shoulder.50Diax1.25LG LV Little Wonder $2.41
600536 Bolt 3/8 x 3/8 hex skt shd Little Wonder $1.04
600537 Bolt Hex 1/4-20x3/4G5 Little Wonder $1.04
600540 E Clip Rear Wheel Little Wonder $1.04
600541 Nut Thin Jam 3/8-16 Little Wonder $1.04
600542 Nut Nyloc 3/24 Yellow Zinc Little Wonder $1.04
600545 Bolt Hex 1/4-20x2 1/2 Lg Gr 5 Little Wonder $1.04
600548 Hairpin for1/4"shaft.093DiaWir Little Wonder $1.04
600549 Nut, Acorn 1/4-20 Self Locking Little Wonder $3.15
600550 Nut, Acorn 3/8-24 Self Locking Little Wonder $8.39
600551 Bolt,Shoulder 5/16diax3/8lg Little Wonder $1.26
600552 Bolt, Hex 1/4-20 x 2" LG Little Wonder $1.04
600553 Bolt, Shoulder 5/16 x 1/4 Little Wonder $6.71
600554 Washer 1/4 External Lock Zinc Little Wonder $1.04
600555 Pin Clevis 1/2 x 1 1/2" LG Little Wonder $2.02
600556 Pin Hitch Little Wonder $1.04
600557 Washer, Belville Spring Little Wonder $2.04
600558 Shim,Shoulder Bolt 1/2odx.015t Little Wonder $1.04
600559 Bolt Hex 1/4-20x2 3/4 Gr5 Zinc Little Wonder $1.04
600560 Bolt 1/2-13x3 3/4 Grd5 HH Little Wonder $2.25
600561 Nut Nylock 1/2-13 Little Wonder $1.04
600562 RETAINING RING E 5/8 Little Wonder $1.04
600564 Screw Set 5/16-18x 1" Hex CP Little Wonder $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



600565 Nut.Jam 1/4-20 Zinc Plated Little Wonder $1.04
600566 Shim.312idx.438odx.060thk SS Little Wonder $1.04
600569 Collar 7/8 Little Wonder $23.02
600602 LABEL-LV HOUSING WARNING Little Wonder $9.57
600624 Label ID Mantis by Vesey Little Wonder $1.04
600701 TAG-LV FACT Little Wonder $1.55
720003 Hose and Clamp Kit 12" LH Little Wonder $741.58
720004 Hose and Clamp Kit 14" LH Little Wonder $914.73
720100 Hose Flange Assy Little Wonder $117.88
720105 CLAMP-BRIDGE 10" HOSE Little Wonder $29.21
720107 Hose Band Little Wonder $117.88
720108 Intake Nozzle Assy Painted Little Wonder $425.65
720120 HOSE-10" DIA. X 10' Little Wonder $485.32
720210 Front Plate Assy Little Wonder $289.77
720214 Switch Plate Painted Little Wonder $17.46
720215 HOUSING-LINER LEFT HALF Little Wonder $118.76
720216 HOUSING-LINER RIGHT HALF Little Wonder $193.24
720217 Deflector Assy Truck Loader Little Wonder $44.73
720225 Discharge Chute Assy Little Wonder $458.40
720232 HARNESS- WIRE W/ SWITCH Little Wonder $27.84
720244 Support Angle Painted Little Wonder $19.06
720246 Flapper Painted Little Wonder $44.84
720250 Flange Retainer Plate Painted Little Wonder $23.30
720252 Flange Clamp Plate Painted Little Wonder $67.12
720255 WLDMT-TALON RING 16/18hp Little Wonder $49.12
720257 Flapper Retainer Painted Little Wonder $11.87
720262 RING-CLAMP DISCH 22/27 TL Little Wonder $76.36
720263 Discharge Flapper HD Little Wonder $94.56
720264 NOZZLE-INTAKE PLASTIC 22HP Little Wonder $185.85
720265 NOZZLE-INTAKE PLASTIC 27HP Little Wonder $294.32
720267 HANDLE-INTAKE NOZZLE 22/27HP Little Wonder $367.12
720268 Skid Mount Frame Assy. Little Wonder $832.88
720279 PLUG-TUBE 1-1/4 ROUND Little Wonder $1.04
720280 Boom Column Assy Little Wonder $287.45
720289 PLUG-TUBE 1-1/8 SQUARE Little Wonder $2.18
720290 CHAIN-LOOP ASSY Little Wonder $80.12
720291 BAND-HOSE 12" Little Wonder $80.94
720291.17 BAND-HOSE 12" Little Wonder $77.07
720292 BAND-HOSE 14" Little Wonder $88.89
720293 3/8 x 3.75 LG Carbon Steel Key Little Wonder $1.56
720294 Gas Tank Little Wonder $316.29
720295 Gas Tank Fuel Line Hose Little Wonder $37.28
720296 Gas Tank Cap Little Wonder $15.69
720297 Gas Tank Shut Off Valve Little Wonder $49.27
720298 Gas Tank Hose Clamp 1/4" Little Wonder $1.04
720300 Frame Right Side Assy Little Wonder $261.94
720305 Frame Left Side Assy Little Wonder $343.80
720308 Engine Mount Plate Assy Little Wonder $153.88
720314 Tube Square Boom Assy Little Wonder $74.25
720322 CHAIN LOOP ASSY Little Wonder $29.48

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



720325 GUIDE-STARTER ROPE Little Wonder $23.75
720326 Boom Assy Little Wonder $180.07
720338 The Down Strap Battery Little Wonder $4.22
720339 Cable Battery Red Little Wonder $63.54
720340 Cabl. Battery Black Little Wonder $43.87
720362 WLDMT-TALON RING 22/27hp Little Wonder $72.26
720388 CLAMP-HOSE 12IN RIGHT HAND Little Wonder $36.97
720390 CLAMP-HOSE 14IN RIGHT HAND Little Wonder $36.97
720392 Inlet Assy 22 HP Little Wonder $290.47
720393 Inlet Assy 27 HP Little Wonder $294.99
720400 Retaining Plate Hose Flg 22 HP Little Wonder $87.82
720401 Retaining Plate Hose Flg 27 HP Little Wonder $89.01
720402 Inlet Flapper 22 HP Little Wonder $69.24
720403 Inlet Flapper 27 HP Little Wonder $113.96
720404 Hose Flange Assy 22 HP Little Wonder $195.17
720405 Hose Flange Assy 27 HP Little Wonder $209.63
720406 Boom Arm Assy Little Wonder $368.92
720408 Switch Wire Assy Little Wonder $29.40
720412 Discharge Clamp Ring Little Wonder $137.52
720413 Split Discharge Clamp Ring Little Wonder $135.89
720416 LINER-4PLY CONVEYOR BELT Little Wonder $190.77
720417 Clamp Transition Tube Little Wonder $26.38
720418 Chain Hook Assy Little Wonder $16.84
720419 ADAPTER-DISC 6.5 SQ X 7.0 RD Little Wonder $94.89
720420 CLAMP-7"&8" DIA. HOSE Little Wonder $26.20
720421 HOSE-DISCHARGE 7" X 6.0 FT Little Wonder $330.35
720422 Discharge Extension Assy Little Wonder $234.28
720428 THRUST WASHER-1.00X2.00X.125 Little Wonder $1.04
720430 Hose Discharge 7" X 12" Little Wonder $631.11
720436 HOSE-12-1/4 DIA X 6 FT LG Little Wonder $430.08
720437 LYNCH PIN W/LANYARD Little Wonder $6.36
720440 SPACER-1.44 X 3.00 X .63 Little Wonder $58.44
720459 Hsg Assy 22/27 TL Ver 2 Little Wonder $2,410.12
720461 Transition Tube Assy Steel Little Wonder $1,327.89
720465 HOLD DOWN-BATTERY Little Wonder $18.27
720466 Key 3/8 x 3 Little Wonder $7.95
720477 Fuel Line 30"x1/4" SAE30R7 Little Wonder $16.52
720478 Fuel Line 5"x1/4" SAE30R7 Little Wonder $2.83
720479 Valve Gasket Fuel Line Little Wonder $9.22
720481 Valve Fuel Line Little Wonder $21.69
720483 VALVE-OIL DRAIN Little Wonder $24.15
720484 Bulkhead Fitting w/Screen Little Wonder $14.41
720485 HOSE-12 IN DIA X 10 FT LG Little Wonder $643.88
720486 HOSE-14 IN DIA X 10 FT LG Little Wonder $795.03
720487 QUICK CLIP-CARABINER Little Wonder $10.17
720488 ANGLE-HSG GUARD LINER Little Wonder $22.04
720489 SEAL-DISCHARGE 22/27 HP 14.25" Little Wonder $6.96
720490 FTG-ELL 1/4-18 NPT x 1/4 BARB Little Wonder $24.97
720492 Gas Tank Kit Little Wonder $188.75
720497 CLAMP-HOSE 12IN LEFT HAND Little Wonder $34.86

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



720498 CLAMP-HOSE 14IN LEFT HAND Little Wonder $35.89
720502 BOLT-HEX 7/16-20 X 2-1/4 GRD 8 Little Wonder $15.71
720503 Washer 3/8  1.36 OD x .083 Thk Little Wonder $1.04
720505 Bolt 3/8-16x2-1/4 Lg Little Wonder $1.04
720506 Screw 5/16 x 1 1/2 Lag Little Wonder $1.04
720507 Knob Female Threads 3/8-16 Little Wonder $6.86
720508 Bolt Lag 3/8 x 1" Little Wonder $1.04
720510 Washer 1/4 USS Flat Little Wonder $1.04
720511 Washer 5/16 USS Little Wonder $1.04
720516 Washer 3/8 USS Flat Little Wonder $1.04
720517 BLT-HEX HD 5/16-18 X 4.0 Little Wonder $2.18
720518 Nut Nylock Hex 3/8-16 Little Wonder $1.04
720522 Bent Arm Pin Little Wonder $7.79
720523 Cotter Pin for Swing Away Little Wonder $1.04
720524 Quick Link Little Wonder $6.36
720531 BAG-HARDWARE TRK LDR Little Wonder $14.30
720532 Key, TruckLoader Little Wonder $5.76
720533 CHAIN-BOOM Little Wonder $13.75
720534 BLT-HEX HD 7/16-14 X 4.0 Little Wonder $1.98
720535 Nut Nylock 7/16-14 Little Wonder $1.04
720536 Washer Flat 7/16 USS Little Wonder $1.04
720537 Hardware Bag Exhaust Trans Little Wonder $1.65
720538 Hardware Bag Exhaust Ext Little Wonder $6.36
720539 Hardware Bag Liner Kit Little Wonder $9.83
720540 Bolt Hex 5/16-18x1" Grade 5 Little Wonder $2.74
720541 Bolt 1-8 x 9 1/2 Grade 8 Little Wonder $45.30
720543 Nut 1-8 Grade C Little Wonder $13.52
720544 Hitch Pin 3/4" x 7" Little Wonder $42.92
720545 Bolt 3 1/4-10 x 5 Grade 8 Little Wonder $13.88
720546 Nut 3 1/4-10 Grade G Little Wonder $7.14
720547 Bolt 1/2-13 x 3 Grade 8 Little Wonder $4.76
720548 Nut 1/2-13 Grade G Little Wonder $1.74
720549 Mounting Tube Little Wonder $588.09
720551 Rotation Channel Little Wonder $437.10
720553 Mounting Channel Little Wonder $140.70
720557 Bolt 1/2-13 x 1 1/2 Grade 8 Little Wonder $1.39
720558 Hardware Bag Variable SwingAwa Little Wonder $81.04
720559 Linch Pin Lock Little Wonder $6.05
720560 Nut Locking Wiz 3/4-10 Little Wonder $7.14
720561 Bolt 3/4-10 x 1-1/2" Grd 8 Little Wonder $5.56
720562 Nut Locking Serr Flange 3/8-16 Little Wonder $1.04
720564 Bolt Carriage 3/8-16 x 1 Little Wonder $1.04
720565 Bolt Hex 3/8-16 x 1 Little Wonder $1.06
720566 Bolt Carruage 3/8-16 x 1-1/4 Little Wonder $1.04
720567 Bolt Hex 3/8-16 x 1-3/4 Little Wonder $1.04
720568 Bolt SrFlg Hd Grd 8 3/8-16 3/4 Little Wonder $1.06
720570 Bolt Carriage 5/16-18 Little Wonder $0.61
720572 Bolt 5/8-18 x 3 Grd 8 Little Wonder $4.32
720573 Bolt Battery Cable Little Wonder $1.04
720574 Nut 1/4-20 Flange Little Wonder $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



720576 Nut Chain Loop Assy Little Wonder $1.72
720577 Ret Ring Internal N5000 Truarc Little Wonder $1.36
720579 Bolt Flange 3/8-16 x 3/4 Little Wonder $1.13
720580 NUT-HEX FLANGE 1.0-8 Little Wonder $13.83
720581 Bolt 3/8-16 x 1 3/4 Grd 5 Little Wonder $1.65
720582 Washer Flat 3/8 SAE Little Wonder $1.04
720583 Nut 3/8-16 Hex Nyl L/N Grd 8 Little Wonder $1.04
720584 Washer 5/16 SAE F/W Little Wonder $1.04
720585 Nut 5/16-18 Nyl L/N Little Wonder $1.04
720586 Nut 5/16-18 Flange Lock Little Wonder $1.04
720587 Bolt 5/16-18 1 1/2 HHCS Grd 8 Little Wonder $1.82
720588 Bolt 5/16-18 x 1 3/4 HHCS Grd8 Little Wonder $1.04
720589 Bolt 5/16-18 x 3/4 HHCS Grd 8 Little Wonder $1.56
720590 Bolt 5/16-18 x 4 HHCS Grd 8 Little Wonder $4.32
720591 Bolt 3/8-16 x 1 1/2 Grade 8 Little Wonder $2.26
720592 BOLT-WLF 5/16-18X1.00 Little Wonder $1.04
720593 Bolt 3/8-16 x 2 1/2 HH Little Wonder $1.04
720594 Nut Wiz 3/8-16 Little Wonder $1.04
720595 Hardware Bag Liner Kit 22/27HP Little Wonder $15.12
720596 BOLT 5/16-18 X 3/4 CARR GR8 Little Wonder $1.04
720597 Bolt 3/8-16 x 2 3/4 HH Gr 8 Little Wonder $2.89
720598 Bolt 3/8-16 x 1 1/4 HH Gr8 Little Wonder $1.04
720599 Bolt 3/4-10x4 HH Gr8 Little Wonder $5.97
720600 LABEL-TRK LDR WARNING HOT Little Wonder $9.62
720601 LABEL-TRK LDR WARNING FAN Little Wonder $6.55
720602 LABEL-TRK LDR WEIGHT LIMIT Little Wonder $6.55
720603 LABEL-TRK LDR THROTTLE CTL Little Wonder $9.53
720605 LABEL-TRK LDR SPEED/WEIGHT Little Wonder $10.32
720606 LABEL-TRK LDR DISCH CHUTE Little Wonder $27.89
720607 LABEL-TRUCKLOADER 16HP LW Little Wonder $36.77
720608 LABEL-TRK LDR TALON RING Little Wonder $25.23
720609 LABEL-CAUTION, THROWN OBJ Little Wonder $9.38
720610 Label Warning A Little Wonder $2.26
720611 Label Warnimg B Little Wonder $2.26
720612 Label Little Wonder Little Wonder $2.26
720613 LABEL-INTAKE GUARD 22/27 HP Little Wonder $27.65
720614 Label Intake Guard 27 HP TL Little Wonder $31.76
720615 LABEL Subaru Recoil Mantis $9.35
720718 Fact Tag 14hp truckloader Mantis $8.50
720803 DIVIDER-FOR TRUCK LDR HOSE Little Wonder $23.58
720804 DIVIDER-FOR NOZZLE Little Wonder $29.09
720808 INSERT-DISCHARGE Other $9.13
720809 BOX-EXHAUST EXTENSION KIT Other $8.46
720819 LID-22/27 TRUCKLOADER Little Wonder $34.79
721100 BM-10 Swing Away Assembly Little Wonder $752.00
721100.7 BM SWING AWAY ASSEMBLY Little Wonder $752.00
721101 BM-3 Base & Rod Assembly Little Wonder $277.45
721102 BM-13 Angle Bracket Little Wonder $209.82
721102.7 ANGLE BRACKET Other $195.91
721103 Chain 1/4"Steel 8 Links LgZinc Little Wonder $24.93

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



721104 SafetySnapPin1/2x3wSingleWireS Little Wonder $23.93
721107 6" Lanyard Rope w/loop+tab Little Wonder $71.52
721117 KEY RING SPLIT Little Wonder $1.04
721200 CHUTE-DISCHARGE Little Wonder $444.40
721201 KIT-DISCHARGE CHUTE ASSY Little Wonder $463.69
721202 LINER-CHUTE ASSY WITH STUDS Little Wonder $104.92
721501 Washer 5/16 x 1 1/4 OD Little Wonder $1.04
721502 Bolt 3/8-16 x 3 HH gd5 Little Wonder $7.95
721503 Washer 3/8 1.25 OD .125 Thick Other $2.88
721504 Bolt Hex 1/2-13x2 1/2Lg Gr8 Little Wonder $7.56
721506 THRUST WASHER-1.25X2.0X.125 Little Wonder $7.63
721507 U-Bolt 3/8-16x3 Zinc Little Wonder $15.12
721508 Bolt Hex 5/8-11x1 1/2LgGr8Zinc Little Wonder $4.53
721509 NutFlange w/Lock 5/8-11 Gr8Zin Little Wonder $1.51
721512 Nut Nykicj 1/2-13 Zinc Little Wonder $1.51
721513 HardwareBag StakebodySwingAway Little Wonder $248.39
721514 Bolt 5/16-18 x 1 1/4 Little Wonder $1.04
721515 Bolt Lag 5/16 x 1 1/2 Little Wonder $1.04
721517 Washer Lock Split M8 Little Wonder $1.04
721518 HardwareBag 14HP SwingAway Mantis $113.45
780113 WASHER  FLAT Other $417.16
811025 Recoil Kit Fast Start Eng Mantis $76.23
811112 Transmission Service Kit Mantis $25.95
811113 2 Cycle Fuel Line Service Kit Mantis $46.28
811123 Service Check 2 cycle Mantis $28.35
811124 Service Check 4 cycle Mantis $27.53
900102 Deflector Assy 11 HP Side Little Wonder $19.67
900300 Handle Blower w/Grips Little Wonder $101.17
900301.10 HANDLE BLOWER UPPER Little Wonder $65.37
900302 Set of 2 pcs of P/N 900303 Little Wonder $24.05
900303 GRIP HANDLE BLOWER BLACK Little Wonder $5.05
900401 Bracket Wheel 11 HP Little Wonder $15.66
900404 WHEEL SLEEVE Little Wonder $14.26
900405 WHEEL SPACER Little Wonder $2.18
900519 Echo Fuel Line Repair Kit BSV Mantis $7.09
910008.7 DECK LEFT 5/6/8/10 Little Wonder $32.29
910010.7 DECK RIGHT 5/6/8/10 Little Wonder $32.29
910020 Housing 8/9 HP White Little Wonder $335.38
910030 Deck 9 HP Right Little Wonder $26.19
910037 Housing 8/9 HP Lesco Little Wonder $302.58
910049 Deck 11 HP Right Little Wonder $24.63
910057 Deck Right 9 Black Little Wonder $32.29
910059 Deck Right 13 Black Little Wonder $46.63
910060 Deck Left 13 Black Little Wonder $39.74
910080 COMMON PARTS-LW BLOWERS Little Wonder $262.58
910101.10 DEFLECTOR 5HP SIDE Little Wonder $14.76
910103 Deflector 5/6 Side Black Little Wonder $15.89
910104 Deflector 5/6 Intrl Black Little Wonder $10.60
910106.10 DEFLECTOR 5HP INTERNAL Little Wonder $12.36
910106.7 DEFLECTOR 5HP INTERNAL Little Wonder $10.09

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



910113.7 DEFLECTOR 8/9 INTRL Little Wonder $10.09
910116 Deflector 8/9 Intrl Black Little Wonder $10.09
910123.10 DEFLECTOR 10/13 HP INTL Little Wonder $12.01
910126 Deflector 10/13 Side Black Little Wonder $17.44
910127 Deflector 10/13 Intrl Black Little Wonder $11.53
910130 SPRING DEFLECTOR Little Wonder $1.04
910131 KNOB Little Wonder $5.76
910132 HANDLE DEFLECTOR Little Wonder $7.28
910134 SPACER-BLOWER HSG, 13 HP Little Wonder $59.20
910206 Axle w/ E clips Little Wonder $45.19
910300 Throttle Cable Little Wonder $25.62
910502 Screw 10-32 x 1" Little Wonder $1.04
910503 BOLT-WLF 5/16-24X3/4 W/PATCH Little Wonder $1.04
910505 Bolt 3/8-24 x 1 3/4 Grd 5 Little Wonder $1.04
910514 Bolt 5/16-18 x 1 1/4 Little Wonder $1.04
910515 Bolt Jack Fan Blower HO Little Wonder $42.55
910517 BOLT-WLF 5/16-24 X 1-3/8 Little Wonder $1.41
910519 Bolt 5/16-18 1 1/8 Little Wonder $1.04
910520 Washer 3/4 Id X 1 1/2 Od X 1/8 Little Wonder $11.81
910521 RING-RETAINING Little Wonder $1.04
910522 BAG-PARTS SWIVEL WHEEL KIT Little Wonder $16.36
910525 HARDWARE BAG INTEK BLOWERS Little Wonder $22.68
910526 Throttle Screw Little Wonder $1.04
910527 WASHER HUB 6  8  10  13 LV Little Wonder $25.60
910528 WASHER HUB 9 Little Wonder $5.76
910609 LABEL WARNING Little Wonder $10.95
910611 LABEL HOUSING 5HP LW Little Wonder $5.91
910614 Label Housing 11 HP LW Little Wonder $4.12
910628 Label Housing 10 HP LW Little Wonder $5.44
910647 LABEL HOUSING 9HP OPTIMAX Little Wonder $61.88
910709 I.S.-SWIVEL WHEEL KIT Little Wonder $4.53
910710 Mantis BSV Book Little Wonder $4.67
911005 5 hp Intake Hose Adaptor Little Wonder $98.33
911130 INTAKE GUARD CLAMP Little Wonder $5.76
911200 Tube Assembly Little Wonder $115.22
911230 HANDLE-INDEX Little Wonder $22.64
911233 SPRING-COMP .43 X .54 X 1.5 Little Wonder $7.12
911235 CLAMP-TUBE 1-3/8 Little Wonder $34.10
911236 Grease Fitting Little Wonder $2.42
911237 BUSHING-OILLITE FL .75 X 1.00 Little Wonder $10.96
920001.10 HOUSING 5 & 6 HP SHO Little Wonder $287.46
920001.26 HOUSING 5 & 6 HP SHO Little Wonder $329.34
920028 Deck Little Wonder $24.93
920503 WASHER-21/64 X 1 X 11 GA Little Wonder $1.84
920532 KEY-3/16 X 3/16 X 1SQ Little Wonder $1.04
920600 LABEL-INTAKE GUARD SHO Little Wonder $5.76
921100 Intake Guard Replacement Kit Little Wonder $159.25
921101.17 INTAKE GUARD ASSY Red Little Wonder $238.95
970382.00 KIT-BLR BLT, KEY & WSHR REPL Little Wonder $57.20
2000760 Label HANDS/ROCKS EC Little Wonder $15.92

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4163163 HARDWARE BAG-EDGERS Little Wonder $6.71
4163171 S-GUARD-BLADE W/LABEL Little Wonder $48.24
4163306 BLT-EYE END 1/4-20 X 1.4 Little Wonder $5.03
4163308 HOOK-FORMED ROD 3/16 X 2.28 Little Wonder $5.76
4163380.10 BRACE-LOWER HANDLE EDGER Little Wonder $28.82
4163424 PLUG-FAN 3/8 X 1.0 Little Wonder $10.61
4163427 PLUG-FAN 7/16 X 1 Little Wonder $19.68
4163448 GUARD-CRACK CLEANER w/label Little Wonder $57.63
4163572 ROD-HEIGHT ADJ LR, HONDA Little Wonder $30.36
4164056.10 EXTENSION-HANDLE EDGER Little Wonder $68.28
4164106 WLDMT-HOSE FLANGE 14HP TL Little Wonder $184.02
4164109 Talon Ring 14hp TL Little Wonder $84.39
4164113 HOSE-INTAKE 8" DIA X 10 FT Little Wonder $328.44
4164116 TUBE-INTAKE NOZZLE, HOSE Little Wonder $138.10
4164145 DRIVER-TALON RING TL 1.0 BORE Little Wonder $30.69
4164178 AXLE-BLOWER 5/8 Little Wonder $47.04
4164185.10 BRACE-BLOWER ENG. Little Wonder $6.59
4164193 LABEL-HOUSING, 6HP LW Little Wonder $15.92
4164194 LABEL-HOUSING, 14HP LW Little Wonder $10.55
4164197 LABEL-HOUSING, 13HP LW Little Wonder $17.38
4164204 WHEEL ASM-4.10/3.50X6 Little Wonder $76.28
4164205 WHEEL ASM-4.10/3.50X4 Little Wonder $76.28
4164206 S-HOUSING, W/LABEL 5&6 HP Little Wonder $215.13
4164218 Fan 14hp Truckloader Little Wonder $371.23
4164255 Intake Handle 14hp TL Little Wonder $212.01
4164357 CHUTE-DISCHARGE 14hp TL Little Wonder $321.50
4164493 Frame 14hp TL Little Wonder $377.37
4164502 LINER-HOUSING 14HP TRUCKLOADER Little Wonder $96.11
4164505 SWITCH-DELTA, NC Little Wonder $17.83
4164588.7 DECK-ENGINE, BLR LG 12 WHEEL Little Wonder $73.48
4164590.10 HANDLE-BLOWER UPPER Little Wonder $69.96
4164591.10 HANDLE-BLOWER LOWER Little Wonder $58.72
4164593.7 DECK-ENGINE SM BLR Little Wonder $133.48
4164607 Liner Discharge Chute 14hp Little Wonder $165.80
4164609 BAND-HOSE 8 In Little Wonder $89.33
4164632 GRIP-1-1/4 X 14 Little Wonder $6.26
4164633.10 WLDMT-HOUSING LG BLR Little Wonder $355.01
4164745.7 BRKT-LEVER MOUNTING Little Wonder $25.88
4164746.10 LEVER-STREAM ADJUST Little Wonder $24.01
4164923 WLDMT-CLAMP BODY Little Wonder $61.20
4165046 BELT-ENGINE DRIVE DISC Little Wonder $18.65
4165047 BELT-V RIBBED Little Wonder $21.75
4165055 GT DIFFERENTIAL D16 Little Wonder $231.90
4165056 SHAFT-DIFFERENTIAL, LONG Little Wonder $53.60
4165057 SHAFT-DIFFERENTIAL, SHORT Little Wonder $33.74
4165060 SPROCKET-WHEEL #43-36 Little Wonder $20.65
4165061 SPROCKET-DRIVE #43-8 Little Wonder $28.35
4165067.7 MOUNT, DRIVE DISK Little Wonder $34.32
4165076.7 PLATE-IDLER ARM,DBL Little Wonder $27.80
4165079 WLDMT-CLUTCH SHAFT Little Wonder $87.29

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4165084.7 PLATE-PIVOT, SPEED CONTROL Little Wonder $29.40
4165086 PLUG-HOLE, GROMMET STYLE Little Wonder $10.29
4165092 SHAFT-INTERMEDIATE Little Wonder $23.79
4165093 SHAFT-HEX Little Wonder $27.03
4165094.7 GUARD-CHAIN, LEFT Little Wonder $63.20
4165095.7 GUARD-CHAIN, RIGHT Little Wonder $30.45
4165097 SHEAVE-ENGINE SP BLOWER Little Wonder $74.05
4165099 PULLEY-V-RIBBED BELT 2.25 Little Wonder $61.13
4165100 PULLEY-V-RIBBED BELT 4.875 Little Wonder $174.30
4165107 SHAFT-HINGE Little Wonder $20.76
4165108 AXLE-BLOWER, SP Little Wonder $33.49
4165111 WHEEL-FRICTION Little Wonder $74.25
4165117 DISC-DRIVE Little Wonder $24.94
4165118 SPACER-DISC DRIVE Little Wonder $7.21
4165119 IDLER-1.875 OD Little Wonder $11.81
4165125.10 SPACER-ENGINE, 3GA Little Wonder $33.00
4165126.10 SPACER-ENGINE, 7GA Little Wonder $27.22
4165139 PLUG-FAN HUB 5/16 X 3/4 Little Wonder $8.38
4165144 SPRING-TORSION, IDLER Little Wonder $7.21
4165149 SPRING-EXTENSION Little Wonder $8.69
4165150 SPRING-TORSION, CLUTCH Little Wonder $7.21
4165153 LABEL-WARNING, TAILGATE KIT Little Wonder $19.60
4165154 CABLE-BLOWER CLUTCH Little Wonder $40.00
4165168 SHEAVE-ENGINE SP BLOWER 18 Little Wonder $40.37
4165169 SPACER-FAN .53 Little Wonder $11.70
4165170 SPACER-FAN 1.24 Little Wonder $25.75
4165178.7 BRKT-10" PNEUMATIC WHEEL Little Wonder $39.56
4165190 CHAIN-#43 ROLLER 27 PITCH Little Wonder $6.39
4165191 CHAIN-#43 ROLLER 47 PITCH Little Wonder $11.38
4165192 LINK-MASTER #43 Little Wonder $2.95
4165218.7 WLDMT-INTAKE GUARD,BLOWER Little Wonder $129.52
4165222 S-HOUSING, 14HP TL Little Wonder $720.85
4165281 SPACER-0.265X0.500X0.155 Little Wonder $3.74
4165282 SPACER-0.265 X 0.563 X 0.830 Little Wonder $7.21
4165476.10 GUARD-BELT Little Wonder $62.98
4165483 IS-DEFLECTOR, 14HP DISC CHUTE Little Wonder $4.16
4165854 WASHER- UHMW PE Little Wonder $1.43
4165855.7 WASHER-ANTIROTATION Little Wonder $10.12
4165895.10 BRACE-LOWER HANDLE Little Wonder $25.02
4165913 Label DEFLECTOR Little Wonder $1.04
4165925 CABLE-VAC NOZZLE Little Wonder $35.64
4165926.10 INTAKE PANEL-CENTER Little Wonder $54.34
4165974 WHEEL ASM 4.10/3.50 x4 OFFSET Little Wonder $68.61
4165975 Label WARNING DANGER BLOWER Little Wonder $2.06
4165977 Label READ MANUAL/SPANISH Little Wonder $2.19
4165987 GRIP-1/4X1X5 Little Wonder $4.32
4165989 LINK-MASTER #2040 Little Wonder $3.59
4166009.17 WLDMT-DEFLECTOR SM BLR Little Wonder $26.21
4166026 LINK-TRUNNION Little Wonder $10.09
4166055 S-ASSY-CABLE VAC NOZZLE Little Wonder $48.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4166095 INSERT-HANDLEBAR, BLOWER Little Wonder $10.82
4166136.7 PLATE-TRUNNION MOUNTING Little Wonder $4.39
4166164.7 BRKT-TRUNNION Little Wonder $13.41
4166175 PIVOT-DEFLECTOR,OUTER Little Wonder $5.76
4166176 PIVOT-DEFLECTOR,INNER Little Wonder $6.42
4166179 HARDWARE BAG BLOWER Little Wonder $13.00
4166181 SPACER-ENGINE Little Wonder $20.06
4166182.17 WLDMT-DEFLECTOR LG BLR Little Wonder $23.87
4166183 Label LITTLE WONDER Little Wonder $7.91
4166187 Label BLOWER SIDE Little Wonder $4.32
4166195 KNOB-1/4 FEMALE Little Wonder $3.81
4166198.10 LEVER-SP,RIGHT Little Wonder $44.00
4166231 BLOCK-BEARING Little Wonder $15.93
4166262 ROD-SPEED CONTROL VERT Little Wonder $9.43
4166263 ROD-SPEED CONTROL HOR Little Wonder $12.26
4166271.7 WLDMT-DECK,SP Little Wonder $508.07
4166272.7 WLDMT-COVER,REAR SP Little Wonder $105.57
4166278.10 WLDMT-HOUSING SP BLR Little Wonder $401.11
4166316 WLDMT-CONTROL,SPEED Little Wonder $108.04
4166319.7 BRKT-SPEED CONTROL Little Wonder $27.19
4166328 S-HOUSING SM BLR Little Wonder $356.07
4166329 S-HOUSING LG BLR Little Wonder $441.23
4166330.7 WASHER-ANTI-ROTATION Little Wonder $6.63
4166331.7 WLDMT-BAIL TRACTION DRIVE Little Wonder $46.48
4166349 BRKT-MUFFLER B&S Little Wonder $33.62
4166380 WHEEL ASM-13X5.00-6 FLANGE Little Wonder $196.46
4166386 MANIFOLD-EXHAUST Little Wonder $60.89
4166390 SHIELD-HEAT Little Wonder $34.13
4166399.7 DECK-ENGINE, BLR LG 10 WHEEL Little Wonder $63.26
4166437 PLUG-FAN 18 VAN Little Wonder $29.87
4166456 INSERT-SMALL BLOWER Little Wonder $1.72
4166460.70 KNOB-SP SPLITSTREAM Little Wonder $25.44
4166476.17 WLDMT-DEFLECTOR LG BLR CLASSIC Little Wonder $32.18
4166614 CABLE-PUSH,POST DEFLECTOR Little Wonder $22.72
4166615 CABLE-PUSH,PRE-DEFLECTOR Little Wonder $19.13
4166616 SPRING SP,POST DEFLECTOR Little Wonder $7.21
4166617 CABLE-SP,PRE-DEFLECTOR Little Wonder $50.00
4166618 CHAIN-DEFLECTOR Little Wonder $2.06
4166622 ADAPTOR-BEARING Little Wonder $30.74
4166628 Label WARNING GENERAL Little Wonder $14.58
4166653 SPACER Little Wonder $8.00
4166654 KNOB-BLR, CLASSIC Little Wonder $8.58
4166661.70 BRKT-THROTTLE VAC Little Wonder $16.95
4166697.7 BRACKET- CHAIN ADJUST Little Wonder $34.92
4166729 WLDMT-FAN, 5-6HP Little Wonder $252.64
4166730.00 WLDMT-FAN, 9HP Little Wonder $238.86
4166731 WLDMT-FAN, 13HP/14HP Little Wonder $374.44
4166753 SPACER-.259 X .375 X 1.125 Little Wonder $6.27
4166755.7 GUARD-ENGINE DECK,SP Little Wonder $129.20
4166778 S-LEVER,DEFLECTOR Little Wonder $36.08

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4166779 S-HANDLE,UPPER W/Grips Little Wonder $85.71
4166780 S-BRACKET,DEFLECTOR Little Wonder $31.52
4166808 BUSHING-SPACER Little Wonder $11.18
4166816 Label SPEED CONTROL SP Little Wonder $19.48
4166820 S-HOUSING SP BLR Little Wonder $365.38
4166835 BEARING-SPLIT, IGLIDE 5/16 Mantis $1.04
4166886 S-FAN,5HP KIT Little Wonder $213.60
4166887 S-FAN, 8HP/9HP KIT Little Wonder $239.54
4166888 S-FAN,13HP KIT Little Wonder $254.62
4166992 WLDMT-FAN,9BL 7.52BC 3.50 Little Wonder $600.00
4166996.17 SPACER-SPROCKET Little Wonder $17.68
4167042 PLUNGER-3/8-16 BALLNOSE,SPRING Little Wonder $24.27
4167065 SPRING-CLUTCH RETURN Little Wonder $8.27
4167078 SPACER-CLUTCH Little Wonder $16.48
4167101 Label FUEL SHUT-OFF Little Wonder $3.98
4167113 TAG-HANG BRUSHCUTTER Little Wonder $8.17
4167225 WHEEL-4.80-8.00, BAR TREAD Little Wonder $298.32
4167226 SPACER-1.5OD X .765ID X .370 Little Wonder $90.12
4167241.00 Swivel Little Wonder $71.80
4167259 PULLEY-7IN DIA 1IN BORE Little Wonder $127.76
4167331 Label SCROLL 140 DEG Little Wonder $9.04
4167379.17 WLDMT-SKID SHOE Little Wonder $212.16
4167380 TANK- FUEL TRUCKLOADER 22/27 Little Wonder $289.75
4167387 BAR-TRACTION IDLER PIVOT Little Wonder $21.40
4167390 LINK-TRANSAXLE Little Wonder $15.18
4167399.7 WLDMT-BELLCRANK Little Wonder $135.44
4167400 BUSHING-PIVOT Little Wonder $5.05
4167405.7 WLDMT- FREE WHEEL LEVER Little Wonder $29.72
4167410.7 LINK-FREE WHEEL Little Wonder $5.76
4167419.7 WLDMT-DRIVE IDLER Little Wonder $130.08
4167426 BELT-WHEEL DRIVE Little Wonder $20.17
4167427 PULLEY-V IDLER 3" NYLON Little Wonder $21.52
4167431.7 WLDMT-HSG BLADE SPINDLE Little Wonder $376.60
4167434.17 WLDMT-BLADE BELLCRANK Little Wonder $35.97
4167436.17 WLDMT-BRAKE LEVER Other $109.08
4167441.17 WLDMT-LEVER,BLADE CONTROL Little Wonder $165.92
4167444.17 WLDMT-TRACTION LEVER Little Wonder $170.92
4167448.17 WLDMT-TRACTION IDLER LINK Little Wonder $76.84
4167451.7 WLDMT-BRAKE BELLCRANK Little Wonder $114.12
4167454.17 WLDMT-UPPER HANDLE Little Wonder $327.40
4167456 ROD-UPPER TRACTION Little Wonder $13.98
4167458 ROD-BRAKE Little Wonder $16.00
4167472 WLDMT-PLUNGER Little Wonder $36.30
4167473 ROD-BLADE Little Wonder $11.95
4167474 ROD-TRACTION LOWER Little Wonder $11.23
4167483 SHAFT-BRUSHCUTTER Little Wonder $77.42
4167486.7 WLDMT-BLADE HUB Little Wonder $133.72
4167487.7 BAR-CROSS Little Wonder $55.80
4167488.7 BRKT-TORQUE Little Wonder $31.48
4167522 ROD-BRAKE LOWER Little Wonder $10.25

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4167524 Label ENGINE TRANSMISSION Little Wonder $4.32
4167525 Label THROTTLE SPEED Little Wonder $3.61
4167527.17 WLDMT-DECK 26 BC Little Wonder $876.24
4167531.17 WLDMT-FLAP OUTER 26 Little Wonder $43.64
4167532.17 WLDMT-FLAP INNER 26 Little Wonder $100.16
4167533.17 WLDMT-FLAP CENTER 26 Little Wonder $100.16
4167538 ROD-FLAP SUPPORT 26 Little Wonder $41.68
4167539 Label BRC 26 Little Wonder $5.05
4167544 Label LITTLE WONDER, WHITE Little Wonder $4.32
4167545 Label LITTLE WONDER, RED Little Wonder $4.32
4167546 Label LEFT THUMB Little Wonder $3.61
4167547 Label RIGHT THUMB Little Wonder $3.61
4167548 Label PARKING BRAKE Little Wonder $3.61
4167557.10 WLDMT-LOWER HANDLE Little Wonder $83.71
4167566 S-CUTTERDECK, BC26 Little Wonder $408.37
4167569 S-HANDLES,BC26 Little Wonder $238.54
4167570 S-BRAKE LEVER Little Wonder $56.69
4167572.17 WLDMT-TALON RING 22-27 Little Wonder $48.90
4167573 Label THROTTLE Little Wonder $16.53
4167576.17 WLDMT-TALON RING 16-18 Little Wonder $49.24
4167578 WHEEL-4.80-8 XTRAC Little Wonder $163.02
4167579 DRIVER-TALON RING TL 1.12 BORE Little Wonder $127.48
4167583 WLDMT-FAN,TL 16-18 Little Wonder $725.24
4167592 WLDMT-FAN,TRUCKLOADER 27HP Little Wonder $720.85
4167593 DRIVER-TALON RING 1.44 BORE Little Wonder $111.72
4167599.10 COVER-BELT Little Wonder $21.34
4167604 BELT-BRUSHCUTTER BLADE Little Wonder $66.98
4167798.10 COVER-BACK Other $35.06
4167822.10 WLDMT-ENGINE PLATE Little Wonder $93.33
4167870 S-BACK COVER Little Wonder $28.64
4167871 S-BRUSH CUTTER FRAME Little Wonder $383.83
4167882 ASSY-WHEEL 4.80-8 XTRAC RH Little Wonder $155.16
4167883 ASSY-WHEEL 4.80-8 XTRAC LH Little Wonder $155.16
4167908 S-HANDLE B&S BC Little Wonder $243.43
4168329 S-FAN,22HP KIT TRUCKLOADER Little Wonder $916.85
4168330 S-FAN,27HP KIT TRUCKLOADER Little Wonder $906.00
4168402 S-FAN, 16HP KIT TRUCKLOADER Little Wonder $734.45
4168403 S-FAN, 18HP KIT TRUCKLOADER Little Wonder $605.51
4168831.10 HANDLE UPPER - PROVAC SP Mantis $170.82
4168832.10 HANDLE LOWER - PROVAC SP Mantis $59.72
4168834.7 BRACKET BAIL RT - PROVAC SP Little Wonder $36.65
4168835.7 BRACKET BAIL LT - PROVAC SP Little Wonder $35.58
4168836.7 TRACTION ROD LOWER - PROVAC SP Little Wonder $27.89
4168837.7 TRACTION ROD UPPER - PROVAC SP Little Wonder $29.10
4168839 STANDOFF TRACTION - PROVAC SP Little Wonder $18.77
4168840 SPACER HONDA .85 - PROVAC SP Little Wonder $14.80
4168843 SHEAVE ENGINE - PROVAC SP Little Wonder $85.72
4168844 SHAFT TRANSMISSION - PROVAC SP Little Wonder $38.44
4168845.10 WLDMT SPACER HONDA - PROVAC SP Little Wonder $41.14
4168846.7 BRACKET FREEWHEEL - PROVAC SP Little Wonder $17.88

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4168848.7 BELLCRANK - PROVAC SP Little Wonder $14.14
4168849.17 WLDMT DECK - PROVAC SP Little Wonder $210.02
4168850.17 SIDE GUARD - PROVAC SP Little Wonder $63.08
4168851.17 REAR GUARD - PROVAC SP Little Wonder $90.81
4168866 TRANSAXLE HYDROGEAR T2 Little Wonder $874.73
4168874.10 WLDMT - HOUSING - PROVAC SP Little Wonder $820.61
4168949 WHEEL 13X5-6 KEYED - PROVAC SP Little Wonder $103.58
4168954 DISCHARGE CHUTE - PROVAC Little Wonder $332.74
4168955.17 FLANGE COLLECTOR - PROVAC SP Little Wonder $16.40
4168956 BELT 4L260 - PROVAC SP Little Wonder $18.53
4168957 PULLEY AK28 - PROVAC SP Little Wonder $35.06
4168958 BEARING FLANGE .75 - PROVAC SP Little Wonder $26.34
4168961 PULLEY AK32 - PROVAC SP Little Wonder $39.03
4168962 TANK TRANSMISSION - PROVAC SP Little Wonder $64.39
4168981 SPACER HONDA FAN - PROVAC SP Little Wonder $13.36
4169114 Label PRO EDGER BRACE Little Wonder $22.82
4169115 Label PRO EDGER BLADE Little Wonder $18.74
4169318.17 WLDMT-BLADE BELLCRANK Little Wonder $131.40
4169319 ROD-BLADE Little Wonder $18.44
4169364 Label ROTATING PARTS Little Wonder $30.36
4169365 Label WARNING Little Wonder $32.45
4169368 Label TRANSMISSION ENGAGE EU Little Wonder $16.95
4169369 Label FUEL WARNING Little Wonder $27.38
4169374 Label TRACTION EU Little Wonder $13.84
4169376 Label SPEED CONTROL Little Wonder $17.97
4169385 S-BACK COVER Little Wonder $36.22
4169386 S-BRUSH CUTTER FRAME Little Wonder $416.14
4169387 S-HANDLE B&S BC Little Wonder $300.43
4169388 S-CUTTERDECK, BC26 Little Wonder $442.63
4169476.17 DECK AIR SPACER - PROVAC SP Little Wonder $12.91
4169477.7 WLDMT-BAIL FORWARD - PROVAC SP Little Wonder $34.56
4169480.7 WLDMT-BAIL REVERSE - PROVAC SP Little Wonder $37.90
4169483.17 CASTER SUPPORT - PROVAC Little Wonder $71.40
4169484.17 CASTER YOKE - PROVAC Little Wonder $38.37
4169691.17 BELT GUARD - PROVAC SP Little Wonder $29.16
4169692.17 WLDMT - BRACKET FRONT - PROVAC Little Wonder $264.28
4169743 HOSE ADAPTER, SAE-JIC 7/16-20 Little Wonder $2.34
4169744 FITTING - JIC 90 - 1/4 BARB Little Wonder $31.12
4169751 BK30x7/8 GEARBOX PULLEY Mantis $31.71
4169758 Handle Grips Mantis $2.53
4169763 Spring Left Control Mantis $15.20
4169765 Right Angle Gearbox Mantis $477.84
4169927 Label SEED APPLICATION CHART Mantis $4.21
4170082 Compression Spring (Part # 66) Mantis $25.79
4170087 Pallet, Hydro Overseeder Mantis $79.91
4170109 Label CHUTE WARNING & SPD OPER Little Wonder $17.05
4170312 CASTER WHEEL 6.25X3 - PROVAC Little Wonder $58.15
4170467 Label VAC HOUSING - PROVAC SP Little Wonder $25.74
4170473 Cotter Pin 1/8"x1" Little Wonder $1.04
4170481 TRANS MOUNT LINK - PROVAC SP Little Wonder $24.77

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4170619 UPRIGHTS, WOOD - PROVAC Little Wonder $4.04
4170620 OIL - 20W-50 Little Wonder $29.69
4170636 S-HOUSING PROVAC Little Wonder $915.74
4170637 S-SIDE GUARD PROVAC Little Wonder $69.30
4170956 ROD-SPRING MOUNTING Little Wonder $16.22
4171025 CLAMP,MUFFLER 18HP VG Little Wonder $11.03
4171026 BRACKET, MUFFLER 18HP VG Little Wonder $33.43
4171027 MANIFOLD, 18HP VG Little Wonder $87.82
4171028 MUFFLER, 18HP VG Little Wonder $48.53
4171029 CLAMP, MUFFLER 29HP VG Little Wonder $7.06
4171030 GUARD, 29HP VG Little Wonder $52.72
4171031 MANIFOLD 29HP VG Little Wonder $191.74
4171032 MUFFLER 29HP VG Little Wonder $436.83
4171033 SCREW, HEX FLANGE 29HP VG Little Wonder $2.83
4171303 S-HOUSING PROVAC Little Wonder $990.11
4171774 ASSY-8271 TANK W/ VENTED CAP Little Wonder $424.03
4171803 KIT - C5 BLOWER HOUSING Little Wonder $72.98
4171857 Tine Curved Left - DARK Mantis $11.09
4171858 Tine Curved Right - DARK Mantis $11.09
4171859 Tine Assy Tiller Left - DARK Mantis $48.57
4171860 Tine Assy Tiller Right - DARK Mantis $48.57
4171890 WHEEL, 9/350 X 4 SOLID RUBBER Little Wonder $83.16
4171956.17 BELT GUARD TAB Little Wonder $17.68
4171960.17 BAR, REAR WHEEL SUPPORT Little Wonder $12.70
4172038.17 BRACKET THROTTLE CABLE Little Wonder $19.68
4172532 KIT - BRUSHCUTTER WHEEL Little Wonder $302.38
4172564.7 WLDMT - TA-18 SOLID TINE SHAFT Little Wonder $558.00
4172651 STUD - BELT DECLUTCHING Little Wonder $14.11
4172664 PULLEY - BK72-3/4 Little Wonder $107.53
4173027.7 WLDMT-HUB ASSY,DOUBLE-CLASSEN Little Wonder $225.52
4173031 SPROCKET, 28 TEETH #40 1.25"ID Little Wonder $28.00
4173160 GRIP - 1" X 10" Little Wonder $5.99
4173220 S-PULLEY GUARD ASSEMBLY Little Wonder $118.62
4173268.17 LOWER HANDLE BRACE, RIGHT Little Wonder $70.24
4173269.17 LOWER HANDLE BRACE, LEFT Little Wonder $70.24
4173377 S-TA18H TINE SHAFT ASSEMBLY Little Wonder $925.07
4173378 S-TA18HD TINE SHAFT ASSEMBLY Little Wonder $654.67
4173475 KIT - FREEWHEEL LINK PROVAC SP Little Wonder $47.76
4173512 S-BRAKE ARM Common $67.11
4173550 KIT - TA18 CHAIN TENSION/AXLE Little Wonder $176.68
4173820 SOLID WHEEL, 410/350 X 4 Little Wonder $69.97
4173900.00 HEX COUPLING NUT 5/16-18x7/8 Little Wonder $2.00
4174972 BEARING, 3/4 FLUSH Little Wonder $46.60
4174973.10 WELDMENT, ENGINE MOUNT Little Wonder $208.86
4174977 NOZZLE, EXHAUST Little Wonder $90.82
4174978.17 WELDMENT, FRAME Little Wonder $194.42
4174981.17 WELDMENT, FRONT AXLE Little Wonder $203.54
4174989.7 PLATE, HEIGHT ADJUST SELECTOR Little Wonder $25.52
4174990.7 LINK, HEIGHT CONNECTOR UPPER Little Wonder $23.16
4174991.7 LINK, HEIGHT CONNECTOR LOWER Little Wonder $51.48

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4174992.7 LEVER, HEIGHT ADJUST Little Wonder $38.89
4174994 WELDMENT, FAN Little Wonder $468.64
4174997.10 HANDLE, LOWER Little Wonder $165.33
4175003 NOZZLE, INTAKE Little Wonder $159.13
4175006.10 HANDLE, UPPER Little Wonder $259.41
4175007 WHEEL, 12IN DIA Little Wonder $49.36
4175049 BAG, FILTER MESH Little Wonder $241.46
4175052 SPACER, NOZZLE Little Wonder $18.71
4175122.7 MOUNTING PLATE, REAR Little Wonder $20.48
4175131.7 PLATE, HEIGHT ADJUST BACKING Little Wonder $12.82
4175178 HINGE, CHUTE BASE Little Wonder $17.79
4175178.10 HINGE, CHUTE BASE Little Wonder $17.79
4175180 HINGE, CHUTE ROD Little Wonder $13.14
4175183 SPRING, CHUTE Little Wonder $2.09
4175199 NOZZLE, HOSE Little Wonder $77.91
4175200 HANDLE, HOSE Little Wonder $41.88
4175204.7 PLATE, HOSE BOTTOM Little Wonder $113.24
4175206 HOLDER, HOSE Little Wonder $74.02
4175227 SPACER, HONDA PUSH Little Wonder $42.16
4175283 PUSHNUT, STUD RETAINER 5/16 Little Wonder $5.23
4175284 CLEVIS PIN, 5/16 X 2-1/8 Little Wonder $3.01
4175287 HOSE Little Wonder $173.17
4175291.10 BRACKET, RIGHT HOSE Little Wonder $22.64
4175292.10 BRACKET, LEFT HOSE Little Wonder $16.47
4175296 CLAMP, HOSE BRIDGE Little Wonder $51.80
4175419 PLUG, ENGINE BOLT Little Wonder $34.31
4175443.10 BRACKET, HOUSING HOSE Little Wonder $17.84
4175627 GRIP, UPPER HANDLE Little Wonder $5.96
4175773.10 WELDMENT, ROPE GUIDE Little Wonder $58.19
4175790.7 WELDMENT, NOZZLE LEFT GUARD Little Wonder $37.68
4175791.7 WELDMENT, NOZZLE RIGHT GUARD Little Wonder $52.94
4175792 BOLT, LW PROFILE 5/8-16 5/8LNG Little Wonder $1.37
4175889 Label WRAPPER Little Wonder $16.02
4175899 Label BLADES/THROW WARNING Little Wonder $2.19
4175968 Trunion Kit Little Wonder $55.17
4176078.10 WELDMENT, BRIGGS ENG Little Wonder $291.41
4176081 KEY, 3/16 SQR 3.25 LNG Little Wonder $1.53
4176082 SPACER, BRIGGS PUSH Little Wonder $29.50
4176098.7 BRKT-TRUNNION Little Wonder $37.36
4176147 BRAKE, CLUTCH UPGRADE KIT Little Wonder $274.44
4176175 S- HOUSING Little Wonder $355.67
4176176 S- DISCHARGE CHUTE COVER Little Wonder $41.25
4176201 SPRING, CLUTCH UPGRADE KIT Little Wonder $274.44
4176246 HARDWARE BAG PROVAC SI Little Wonder $12.61
4176329 Label FAN WARNING Little Wonder $3.70
4176351 CABLE-THROTTLE, 1.75 THROW Little Wonder $51.59
4176406 CABLE-THROTTLE, 1.62 FS Little Wonder $45.03
4176410 S-FAN,18HP KIT Little Wonder $201.33
4176530 S- NOZZLE CAP Little Wonder $17.11
4176773 S-TENSIONER SPRING BRKT, LH Common $21.89

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4177070 GUARD, 14HP TRKLDR KOHLER Little Wonder $1,058.19
4177214 S-FAN, PROVAC HONDA SI KIT Little Wonder $207.37
4177215 S-FAN, C5 FAN KIT Little Wonder $207.37
4177243 S-FAN, PROVAC BRIGGS SI KIT Little Wonder $207.37
4177244 S-ASSEMBLY, FAN Little Wonder $207.37
4177387 WELDMENT, FAN 7 GA Little Wonder $288.17
4177500 S-FAN, C5 FAN KIT KOHLER Little Wonder $207.37
4177732 S-TA18 HANDLE ASSEMBLY Little Wonder $127.51
4177791 S- BAR-HITCH Little Wonder $41.25
4177901 KIT, BRUSHCUTTER RETRO Little Wonder $207.37
4179159 S-BRAKE CLUTCH ASSY Other $282.67
34901100 SYNCHRONOUS BELT Little Wonder $13.66
300307003 Support Plate Assembly Little Wonder $45.76
303475002 Tube Assembly, Front Fork Little Wonder $76.12
306813001 Impeller Adapter Little Wonder $100.00
308842009 Throttle Cable Little Wonder $16.83
310019001 Handle Adjustment Assembly Little Wonder $12.71
310020001 Engine Plate Assembly Little Wonder $81.46
310482002 Wheel, 16 x 2-3/4", BB Little Wonder $71.28
310482003 Wheel, 10 X 2-3/4", BB Little Wonder $31.08
310843004 Handle Assembly Little Wonder $42.47
310970002 Tube Assembly, Lower Frame Little Wonder $71.84
310970003 Frame Assembly, Upper Little Wonder $70.80
311011462 IMPELLER ASSY. Little Wonder $64.80
311194001 Knob Assembly, 1/4-20 Little Wonder $3.00
524035001 Bushing, Axle Little Wonder $1.04
524638001 Plug, Flat Head, 32mm Little Wonder $1.04
524639001 Spacer, Axle Little Wonder $1.72
524640001 Blower Screen Little Wonder $18.19
524642001 Housing, Rear, Blower Little Wonder $65.14
524643001 Cap. Nozzle Position Little Wonder $3.61
524644001 Collar, Threaded, Locking Little Wonder $4.32
524645001 Housing, Front, Blower Little Wonder $51.49
524646001 Impeller Little Wonder $54.70
524647001 Nozzle Little Wonder $5.05
524648001 Tube, Oil Drain Little Wonder $1.04
570116001 Isolator, Rubber Little Wonder $14.66
621075002 Rod, Steel Little Wonder $1.04
621301002 Axle Little Wonder $23.29
638678002 Washer, Lock, 5/16 Little Wonder $1.04
638882001 Washer, 5/16 Little Wonder $1.04
638965001 Mounting Plate Little Wonder $10.74
638966001 Washer, 5/16", Heavy Little Wonder $1.04
660591015 Bolt, 5/16-18 x 2.50", HH Little Wonder $1.04
660643001 BOLT, HANDLE(1/4-20 X 1.53 IN) Little Wonder $1.04
661020002 Bolt, 1/2 x 3/8-16, HH, Should Little Wonder $4.33
661501009 Screw, 1/4-20 x 2.27" T30 Torx Little Wonder $1.41
661568005 Bolt, 1/4-20 x 4.0", Handle Little Wonder $1.04
661830001 Screw, 1/4-15x32 mm T30 Pan Hd Little Wonder $1.04
664002003 Bolt, 5/16-24 x 2.00" Hex, GR Little Wonder $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



664004001 Screw, 1/4-15x3/4",Hilo Little Wonder $1.04
664006005 Screw, 5/16-18 x 2.25", BH 6-L Little Wonder $1.04
664006006 Screw, 5/16-18 x 0.5", BH 6-Lo Little Wonder $1.04
678259003 Nut, Nyloc, 5/16-18 ZP Little Wonder $1.04
678259006 Nut, 3/8-16, Nylon Cap Little Wonder $1.82
679008002 Spacer, Engine Little Wonder $4.32
679070001 Hairpin, 3/4" Little Wonder $2.48
679071001 Nut, Nylon Little Wonder $1.04
679450003 Nut, 5/16-18 Little Wonder $1.04
679466001 Nut, 1/4-20, Hex, Nylon Cap Little Wonder $1.04
06002-06001 Bearing Common $12.03
06030-06001 Bearing Little Wonder $15.78
06030-06201 Bearing Common $8.07
100000-06962 Piston Kit Common $69.85
100000-44331 Piston Kit Common $60.34
100011-01110 Piston Ring Common $6.70
100011-05530 Piston Rings Common $7.80
100012-12331 Needle Bearing Common $9.87
100012-21230 Bearing Needle Common $12.65
100013-10210 44 Piston Pin Common $6.34
100013-11520 Piston Pin Common $6.34
100014-08960 Spacer Common $2.78
100014-11520 Piston Pin Spacer Common $3.69
100015-04630 16 Circlip Piston Pin Common $1.04
1000-43240 Key Common $1.04
100113-05930 Bearing Needle Common $13.16
100132-05660 Washer Common $1.04
100143-04630 18/65 Washer Common $1.04
100212-03930 39/7 Oil Seal Common $4.76
100212-04630 29/8 Oil Seal Common $4.76
100212-42031 Oil Seal Common $5.62
100213-05530 Oil Seal Common $5.41
100215-03930 Knock Pin 33/3 Dowel Common $1.04
100242-04630 37/4 Crankshaft Gasket Common $1.04
100242-42030 Crankcase Gasket Common $1.72
100615-01110 Gasket Common $1.13
100615-04631 Starter Gasket Common $1.13
100C BRKT-SHAFT HEAD SUPPORT Little Wonder $67.88
100D BRKT-MUD FLAP SUPPORT Little Wonder $18.47
101010-04631 Gasket Cyl Base Common $2.83
101010-44332 Cylinder Gasket Common $3.83
101011-03362 Cylinder Mantis $116.02
101011-05020 49 Cylinder Common $101.76
101011-06562 Cylinder Common $147.52
101011-45230 Cylinder Common $130.40
101014-00560 Bolt Stud Common $2.74
101014-22330 Bolt Stud Common $2.83
101500-05020 108 Fan Common $38.28
101506-11520 Cylinder Cover Common $20.33
101506-11521 Cylinder Cover Mantis $19.94

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



101511-11524 Fan Cover Common $81.69
101514-03360 Cylinder Cover Common $5.56
101514-05920 51 Cylinder Cover Common $8.42
102A Bolt Axle Little Wonder $1.04
102B Nut Lock 3/8 Little Wonder $1.04
102C SLEEVE-WHEEL FRONT Little Wonder $16.67
1030-41310 Pin Common $2.91
103044-02 SPACER-.319x.617x.125 Other $0.52
103SH Snap Ring Little Wonder $1.04
104004-39231 Engine Kit Cover Mantis $120.76
104012-20660 Engine Cover Common $65.36
1100-16 Scabbard 16 In Little Wonder $2.52
1100-19 Scabbard 19 In Little Wonder $1.48
1100-24 Scabbard 24 In Little Wonder $4.32
1100-30 Scabbard 30 In Little Wonder $5.76
114B NUT - 5/16-18 Whiz Flange Little Wonder $1.04
114C NUT- LOCK,NYLON 5/16-18 Little Wonder $1.04
114D Nut 5/16-18 Short Nylon Insert Common $1.04
123000-03360 Carburetor WA 157 Common $79.73
123000-04320 43 Carburetor Assy Common $67.59
123000-04931 Carburetor Assy Common $54.76
123000-05020 Carb Assy Mantis $29.74
123000-24430 Carb Assy Mantis $109.76
123100-04930 Carb Kwik Kit Common $22.82
123100-16330 Kwik Kit Common $19.14
123101-03930 Gasket Diaphragm Kit Common $9.86
12310-ZM3-003 Head Cover Comp Mantis $11.42
123110-03930 C29 Screw Pump Cover Common $1.04
123113-03930 Throttle Return Spring Common $1.04
123113-09660 Throttle Return Spring Common $1.04
123117-05020 C19 Throttle Shaft Assy Common $5.03
123118-04420 C17 Needle Idle Common $4.05
123119-03930 C14/C8 Spring HS Needle Common $1.37
123120-06530 C15 Needle High Speed Common $4.05
123121-03930 C16 Spring Idle Needle Common $1.04
123124-05020 C28 Cover Fuel Pump Common $5.19
123124-16530 Cover Fuel Pump Common $4.90
123172-04320 C21 Swivel Common $2.83
125200-13128 Carburetor Mantis $130.74
125200-13129 Carburetor, 2 Cycle (SV4B, SV4B1E, SV5C, SV5C1) Mantis $125.71
125200-20560 Carburetor C1U-K42 Common $98.87
125200-20562 Carburetor Mantis $109.70
125200-20662 Carburetor Common $85.64
125300-06560 Rebuild Kit Common $24.89
125300-12820 Rebuild Kit Common $20.19
125300-13120 Repair Kit Mantis $22.80
125300-20560 Repair Kit Common $31.88
125300-42030 Rebuild Kit Common $20.80
125303-06560 Gasket Diaphragm Kit Common $10.84
125303-13120 Gasket/Diaphragm Kit Common $9.11

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



125303-20560 Gasket Diaphragm Kit Common $10.92
125303-42030 Gasket Diaphragm Kit Common $14.18
125306-12820 Cover Pump Common $8.93
125310-05360 Screw Common $1.04
125310-12820 Screw Common $1.40
125310-42030 Screw Common $1.04
125313-08560 Spring Throttle Return Common $1.13
125313-42030 Throttle Return Common $1.04
125314-13930 Screw Common $1.04
125314-51230 Screw Common $1.04
125316-42030 Throttle Valve Common $2.83
125317-05060 Throttle Shaft Common $5.76
125317-11820 Throttle Shaft Common $5.56
125317-13310 Shaft Throttle Common $6.20
125318-11820 Needle Idle Common $4.65
125318-13120 Needle Low Speed Common $6.22
125318-20560 Screw Idle Needle Common $6.20
125318-51330 Idle Needle Common $3.82
125319-42030 Coil Spring Common $1.40
125320-13310 Needle High Speed Common $4.80
125320-42030 High Speed Needle Common $4.91
125324-11610 Pump Cover Common $25.43
125324-12820 Cover Pump Common $11.68
125324-42030 Pump Cover Common $7.24
125326-42030 Strainer Common $2.81
125327-13930 Clip Common $1.04
125327-15130 Clip Common $1.04
125329-08560 Cap Limiter Hi Speed #7 Common $2.74
125329-09860 Cap Limiter LS Common $2.83
125329-39030 Cap Limiter HS Common $2.83
125333-06960 Spring Idle Adjust Common $1.37
125334-06860 Idle Adjust Screw Common $4.48
125334-06960 Screw Throttle Common $5.72
125334-13930 Idle Adj Screw Common $1.20
125339-42030 Screw Common $1.04
125344-13931 Idle Speed Screw Common $3.46
125348-13930 Screw Common $1.04
125350-05060 Throttle Lever Common $2.83
125363-08360 Ring Common $2.83
125363-08560 Ring Common $2.83
125363-11610 Ring Common $2.83
125372-42030 Swivel Common $4.49
125376-05360 Nozzle Check Valve Common $5.62
125376-13120 Nozzle Main Check Valve Common $7.16
125376-42030 Check Valve Nozzle Common $4.61
125376-49030 Nozzle Check Valve Main Common $4.25
125378-13930 Friction Piece Common $1.04
125383-05360 Primer Base Common $25.27
125383-13310 Primer Base Common $16.88
1260-41320 Ring Common $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



126A/6001 Cutter Head Assy Delux Little Wonder $90.60
126A/6031 Cutter Head Assy Pro Little Wonder $93.31
128025-06 CABLE-BRAKE Other $124.98
129011-05060 Prevent Plate Common $4.98
129011-52130 Prevent Plate Common $5.26
129011-52131 Prevent Plate Mantis $4.60
129011-52730 Plate Prevent Common $4.61
129023-03360 Grommet Common $1.04
129C Bolt 5/16-18 x 3/4 Grade 5 Little Wonder $1.04
129C1 Bolt 5/16-18 x 1/2 Little Wonder $1.04
129D WASHER - LOCK HELICAL 5/16 Little Wonder $1.04
130010-09561 Gasket Intake Common $3.61
130010-20560 Gasket Intake Common $3.11
130016-04631 Gasket Common $1.04
130016-06232 Intake Gasket Common $1.04
130016-06434 Gasket Common $1.04
130016-42031 Gasket Mantis $2.31
130017-05062 Insulator Intake Common $7.21
130017-42031 Insulator Common $12.44
130021-05020 82 Bolt Common $1.04
130029-03930 Washer Common $1.04
1300-41320 Ring Common $1.04
130111-00530 Clip Pipe Common $1.04
130300-00766 Air Cleaner Assy Common $56.26
130301-04560 Air Cleaner Case Common $11.44
130302-06561 Cleaner Lid Common $20.64
130302-11520 Cover Assy Air Clnr Common $19.41
130307-00762 Air Cleaner Common $18.59
130307-05660 Air Cleaner Case Assy Common $21.57
130307-06761 Case Cleaner Assy Common $22.83
130307-21761 Case Air Cleaner Common $22.82
130310-00760 102 Air Filter Common $2.83
130310-03060 Felt Filter Common $7.35
130310-03360 Air Filter Common $15.53
130310-04560LW Air Filter Mantis $6.08
130310-51830 Air Filter Common $9.32
130313-03361 Air Cleaner Lid Common $9.74
130313-04561 Air Cleaner Cover Common $2.83
130313-04620 103 Filter Cap Common $3.58
130313-05060 Air Cleaner Cover Common $5.41
130313-05863 Lid Air Cleaner Black Common $7.47
130313-11520 Air Cleaner Cover Common $9.31
130317-00760 Air Cleaner Filter Common $30.65
130319-00760 101 Air Filter Grid Common $3.20
130326-00763 Lid Cleaner Common $11.53
130326-11521 Lid Cleaner Common $7.06
130326-11522 Lid Cleaner Mantis $14.15
130341-04620 Cover Air Filter Common $4.02
130406-52131 Thumb Screw Common $7.01
130410-05360 Air Cleaner Bracket Common $9.27

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



130410-44730 Air Cleaner Bracket Common $11.15
130415-40630 Screw Common $3.24
130416-11520 Bolt 5 x 25 Common $1.04
130425-00761 Holder Cover Common $12.73
131004-06320 Cap Assy Fuel Tank Common $15.03
131004-09060 Fuel Cap Common $12.14
131004-09361 Fuel Cap Assy Mantis $18.09
131004-53530 Fuel Cap Assy Common $9.62
131005-05761 Fuel Tank Common $19.76
131005-11521 Tank Fuel Common $24.75
131015-04520 97 Holder Check Valve Common $3.69
131016-04631 Gasket Mantis $2.74
131016-04931 Fuel Cap Gasket Mantis $4.32
131016-40930 Gasket Fuel Tank Cap Common $2.83
131016-55830 Fuel Cap Gasket Common $2.83
131045-28230 Spacer Common $2.83
131051-56030 Connector Cap Common $1.41
131205-07320 Fuel Strainer Common $7.26
131314-00330 76 Check Velve PB 87-11 Common $14.93
131328-40630 Breather Cover SB 87-11 Mantis $10.17
13-15876-74151 SPACER  RADIATOR FAN 10MM Other $19.40
131910-05020 100 Bracket Fuel Tank Common $2.83
131A ASSY-SHAFT-HEAD Little Wonder $67.00
132007-05920 Fuel Pipe w/Grommet Common $7.52
132010-03360 Pipe Fuel Common $2.74
132010-06460 Pipe, 3 x 6 x 110 Mantis $5.60
132010-12820 Outer Fuel Pipe Common $2.83
132010-14010 Pipe 3 x 6 x 100 Common $3.40
132010-49030 Pipe 3 x 6 x 50 Common $2.83
132010-56330 Pipe 3 x 6 x 90 Common $2.83
132011-03360 Connector Pipe Common $3.61
132012-12361 Pipe Common $3.61
132013-05060 Pipe Clip Common $1.04
132013-09820 Clip Common $1.04
132115-04920 104 Grommet Common $1.49
132115-21330 Grommet Common $2.83
132115-44330 Grommet Common $2.83
132115-46730 Grommet Fuel Common $2.83
13-445547 GASKET  11HP HONDA EXHAUST Other $19.51
137A Grip Little Wonder $3.50
141-2 Handle - Lower Little Wonder $54.72
142-2 HANDLE-UPPER Little Wonder $99.80
144-1 Screw HHCS Little Wonder $1.04
144-2 Screw 1/4-20 x 1 1/8 HHCS Little Wonder $1.04
145800-11821 Muffler Assy Common $76.40
145806-00762 Muffler Common $39.69
145806-05120 58 Muffler Body Common $6.50
145806-42030 Muffler Common $42.90
145807-05120 59 Silencer (SA) Common $7.21
145810-11520 Muffler Common $70.70

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



145815-11520 Screen Holder Common $2.83
145858-03360 Muffler Common $41.22
145861-05920 61 Muffler Lid Common $3.67
145862-05120 Screen Muffler SAM Common $2.83
145862-09520 Screen Muffler Common $2.83
145862-40630 Muffler Screen Common $2.83
145863-05120 Holder Screen SAM Common $2.83
145863-11520 Guide Exhaust Common $5.15
145866-03361 Gasket Muffler Lid Common $2.83
145866-42031 Muffler Gasket Common $2.83
145871-05360 Muffler Cover Common $11.65
145871-11521 MUFFLER COVER Mantis $12.83
145876-42030 Muffler Lid Common $5.00
150101-00910 Contact Points Common $26.46
150117-09130 Washer Common $1.55
156101-04630 Contact Points Common $14.34
156110-04920 Grommet Common $1.04
156200-04631 OBS M1/M19 Fly Wheel Common $55.85
156601-03361 Coil Ignition Common $115.85
156601-05060 CDI Module Common $122.04
156601-52131 Coil Ignition Mantis $172.42
156626-11820 Ignition Coil Common $114.34
156626-39130 Ignition Coil Mantis $75.61
156801-05360 Flywheel Common $116.90
156801-44330 Flywheel Common $153.20
156801-44731 Flywheel Common $97.17
157A BRACKET-INDEX GEAR Little Wonder $25.76
157B BRACKET-ANGLE INDEX GEAR Little Wonder $5.76
158626-06361 Ignition Coil Mantis $73.32
159010-10230 Spark Plug Mantis $6.74
159010-10630 Spark Plug RCJ-7Y Mantis $3.86
159011-03432 Coil Plug Cap Mantis $1.18
159012-01620 54/71 Cap Spark Plug Mantis $2.83
159012-03360 Cap Spark Plug Mantis $10.43
159012-03433 Cap Spark Plug Mantis $7.21
159015-04630 Cover Spark Plug Mantis $2.83
159017-12330 Spark Plug RCJ-8Y Mantis $27.44
16017-ZM3-004 Air Purge Body Assy Mantis $6.75
160A ASSY-INDEX GEAR Little Wonder $27.00
16-102G Warranty Card German Little Wonder $1.04
1612-69D Motor Assy 12V Complete Little Wonder $232.80
1612-70A Switch Cover Little Wonder $1.04
16-220-69F Brush Motor 220V Little Wonder $5.76
162B Bolt 1/4-20 x 1/2 Little Wonder $1.04
163335-20560 Lever Actuator Common $4.82
163400-02160 On/Off Switch Common $11.22
163400-03460 Ignition Switch Common $8.41
163400-20660 Ignition Switch Common $7.57
163401-20660 Switch Ignition on/off Common $10.88
163810-11520 Switch Bracket Common $2.83

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



16-42 Comb 16 In DE Little Wonder $15.12
1650-21220 Oil Seal Common $3.59
1650-41210 Ring Common $12.57
16-51 Blade Assy 16 In SE Outside Little Wonder $67.78
1651-51220 Spring Common $6.24
16-51B Drive Pin Outside Blade Little Wonder $2.84
16-51D Blade Assy 16 In DE Outside Little Wonder $77.14
165-2 ROD-INDEXING Little Wonder $26.27
16-52 Blade Assy 16 In SE Inside Little Wonder $75.31
16-52B Drive Pin Inside Blade Little Wonder $2.53
16-52D Blade Assy 16 In DE Inside Little Wonder $78.59
16-53 Frame Bar Elec 16 In DE Little Wonder $14.41
16-54A Screw Large Hd Common $1.04
16-54B NUT  1/4-29 WIZ Little Wonder $1.04
16-55 Screw Large Flat Little Wonder $3.61
16-57A Gear Housing Cover Plate Little Wonder $13.70
16-58 Shaft Cluster Gear Little Wonder $1.87
165A GRIP-.31 X .44 X 3.8 Little Wonder $3.30
166022-03 WLDMT-TINE 1/2S HT Other $19.40
16-61 Shaft Eccentric Little Wonder $1.04
16-64 Connecting Rod Common $4.96
16-65 Spacer Connecting Rod Common $4.05
16-67 Felt Little Wonder $1.56
16-69D Ball Bearing 9 Little Wonder $14.57
16-69E Ball Bearing 6 Little Wonder $12.59
16-69G Motor Brush Cap Little Wonder $4.32
167-2 LEVER-BELT SLACKENER Little Wonder $22.91
167A Nut Speed 5/16 Little Wonder $1.04
16-80 Cover Plate Pin Common $1.04
16-81 Screws 6-32x 5/16  12 Pack Common $12.54
16-81-1 Screw 6-32 x 7/16 Common $1.04
16-88A Screw, #4 x 5/8 Phillips Hd Little Wonder $1.04
16-93 Blade Guard Common $1.04
172B Bolt Eye 10-24 Other $0.42
174A GUARD-BELT, MOTOR PULLEY Little Wonder $5.76
175000-07531 Clutch Assy Common $79.76
175009-05131 Clutch Shoe Common $28.64
175010-04635 Clutch Drum Mantis $39.14
175012-03930 42/14 Bearing Rollers Common $10.09
175014-04630 116/113 Washer Clutch Common $2.83
175014-11520 Clutch Washer Common $2.78
175015-05020 Washer Clutch Common $2.74
175016-05020 Clutch Hub Common $9.83
175018-05130 109/106 Spring Clutch Mantis $3.09
175019-04630 Plate Clutch Common $2.83
175044-04630 111 Spacer Mantis $1.92
1752-81110 Screw Little Wonder $2.00
175B Nut Hex 1/4-20 w/twin serrated Little Wonder $1.04
17620-ZM3-043 Fuel Tank Cap Assy Mantis $10.56
177200-04060 Starter Assy Mantis $57.94

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



177200-42033 Starter Assy Mantis $65.29
177202-12220 Pawl Starter Assy Mantis $68.16
177202-44331 Pawl Starter Assy Mantis $8.56
177209-04060 Case Starter Assy Mantis $22.95
177214-04630 R9/R10 Washer Common $1.04
177214-42030 Washer Common $1.04
177215-44430 Starter Drum Common $8.19
177216-04630 Brush Mantis $2.17
177218-42030 Pawl Starter Common $4.14
177218-44330 Pawl Starter Common $3.22
177220-03930 R5/R3 Rewind Spring Common $21.78
177220-06530 Rewind Spring Common $16.21
177220-42030 Rewind Spring Common $14.44
177221-05020 R4 Side Plate Common $2.83
177226-01110 37.4 In Starter Rope Common $4.98
177226-03930 33.5 In Starter Rope Common $5.13
177226-05530 35 In Starter Rope Common $5.84
177226-06530 33.5 In Starter Rope Common $7.21
177227-05330 R3/R12 Rope Guide Common $8.11
177227-05530 Rope Guide Common $3.36
177227-42030 Rope Guide Common $2.83
177228-01110 Handle Common $6.63
177228-06530 Handle Common $4.14
177228-11120 Grip Starter Assy Common $5.09
177228-11121 Grip Starter Common $3.63
177228-11130 R8/R13 Starter Handle Common $5.26
177228-11520 Handle Common $5.05
177232-42032 Starter Case Common $24.73
177234-04632 Spring Return Common $1.04
177234-12220 Return Spring Common $3.55
177236-40630 Screw Common $3.51
177236-44330 Screw Common $2.92
177246-11120 Clip Rope Common $1.20
177247-04630 Washer Common $2.83
178001-11520 Throttle Cable Common $16.33
178001-11820 Wire Throttle Common $23.22
178002-11520 Throttle Cable Common $16.49
178011-20560 Rod Throttle Common $2.83
178024-08730 Bracket Throttle Black Mantis $8.61
178043-05230 Spring Lever Common $1.04
178054-21760 Control Throttle Common $22.53
178110-05330 Trigger Shaft Common $1.04
178510-04560 Rod Choke Mantis $10.72
178510-48830 Choke Knob Mantis $8.79
178510-51730 Choke Rod Mantis $4.25
178515-04560 Choke Shutter Mantis $2.83
178515-05060 Choke Shutter Mantis $2.83
178516-00830 Washer Mantis $1.04
178516-03930 Washer Mantis $1.04
178810-03930 Bushing Mantis $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



178810-04920 Bush Rubber Mantis $1.10
178810-05230 Bushing Rubber Mantis $2.83
18021SH Bell Crank Little Wonder $35.84
18022SH Bolt Shoulder 1/2 x 1 1/2 EZ Little Wonder $7.48
18047SH Spring Blade Engage 3/4X3 3/4 Little Wonder $7.04
18050SH Belt Guide Little Wonder $9.51
18355-ZM3-810 Spark Arrestor Mantis $11.48
1850-21220 Seal Common $2.83
1850-75120 Reel Common $28.35
1850-75130 Spring Spiral Common $30.85
1850-81450 Body Assy Common $70.05
1850-81490 Body Purge Common $24.40
186008SH WLDMT-BLOWER PROP Other $314.08
186010SH WLDMT-IDLER ARM Other $65.28
1881-81130 Ring Common $4.64
19-1 Outside Blade Assy Single Side Little Wonder $72.04
1918-81170 Screw Adjuster Mantis $5.76
1918-82001 Claeaner Assy Mantis $160.84
1918-82110 Cover Mantis $11.74
1918-82130 Housing Mantis $12.22
1918-82140 Plate Mantis $3.31
1918-82150 Valve Mantis $5.99
1918-82160 Washer Mantis $2.83
1918-82170 Sleeve Mantis $2.83
1918-82180 Screen Mantis $3.74
19-1D Blade Assy 19 In DE Outside Little Wonder $85.13
19-2 Inside Blade Assy Single Side Little Wonder $72.04
192073-01 SPACER-FRAME/AXLE MTG. 7 GA. Other $2.38
19233-100 100 Pack of Bed Shaper Blades Little Wonder $4,863.27
19233-6 6 Pack of Bed Shaper Blades Little Wonder $347.25
19-2D Blade Assy 19 In DE Inside Little Wonder $86.76
19-42 Comb 19 In DE Little Wonder $24.55
195P Special Belt Guard England Little Wonder $183.98
19611-ZM3-000 Fan Cover Mantis $21.69
19651-ZM3-U30 In Air Guide Mantis $3.87
200010-06363 Blower Fan Common $25.98
200010-20560 Fan Blower Common $15.96
200011-05060 Fan Hub Mantis $7.49
200011-05661 Hub Fan Common $14.42
200011SH Box 3 of 3 Sheet Metal Mantis $587.12
200012SH Box 1 of 3 Handles 00-03 Mantis $540.05
200013SH Box 1 of 3 Handles 00-02 Little Wonder $311.66
200018SH Box 1 of 3 Handles 00-14 Mantis $543.69
200105-05660 Fan LH Case Common $31.71
200105-14460 Fan Case Common $26.80
200107-04061 Case Fan Common $139.70
200108-21760 Fan Case Right Common $35.46
200110-05660 Fan Case Red Common $39.58
200110SH CAP-NUT, PUSH Little Wonder $3.26
200124-03360 Fan Case Grid Common $19.41

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



200124-20661 Blower Grid Common $23.89
200141-04060 Handle Common $6.79
200150-05060 Cover Shaft Common $2.83
200152-05060 Cover Spring Common $2.83
200180-08761 Cutter Shredder Common $8.65
200-1A INSERT-EDGER BOTTOM Little Wonder $10.32
200202SH Threaded Rod Mantis $7.04
200207SH Door Mantis $65.36
200216SH Drum Start Section Mantis $84.72
200221SH Breather Screen Mantis $30.07
200223SH Latch Mantis $7.83
200225SH Screen, Sifter Mantis $77.08
200237SH CT DRIVE WHEELS, BLK Mantis $12.99
200240SH CCT DRIVE GEAR, BLK Mantis $12.87
202157SH CAM ASSY  FOOT CONTROL Other $105.58
202370SH PIN  CLEVIS Other $25.49
202433SH ELBOW  MODIFIED LH Other $77.21
210014-20560 Pipe Blower Common $9.08
210014-20561 Pipe Blower Mantis $8.91
210014-20660 Pipe Blower Common $9.22
210020-06360 Blower Pipe Common $13.49
210020-21760 Pipe Blower Common $12.70
210027-00961 OBS Pipe Adaptor Mantis $3.98
210027-06562 Suction Pipe Common $49.98
210031-01060 Fan Head Nozzle Common $9.61
210031-05060 Fan Head Nozzle Common $15.53
210400-00660 Clamp-w/Screw Mantis $6.04
210413-05060 Clamp Common $6.70
210417-52730 Wing Stud Common $1.04
211SH Label CAUTION Little Wonder $1.04
212SH BRKT-BELT GUIDE Little Wonder $5.76
213SH Screw 5/16-24 x 1/2 HHCS Little Wonder $1.04
215012-05060 Connector Common $10.02
215013-01961 Bag Clamp Ring Common $4.83
2169-21210 Oil Seal Common $3.34
216SH PULLEY-.625 X 2.0 DBL 4L BELT Little Wonder $31.52
218SH SPRING-.44 X .68 X 1.12 Little Wonder $3.57
219SH BRKT-LEVER BELT SLACKENER Little Wonder $5.76
22-002 HOSE  PUSH LOCK 5/8 X 20 Other $83.02
22-008 HOSE Other $98.20
220120-20561 Cushion Common $6.57
220120-20661 Cushion Common $6.93
223SH LABEL THROTTLE CONTROL Other $9.07
2242SA Cutter Bar 42 In SE Little Wonder $228.24
224SH DECAL-KEY SWITCH Other $23.30
225SH Lift Handle Little Wonder $10.31
24-1 Blade Assy 24 In SE Outside Little Wonder $85.13
24-1D Blade Assy 24 In DE Outside Common $87.41
24-2 Blade Assy 24 In SE Inside Little Wonder $83.49
24-2D Blade Assy 24 In DE Inside Common $85.82

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



24-3 Frame Bar Elec 24 In DE Little Wonder $22.68
24-42 Comb 24 In DE Little Wonder $31.14
253SH PLATE-ADAPTER HONDA ENG Little Wonder $25.05
26-010 O-RING BAND  FOR 26-009 Other $3.11
264SH DEFLECTOR-EXHAUST Little Wonder $52.39
265SH M4x8 Phillips Head SelfTapping Little Wonder $1.04
267SH SUPPORT-HANDLE RH Little Wonder $23.70
2850-41410 Bearing Common $9.81
2850-41510 Washer Common $3.40
2AR-24130-00 LinHai, Cap Assy, Fuel Tank Little Wonder $3.98
2AR-24168-00 LinHai Grommet, Fuel Tube Little Wonder $2.25
2AT-14101-00 LinHai,Carburetor Assy Little Wonder $85.07
2AT-15710-00 LinHai,Starter Assy, Recoil Little Wonder $16.57
2AT-24112-00 LinHai, Filter Fuel Little Wonder $2.26
2AT-85642-00 LINHAI COIL ASSY.,IGNITION Little Wonder $36.63
300010SH SE Gas HT Rear Handle Assy Little Wonder $53.24
3000M Motor Assy 220V 30 In Little Wonder $255.83
300104SH Grip Back Half Little Wonder $4.53
300111SH Shock Absorber Little Wonder $1.04
300112SH Support Plate Little Wonder $2.83
300115SH Throttle Cable Little Wonder $10.83
300116SH CONDUIT-15 INCHES. Little Wonder $1.76
300117SH Switch Plate Little Wonder $1.04
300118SH Tie Wire 4 1/2 In Little Wonder $1.04
300121SH Terminal Eyelet Spade Little Wonder $1.04
300122SH Trigger Set Little Wonder $21.32
300159SH Ground Blade 16 In SE Set Little Wonder $96.41
300171SH Stamped Blade 19 In DE Little Wonder $16.27
300182SH Blade Only Inside 19 in SE Little Wonder $143.97
300183SH Blade only 19 in DE Little Wonder $90.49
300184SH Blade Only Outside 24 in SE Little Wonder $107.34
300186SH Blade Only 24 in DE Little Wonder $52.76
300187SH Blade Only Outside 30 in SE Little Wonder $333.31
300192SH WD40 3oz can Mantis $161.25
300193SH WD40 buck slip Mantis $1.04
3002M Motor Assy 220V 16 In Little Wonder $190.74
300300SH Brace Frame Bar Little Wonder $2.83
300310SH Frame Bar 30 In SE w/Studs Little Wonder $41.52
3003SH Field Assy 220V Short Little Wonder $61.72
300400SH Grip Pair DE Little Wonder $56.10
300401SH Grip Left Half Little Wonder $21.58
300402SH Grip Right Half Little Wonder $21.58
300403SH Shock Absorber Little Wonder $1.40
300404SH Handle Front Little Wonder $10.28
300405SH Hand Guard Little Wonder $19.47
3004M Motor Assy 110V 30 In Little Wonder $190.74
300508SH Washer 10-32 Little Wonder $0.46
300511SH Screw 7/8 Phillips Metric Little Wonder $1.04
300513SH Hardware Bag HT Gas SE Little Wonder $29.09
300605SH Label Warning HT Gas Common $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



300608SH Label Cat 2230SAHM Mantis $1.04
300611SH Label Cat 2224DAHM Mantis $1.55
300612SH Label Cat 2224DAH Little Wonder $1.04
300624SH Label Warning HT Norway Little Wonder $1.04
300634SH Label Warning Finland Mantis $0.43
300636SH Label Cat SGHT30 Mantis Mantis $2.23
300815SH Insert Blade Guard 16/24 In DE Common $5.13
300823SH Insert Blade Guard 42 In SE Little Wonder $5.87
300828SH Insert Gas DE Handle w/o Eng Mantis $5.56
30-1 Blade Assy 30 In SE Outside Little Wonder $82.16
3015SH Trigger Housing Little Wonder $4.20
301686SH GUARD  CHAIN Other $23.46
30-1D Blade Assy 30 In DE Outside Little Wonder $94.63
30-2 Blade Assy 30 In SE Inside Little Wonder $83.81
3020A Loop Handle Inside Little Wonder $30.63
3020A-3021A Loop Handle Set Little Wonder $42.65
3021A Loop Handle Outside Little Wonder $16.20
3022A Spring Loop Handle Little Wonder $5.76
30-2D Blade Assy 30 In DE Inside Little Wonder $89.40
30-3 Frame Bar Gas 30 In SE Little Wonder $82.00
30-3-1 Frame Bar Elec 30 In SE w/Stud Little Wonder $30.45
3036-B Nut Lock 1/4-28 Little Wonder $1.04
30-4 European Finger Guard Little Wonder $10.57
30-42 Comb 30 In DE Little Wonder $29.62
310452SH Housing Main Left Mantis Mantis $19.51
3111398-11 IMPELLER ASSY. Little Wonder $32.48
31915-ZOH-003 Spark Plug NGK CMR5H Honda 25 Mantis $9.56
319SH Gasket Common $1.04
33135SH ROD BRAKE Mantis $13.39
33150SH BODY  TURNBUCKLE 7/16 Mantis $37.00
33152SH ROD  RH TURNBUCKLE Mantis $51.28
33155SH BUSHING  CASTER WHEEL Other $16.10
33157SH PIN-PIVOT UNPAINTED Mantis $48.58
33740-60C11 CORD  HIGH TENSION #3 Other $63.02
33750-70B31 CORD  HIGH TENSION #4 Other $50.06
3412098A Snow spade-Snow Thrower Mantis $24.59
3501-02A CE Battery Pack 58 Volt, 2.5 A U.S. Mantis $192.75
351000-05060 Rt Handle Assy Common $14.05
351011-54330 Handle Bracket Common $7.36
357M Label Round Power Mantis Mantis $1.04
357S Label Edger Std Little Wonder $0.82
357SH Label Round Power LW Little Wonder $1.04
372SH Eccentric Gear Common $66.59
374SH Bushing Upper Common $2.83
376-1 Cap Plug Common $1.04
400011SH Elec Tiller Transw/Drive Shaft Mantis $229.19
400102SH Jakob Tiller Brace Gas Mantis $7.36
400113SH ME Tiller Brace Elec Mantis $5.72
400116SH Handle Brace Assy Red Max Mantis $1.10
400118SH Honda Tiller Brace Russia Mantis $1.05

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



400120SH Gas Tiller Brace Assy Mantis $6.39
400121SH Elec Tiller Brace Assy Mantis $6.20
400123SH Elec Tiller Brace Assy CSA Mantis $5.89
400128SH SCREW 1/4-20 X 3-1/2 HEX Other $2.69
400130SH Adaptor Engine 22cc/25cc Mantis $14.72
400131SH Clutch Drum 22cc/25cc Mantis $31.17
400132SH Bearing 25mm Mantis $13.60
400138SH Clutch Drum 31cc Mantis $55.24
400139SH Clutch Housing 31cc Mantis $29.80
400141SH Honda 25cc USA Eng w clutch Mantis $524.89
40-018 IDLER ARM  2-48 TILLER LOWER Other $49.27
400200SH Inner Left Boloteen Tine Mantis $1.70
400204SH Worm, Electric Tiller Little Wonder $24.39
400205SH Worm Gear, electric Tiller Mantis $74.37
400206SH Oil Bottle 2.7oz 10W30SJ Mantis $3.51
400208SH Oil Bottle 3.4oz 10W30SJ Mantis $4.32
400210SH Boloteen Tiller Assy Left Mantis $21.79
400211SH Boloteen Tiller Assy Right Mantis $21.79
400212SH Boloteen PFT Assy Left Mantis $11.60
400213SH Boloteen PFT Assy Right Mantis $11.60
400215SH Trigger Assy Tiller Black Mantis $37.59
400220SH Grip Handle Thru Black Mantis $3.54
400221SH Upper Handle For Throttle Blue Mantis $11.89
400224SH Handle Tube Lower FDH Mantis $15.71
400230SH Plug Handle Mantis $1.04
400239SH Ground Wire Red Max Tiller Mantis $24.97
400240SH Throttle Cable Red Max Tiller Mantis $6.79
400242SH Handle Upper Right Black Mantis $19.48
400248SH Spark Plug BPM-8Y Mantis $9.86
400253SH Upper Handle Assy RM Right Mantis $49.97
400274SH Switch Rocker tiller handles Mantis $1.95
400290SH Handle Assy Right 4 Cycle Mantis $49.90
400295SH Kit 2 cycle upper left handle Mantis $46.13
400296SH Kit 4 cycle upper left handle Mantis $48.42
401100SH Plow Plate Mantis $29.07
401103SH Hardware Bag Plow Mantis $8.10
4043SH Label Fender Echo Mantis $1.04
405-1 WASHER-41/64 X 1-3/8 X 12 GA Little Wonder $1.04
4108SH Oil 3.4oz Bottle 5 Liter Mantis $2.84
4164159-01 CABLE-THROTTLE, 29.25 Little Wonder $40.86
4164159-02 CABLE-THROTTLE, 29.25 Little Wonder $80.00
4164192-01 SPACER-PWDR MTL .635X1.0X.25 Little Wonder $1.04
4164204-01 S-BEARING, WHEEL 5/8 Common $4.96
4166170-01 CABLE-THROTTLE Little Wonder $40.86
4166170-02 CABLE-THROTTLE Little Wonder $40.86
4166170-03 CABLE-THROTTLE 42.5 Little Wonder $40.86
4166170-04 CABLE-THROTTLE 41" Little Wonder $31.12
4166170-05 CABLE-THROTTLE 38" Little Wonder $31.12
4166324-02 BEARING-PLASTIC .500 ID Little Wonder $2.04
4166366-01 CABLE -THROTTLE 41" Little Wonder $33.39

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4167164-01 FAN/PULLEY KIT Little Wonder $66.82
4167549-01 CABLE-THROTTLE,HONDA Little Wonder $22.35
4167549-02 CABLE-THROTTLE Little Wonder $21.70
416A Wheel Crevice Cleaner Assy Mantis $82.64
4177482-01 BLT-HHSC 5/16-24 x 1-3/4 GRD 8 Little Wonder $1.04
4177482-02 BLT-HHSC 7/16-20 x 1-3/4 GRD 8 Little Wonder $1.10
4177482-03 BLT-HHSC 3/8-24 x 1-3/4 GRD 8 Little Wonder $1.04
4177482-04 BLT-HHSC 3/8-24 x 2-1/2 GRD 8 Little Wonder $1.10
4177482-05 BLT-HHSC 7/16-20 x 2-3/4 GRD 8 Little Wonder $5.90
4177482-06 BLT-HHSC 3/8-24 x 3 GRD 8 Little Wonder $5.22
418-1 Retaining Pin Mantis $1.04
42-1 Blade Assy 42 In SE Outside Little Wonder $117.88
42-2 Blade Assy 42 In SE Inside Little Wonder $114.60
424SH Bearing Worm Thrust Mantis $4.32
435SH Bearing Seal Retainer Mantis $1.04
436SH Gasket Housing Mantis $1.04
437A Housing Cover Mantis $1.82
438L Tine Curved Left Mantis $11.65
438LA Tine Assy Tiller Left Mantis $52.56
438LA-1 Tine Assy Narrow Left Mantis $35.34
438LF Tine Assy Flat Left Mantis $31.02
438LFA Aerator Assy Left Mantis $42.55
438R Tine Curved Right Mantis $11.65
438RA Tine Assy Tiller Right Mantis $52.56
438RA-1 Tine Assy Narrow Right Mantis $35.34
438RFA Tine Aerator Assy Right Mantis $42.55
439SH Hub Tiller Wheel Mantis $17.03
443SH LOCK PIN 1/4 x 3/4 Mantis $5.76
448SH Bracket Wheel Little Wonder $50.64
449SH Transmission Bracket Mantis $23.36
4500-13120 Gasket Base Mantis $4.32
4500-13130 Gasket Carburetor Mantis $2.83
4500-13160 Insulator Mantis $18.89
4500-21100 Crankcase Comp Mantis $84.96
4500-21140 Gasket Case Mantis $1.37
4500-32110 Cover Mantis $44.65
4500-32120 Screw Mantis $1.04
4500-32210 Guard Mantis $4.43
4500-42000 Crankshaft Comp Mantis $134.71
4500-75120 Reel Mantis $20.58
4500-75150 Screw Mantis $2.83
4500-75180 Collar Mantis $1.04
4500-75210 Pulley Mantis $7.45
4500-75511 Screw Mantis $1.04
4500-85230 Holder Mantis $2.83
451SH Oil Bottle Mantis $2.53
458SH Bearing Roller Closed End Mantis $6.89
46006-1B ARM AY IDLER W/FITTING Other $82.17
46145N S KIT CHECK VALVE-HYD Other $91.89
4700-12110 Cylinder Mantis $305.90

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



4700-13150 Gasket Insulator Mantis $2.99
4700-15211 Muffler Gasket Mantis $5.88
4700-41110 Piston Mantis $29.25
4700-51110 Clutch Shoe Mantis $34.84
4700-71110 Rotor Mantis $49.75
4700-71200 Coil Assy Mantis $217.72
479SH Toggle Switch1 Mantis $7.70
4810-72111 Cap Plug Common $24.38
4810-81260 Diaphram Common $15.77
48184N S DRUM BRAKE Other $294.21
48228-07 CLIP-CABLE INSULATED Common $0.85
48313A BALL JOINT 5/8-18 Other $73.60
48319-02 CLAMP-MUFFLER 1-1/2 Other $6.78
487MA Label Engine 50 to 1 Mantis $1.04
489-1 Spacer Thatcher Long Mantis $1.04
489-2 Spacer Thatcher Short Mantis $1.04
495L Thatcher Plate Assy Left Mantis $24.38
495R Thatcher Plate Assy Right Mantis $17.02
5500-12213 Gasket Insulator Mantis $1.37
5500-13121 Gasket Insulator Mantis $1.04
5500-13131 Gasket Carburetor Mantis $1.04
5500-21141 Gasket Mantis $1.16
5500-41410 Bearing Mantis $13.96
5500-72130 Grommet Mantis $1.04
5500-85300 Pipe Comp Mantis $48.45
5910-41210 Piston Ring Common $13.59
5910-85510 Screw Common $1.04
610223-11520 Clutch Case Common $98.48
610325-02730 36/10 Woodruff Key Common $2.83
64018-36 BLT-CRG 1/4-20X1-3/4 GR5 SN Little Wonder $0.57
64025-25 NUT-HEX #4-40 Other $1.04
64025-36 NUT-HEX 1-1/8-18 SLOTTED TRW Other $41.36
64044-17 SCREW-SET 10-32X3/4 Other $0.90
64044-21 SCREW-SOCKET HEAD SET  BRASS P Other $3.82
64044-9 SCREW-SET 8-32 X 3/8 Other $1.04
64061-34 S ROLL PIN-1/4X5/8 Other $4.04
64123-127 BLT-HEX 3/8-24X1-3/4 GR8 Little Wonder $1.04
64123-183 BLT-HEX 7/16-20X2 GR 8 Little Wonder $1.83
64123-19 BLT-HEX 1/2-20X1 Little Wonder $1.04
64123-252 BLT-HEX 3/8-16X5-1/2 Little Wonder $2.30
64123-253 BLT-HEX 7/16-20X1-3/4 GR8 Little Wonder $1.04
64123-261 BLT-HEX 7/16-14X4 Little Wonder $2.96
64123-263 BLT-HEX 5/16-24X2 GR 8 Little Wonder $1.04
64123-288 BLT-HEX 1/4-20X2-1/4 FULL THD Little Wonder $1.51
64123-291 BLT-HEX 7/16-20 X 3-1/4 Little Wonder $1.41
64123-293 BLT-HEX 1/2-13 X 3-1/2 FLTHRD Little Wonder $11.00
64123-298 BLT-HEX 5/8-18 X 4-1/2 GR 8 Little Wonder $5.13
64123-303 BLT-HEX 7/16-20X3 1/2 GR8 Little Wonder $6.39
64123-341 BLT-HEX,3/8-24X3 GR8 Little Wonder $5.22
64139-20 BLT-WLF M6-1.00X16 Little Wonder $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



64139-26 BLT-WLF 10-32 X 5/8 Little Wonder $1.04
64144-39 RING-RET 17MM EXT Little Wonder $1.04
64151-31 NUT-HEX 10-32 CENTERLOCK Little Wonder $1.04
64152-27 SCREW-SP 1/4-20X5/8 Little Wonder $1.04
64152-68 SCREW-MACHINE  10-32X5-1/2 HH Little Wonder $4.32
64152-70 SCREW-HEX FL HD 10-32 X 3/4 Little Wonder $1.04
64163-103 WSHR-FENDER, 1/4X1 Little Wonder $1.04
64163-92 WSHR- .328 X 1.00 X .313 Little Wonder $22.13
64164-22 KEY-3/16 X 7/8 #11 WOODRUFF Other $1.10
64164-27 S-KEY-SQ 1/4 X 1.0 RND END Other $6.36
64164-41 KEY-SQ 3/16 X 3 Little Wonder $1.04
64164-46 KEY-SQ 1/4 X .500 RND END Little Wonder $3.39
64166-15 BLT-SHLDR .313X1.375X1/4-20 Other $34.41
64166-19 BLT-SHLDR .50X4.50X3/8-16 Other $17.54
64-174 BATTERY SUPPORT Other $17.84
64176-03 PIN COILED SPRING 1/4X2 Other $4.09
64176-05 PIN-COILED SPRING 3/8X1-1/16 Other $8.26
64-181 HOOD HINGE LEFT Other $14.41
64-182 HOOD HINGE RIGHT Other $14.41
64188-85 PIN-CLEVIS, 1/4 X 1/2 Little Wonder $1.04
64189-7A BLT-HEX SOC 10-24X1 Other $0.71
64189-8A BLT-HEX SOC 1/2-13X1.25 Other $3.19
64207-02 NUT-HEX M5-0.8 Other $0.27
64207-05 NUT-HEX M4-.7 Other $1.04
64209-14 WSHR-CON SPRING .531 X 1.625 Little Wonder $6.39
64214-01 NUT-WING 5/16-18 Little Wonder $1.04
64221-06 E-RING .562 Little Wonder $1.04
64223-05 SCH CAPSCR M12X1.75X30 Other $5.57
64229-12 NUT-NYLON LOCK 5/8-18 Other $0.89
64239-01 BLT-T 5/8-18X3 3/4 G8 Other $25.55
64240-02 NYLON WASHER 17.2X26X1.4MM Other $3.43
64243-01 BLT-CRG M10-1.50X30 Other $3.43
64245-01 PIN-ROLL METRIC 2X16 Other $4.22
64250-07 INSERT-GRIP M10-1.5X21.60 Other $5.93
64251-006 WSHR-M14 Other $1.01
64254-01 NUT-CARRIAGE M18-1.5 Other $5.27
64255-01 INSERT-RIVNUT 5/16-18 Little Wonder $6.48
64262-020 BLT-FLG HD 3/8-16 X 2-3/4 Little Wonder $1.98
64262-024 BLT-FLG HD 5/16-18 X 2-1/2 Little Wonder $1.28
642SH Arm Blade Elec Little Wonder $2.15
65362-04 RUBBER-CLAMP 10IN Other $5.96
6555D-1 Incomplete Demo 6555 Mantis $18.16
701021SH Blade Chipper Post 8-92 Little Wonder $43.23
701022SH Spacer Feeder Blade Little Wonder $2.15
701023SH Spacer Feeder Blade Little Wonder $5.56
701312SH Wire Clamp Little Wonder $1.04
701317SH Belt Tensioner Top Assy Little Wonder $19.06
720569SH Washer 5/16 - 1/8 In Thick Little Wonder $1.06
75065-1N VINYL EXTRUSION 13.5 Other $2.57
78020N VALVE FUEL SHUTOFF Other $12.05

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



8440-990101 YAT-Rotary blade assembly Mantis $20.57
889000-05065 Gasket Kit Mantis $31.09
889000-45131 Gasket Kit Mantis $38.66
8NH-08D YAT, LOCK NUT M8x8mm LG HEX HD Mantis $0.54
8SFDD08-40D YAT,BOLT M8x40mm LG,8.8 GR HH Mantis $0.54
900100-05025 119 Bolt 5 x 25 Mantis $3.03
900105-05055 S H Bolt Hex 5x55 Mantis $1.06
900105-05070 Bolt 5 x 70 Mantis $2.83
900162-04018 Bolt HS 4 x 18 Mantis $1.41
900162-04020 Bolt 4 x 20 Mantis $1.04
900162-04022 Bolt 4 x 22 Mantis $1.04
900162-05020 SH Bolt 5x20 Mantis $1.04
900162-05022 Bolt 5 x 22 Mantis $1.04
900162-05028 Bolt HS 5 x 28 Mantis $2.83
900163-04016 Bolt HSH Mantis $1.04
900220-05025 88/97 Screw 5 x 25 Mantis $1.04
900220-05028 Screw 5 x 28 Mantis $1.04
900238-04010 4 x 10 Screw Mantis $1.04
900238-04014 Screw SMB 4 x 14 Mantis $1.04
900238-04016 Screw 4 x 16 Mantis $1.04
900238-04018 Screw 4 x 18 Little Wonder $1.65
900238-04022 Screw SMB 4 x 22 Mantis $1.04
900238-05016 Screw 5 x 16 Mantis $1.04
900238-05020 Screw SMB 5 x 20 Mantis $1.04
900238-05022 Screw SMB 5 x 22 Mantis $1.04
900238-05025 Screw 5 x 25 Mantis $1.04
900238-05028 Screw SMB 5 x 28 Mantis $1.04
900238-06012 Screw 6 x 12 Mantis $1.04
900242-04010 Screw 4x10 Mantis $1.04
900242-04016 Screw 4 x 16 W/W Mantis $1.04
900242-04018 Screw 4 x 18 Mantis $1.04
900242-04020 1 Screw 4 x 20 W/W SW Mantis $1.04
900242-05057 Screw 5 x 57 W/W Mantis $1.04
900242-05065 Screw 5 x 65 Mantis $1.04
900246-05014 Screw 5 x 14 Mantis $1.04
900250-05014 Screw 5 x 14 Mantis $1.04
900250-05016 Screw 5 x 16 Mantis $1.04
900253-05020 Screw 5x20 Tapping Mantis $1.52
900275-05015 Screw 5 X 15 Mantis $1.04
900500-00005 89/98 Nut 5 Mantis $1.04
900500-00008 Nut 8 Mantis $1.04
900502-00005 Nut 3N-5 Mantis $1.04
900502-00006 76/41 Nut 6 Mantis $1.04
900527-00005 Wing Nut 5 Mantis $2.83
900528-00005 Nut Wing 5 Mantis $1.41
900560-00005 Lock Nut 5 Mantis $1.41
900560-00006 Lock Nut 6 Mantis $1.04
900600-00005 80/118 Washer 5 Mantis $1.04
900600-00010 Washer 10MM Mantis $1.21
900603-00005 Washer 5 Mantis $1.04

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



900605-00005 81 Spring Washer 5 Mantis $1.04
900605-00006 Washer Spring 6mm Mantis $1.04
900605-00008 17/64 Spring Washer 8 Mantis $1.04
900610-00004 Washer TWA-4 Mantis $1.04
909A Hub Fan 6 Little Wonder $16.92
911070-4008 Screw 4 x 8 Common $1.04
913670-4012 Screw 4 x 12 Common $1.04
914A Hub Fan 8/9/10/13 Little Wonder $18.73
916-1 Handle Support Little Wonder $1.04
916-2.10 HANDLE LOWER Little Wonder $164.87
929-1 Cover Plate Little Wonder $24.50
934B BEARING 5/8 X 1-3/8 WHEEL Little Wonder $6.55
940353-6201 Ball Bearing Common $8.41
94103-05700 Washer Plain Mantis $1.88
94123-341 BLT-HEX,3/8-24X3 GR8 Little Wonder $3.72
94702-00006 LINHAI PLUG,SPARK(CMR5H)(NGK) Little Wonder $13.13
A01100-0101 Crankshaft Mantis $147.01
A01100-0210 Crankshaft Assy Mantis $235.27
A01100-0271 Crankshaft Assy Mantis $235.27
A01100-0350 Crankshaft Assy Mantis $221.94
A01100-0390 Crankshaft Asy (includes #10) Mantis $212.76
A02100-1093 Carburetor Mantis $121.35
A05100-0640 Starter Assy Mantis $212.98
A05100-0950 Starter Assy Mantis $142.80
A05200-0150 Starter Pawl Assy Mantis $13.49
A10100-0000 Ring Piston Mantis $10.94
A10100-0090 Ring Piston Mantis $10.04
A13000-0420 Cylinder Mantis $99.33
A13000-0531 Cylinder Mantis $145.24
A13000-0550 Cylinder Mantis $120.95
A16000-0610 Cover Cylinder Mantis $28.33
A22600-1410 AIR FILTER Mantis $10.90
A23200-0041 Air Cleaner Lid Mantis $12.51
A30000-0411 Muffler Mantis $138.72
A30000-0521 Muffler Mantis $72.08
A31300-0700 Guide, Exhaust Mantis $10.91
A35000-0300 Fuel Tank Mantis $26.23
A35000-0640 Tank Fuel Mantis $18.53
A35600-0031 Valve Check Mantis $12.50
A411000080 Coil Assy W/Shorter Wire Mantis $123.97
A41100-0130 Coil Ignition Mantis $90.04
A41100-0171 Ignition Coil Mantis $193.43
A41100-0220 Coil Ignition Mantis $134.27
A570000050 Engine Adaptor Only Mantis $57.94
BAG7222 Hardware Bag Cultivator Mantis $7.47
BAGEDGERS Hardware Bag Edger 4163163 Little Wonder $3.13
C100482 B&S 6.2 HP 205cc Little Wonder $993.78
C100524 Label SPEED CONTROL Little Wonder $3.85
C100525 Label ENGAGE TRANSMISSION Little Wonder $4.32
C100584 BLADE-FLAT BC 24 Little Wonder $30.46

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



C100584-01 BLADE-FLAT BC 26 Little Wonder $38.83
C100585 TRANSAXLE Little Wonder $888.32
C100591 CLUTCH-BRAKE Little Wonder $339.60
C100608 THROTTLE-LEVER Little Wonder $19.24
C100610 SPRING-CLUTCH BRAKE Little Wonder $8.17
C100611 SPRING-OVERTRAVEL Little Wonder $18.20
C100614 Label BRC24 Little Wonder $3.61
C100615 Label LITTLE WONDER,RED Little Wonder $4.20
C100616 Label LITTLE WONDER,WHITE Little Wonder $4.90
C200057 PULLEY-BRUSHCUTTER Little Wonder $28.76
C300150 SPACER-1.5OD X .765ID X 1.223 Little Wonder $13.82
C300151 SPACER-1.25OD X 1.0ID X 5.95 Little Wonder $16.84
C300185.17 BRACE-HANDLE GUARD Little Wonder $72.00
C400174 KNOB-1/2 IN Little Wonder $24.20
C400273.17 GUARD-LINK Little Wonder $13.48
C400274.17 WLDMT-TRACTION LEVER Little Wonder $78.07
C400275.17 WLDMT-HANDLE Little Wonder $230.67
C400277.17 GUARD-HANDLE Little Wonder $51.64
C400279.17 WLDMT-TRACTION IDLER LINK Little Wonder $36.27
C400280.17 WLDMT-LEVER, BLADE CONTROL Little Wonder $54.67
C400282.17 WLDMT-SKID SHOE,RIGHT Little Wonder $61.52
C400283.17 WLDMT-SKID SHOE,LEFT Little Wonder $63.35
C400284.17 WLDMT-BUMPER Little Wonder $106.03
C400285 BAR-TRACTION IDLER PIVOT Little Wonder $14.34
C400286 ROD-FLAP SUPPORT Little Wonder $20.75
C400287.17 FLAP-OUTER RIGHT Little Wonder $17.22
C400288.17 FLAP-INNER LEFT Little Wonder $17.88
C400289.17 FLAP-CENTER Little Wonder $17.35
C400290.17 FLAP-INNER RIGHT Little Wonder $17.88
C400291.17 FLAP-OUTER LEFT Little Wonder $17.22
C400293.10 COVER-BELT HOUSING Little Wonder $18.71
C400294.10 WLDMT-FRONT COVER Little Wonder $38.30
C400297.10 WLDM-ENGINE DECK Little Wonder $440.91
C400300.7 WLDMT-HSG BLADE SPINDLE Little Wonder $129.99
C400301 WLDMT-BRAKE LINKAGE Little Wonder $17.35
C400302 WLDMT-TRACTION LINKAGE ROD Little Wonder $31.80
C400303 WLDMT-LEVER CONNECTING LINK Little Wonder $25.41
C400304.17 WLDMT-LEVER PUMP LINK Little Wonder $29.49
C400305 WLDMT-TRANSAXLE LINK,LEFT Little Wonder $28.84
C400306 ROD-TRACTION LINKAGE Little Wonder $14.25
C400307.17 WLDMT-MIDDLE LINK Little Wonder $34.47
C400308 ROD-BLADE CONTROL LINK Little Wonder $18.20
C400310 LINK-TRANSAXLE,RIGHT Little Wonder $16.10
C400311 SHAFT-PLUNGER Little Wonder $15.90
C400312.7 WLDMT-BLADE HUB Little Wonder $417.00
C400313 BLADE HUB WASHER Little Wonder $5.05
C400314 SPACER-17/32ID 2-3/16OD 1/4THK Little Wonder $3.61
C400316.7 ARM-TORQUE Little Wonder $6.24
C400457 REAR WHEEL SPACER Mantis $33.20
CT00005 Cover Mantis $148.00

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



CT01681-00 LOWER SUPPORT Mantis $84.76
CT01683-00 SUPPORT SPACER Mantis $23.50
CT01686-00 CT DRIVE WHEELS Mantis $12.98
CT01688-00 CT DRUM SEGMENT B Mantis $52.27
CT01689-00 CT END CAP Mantis $99.87
CT01691-00 CT TIE ROD Mantis $7.69
CT01694-00 LATCH HOOK (CT/CCT) Mantis $2.04
CT01698-00 AERATOR BASE (CT/CCT/BPC) Mantis $10.09
CT01699-00 AERATOR CAP (CT/CCT/BPC) Mantis $12.98
CT01825-01 Latch (CT/CT2) Mantis $6.66
CT01833-00 CT DRUM SEGMENT A Mantis $52.27
CT01839-00 DOOR  (CT/CCT) Mantis $36.74
CT01841-01 CT2 BRACKET #1 (1 PC =L & R) Mantis $9.54
CT01842-00 DOOR FRAME SEGMENT Mantis $46.52
CT01896-01 Box 1 Mantis $495.79
CT01896-01E Box 1 Europe Mantis $481.35
CT01896-02 Box 2 Mantis $495.79
CT01896-03 Box 3 of CT01001 Mantis $481.35
CT01908-00 CCT END CAP Mantis $68.55
CT01915-00 CCT DRIVE HANDLE W.A. Mantis $56.24
CT01986-00 CT Drum Hardware Bag Mantis $34.67
CT02047-00 CCT STUB AXLES Mantis $1.91
CT02048-00 GRIP (CT/CCT) Mantis $2.68
CT02049-00 GRIP CAP (CT/CCT) Mantis $0.98
CT02050-00 CCT LEG FINISHED Mantis $42.80
CT02054-00 CCT PANEL A Mantis $46.16
CT02055-00 CCT PANEL B Mantis $64.68
CT02070-00 Frame Hardware Mantis $0.78
CT03506-00 BPC WHEEL Mantis $7.21
CT03530-00 BPC END CAP Mantis $36.20
CT06004-14 Bolt,1/4-20X3-1/4 HH, GRADE 2 Mantis $1.04
CT06018-04 Wing Nut, 1/4-20, STEEL ZINC Mantis $1.04
CTK1994-00 Drum Kit Mantis $340.24
D16-220-72 Cord 220V Little Wonder $13.82
D16-220-72B Strain Relief 220V Little Wonder $4.32
D16-56A1 Handle Lower Half Modified Little Wonder $5.60
D16-56BL Spacer Switch Box Left Little Wonder $0.75
D16-56BR Spacer Switch Box Right Little Wonder $0.71
D16-56D1 Lockout Lever 110V Little Wonder $2.74
D16-56D3 Lockout Lever 220V Little Wonder $1.04
D16-56D4 Spring Lockout Little Wonder $1.04
D16-56F Wear Plate Little Wonder $7.20
D16-63A Screw End Bell Little Wonder $1.04
D16-69J Insert Little Wonder $1.04
D16-71 Gasket Cover Plate Little Wonder $1.04
D16-72E Screw Clamp Little Wonder $1.04
L1810045 STRING, SPOOL .06 Mantis $6.85
LW100 PLATE-DECK EDGER Little Wonder $57.88
LW198 ROD-DRAW BELT SLACKENER Little Wonder $10.66
LW3410835-4 Knob-Snow Thrower Mantis $10.53

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



LW4018 Screw Collar 10-32 x 1 Mantis $1.04
M0198 Book Digging in the Dirt Mantis $19.02
M9429 Gasket QJT Cap Mantis $0.69
M9452 BOLT 1/4-20 X 1/2" LONG Mantis $1.04
M9571 Counter Knife Mantis $46.24
M9615 Spring Dethatcher 80 Mantis $39.06
M9778 Nut 10-32 Mantis $1.04
M9791 Spray Wand Assy Plastic Mantis $80.55
M9993 Air Filter SV2AE 6 Pack Mantis $24.93
M9994 Air Filter SV4 6 Pack Mantis $68.59
M9995 Retaining Pins 12 Pack Mantis $17.11
M9996 Pack of 6 Pins Mantis $11.64
MP010001 Safety Chain 1800lbs w/ hk TB Little Wonder $202.31
MP010002 Quick Link Safety Hook (18HP) Little Wonder $24.69
MP010003 Boom / Hose Support Chain Little Wonder $38.48
MP010004 "Metal Hose Clamp 8"" W/ Hdwre Little Wonder $116.12
MP010006 "Worm Drive Clamp 8"" Pkg 10" Little Wonder $148.00
MP010007 Worm Drive Clamp 10" Pkg 10 Little Wonder $185.24
MP010008 "Worm Drive Clamp 12"" Pkg 10" Little Wonder $249.48
MP010009 "Worm Drive Clamp 16"" Pkg 10" Little Wonder $296.36
MP010010 "Worm Drive Clamp 18"" Pkg 10" Little Wonder $269.64
MP010014 "Metal Hose Clamp 7"" W/ Hdwre Little Wonder $125.04
MP010020 Shaft Spacer 18HP BVG Little Wonder $54.59
MP010021 Throttle Cable 18HP BVG Old Little Wonder $52.94
MP010027 "Lock Knob 5/16-18 Thread 1-3/ Little Wonder $23.32
MP010028 "5/16"" Fender Washer 1-2"" Di Little Wonder $13.98
MP010030 Hdwre Mtg Kit 29 GV Scallop Im Little Wonder $47.88
MP010030-1 "Sq. Key 29HP Imp. 3/8 SQx3/1/ Little Wonder $38.28
MP010031 Hdwre Mtg Kit 35 Imp. Little Wonder $52.21
MP010031-1 "Sq. Key 35HP Imp. 3/8 SQx4-1/ Little Wonder $31.84
MP010033 210 Debris Bag Little Wonder $321.04
MP010034 Vibration Mt Blower Hdles Set Little Wonder $141.04
MP010035 Brake Lever, No Grip 100 min Little Wonder $148.24
MP010043-1 Key, 3/8x3/8" x 2-1/2" Little Wonder $34.02
MP010045 "Hex Nut 1/2"" (10/pkg)" Little Wonder $14.54
MP010046 "Hex Nut 3/8"" (10/pkg)" Little Wonder $14.25
MP010047 "Lock Washer Split 5/16"" Pkg Little Wonder $12.86
MP010048 "Lock Washer Split 1/2"" Pkg 1 Little Wonder $13.72
MP010049 "Sq. Key 1/4"" x 1"" Long" Little Wonder $21.84
MP010050 "Sq. Key 1/4"" x 2"" Long" Little Wonder $23.68
MP010051 "Hdwre Kit 7/16""-20 x 2"" " Little Wonder $42.88
MP010052 "Hdwre Kit 1/2""-20 x 2"" " Little Wonder $55.94
MP010053 Chain Boom to Nozzle 18hp Little Wonder $52.24
MP010056 Spreader Rear Drop Door Flap Little Wonder $45.12
MP010057 Spreader Front Drop Door Flap Little Wonder $59.29
MP010061 Cone Holder Safety Package Little Wonder $118.15
MP010066 Gasket Discharge Chute 29HP Little Wonder $85.68
MP010067 Gasket Discharge Chute 18HP Little Wonder $65.34
MP010068 Gasket Disch. Chute 35/36HP Little Wonder $108.88
MP010069 "Bridge Clamp 8"" 28/29 Disch. Little Wonder $89.65

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



MP010072 Handle 020060 Swing Arm Little Wonder $68.81
MP010077 Throttle Cable 18HP BVG New Little Wonder $75.04
MP010079 3/8" Threaded Link 2200 lb. Little Wonder $45.98
MP010080 R29 Strap Kit,2 Straps per kit Little Wonder $157.96
MP010081 Snapper Pin, 1/4" x 2" ZP Little Wonder $38.92
MP010082 Latch,Lift/Turn 62-20-31,36hp Little Wonder $150.41
MP010083 Safety Chain 5/16"w/safety hk Little Wonder $190.68
MP010095 HARDWARE MOUNTING KIT 18HP TL Little Wonder $708.68
MP010097 8" Bridge Clamp, Right Hand Little Wonder $139.51
MP010102 Discharge Chute, 14HP Little Wonder $430.39
MP010103 Discharge Liner,Chute,HW 14hp Little Wonder $290.80
MP010107 PLUG, ROUND PLASTIC Little Wonder $520.28
MP010112 Ratchet Straps, 1"x5' 2pk Little Wonder $87.92
MP010113 Ratchet Straps, 1"x4' 2pk Little Wonder $101.21
MP015000 KIT, INTAKE Y ADAPTER Little Wonder $4,071.36
MP017053 3/8-16x1.75 HHCS GRD 5 10 PK Little Wonder $17.13
MP017086 5/16" - 18x1.75 Hex HD Bolt Little Wonder $11.53
MP017088 HEX, 5/16-18-2.0 GR5 Little Wonder $16.11
MP017100 Bolt - 5/8" X 4.50 GR 5 Little Wonder $18.15
MP017108 7/16-20x2 Hex Socket Head Steel Little Wonder $19.17
MP017144 Wing Bolt Little Wonder $23.31
MP017154 NUT, 5/16-18 NYLOCK Little Wonder $16.76
MP017164 Reverse Lock Nut 5/8-11 Little Wonder $14.52
MP017232 5/16" Washer - Split Lock ZP Little Wonder $8.58
MP017255 WASHER, 1/4IN FLAT Little Wonder $15.52
MP020003.17 "Hitch Mt w/48" Stack Ext.14 Little Wonder $1,844.79
MP020003.33 "Hitch Mt w/48" Stack Ext.14 Little Wonder $1,844.79
MP020004.31 Hsing Assy W/Gasket  28/29HP Little Wonder $1,565.64
MP020005.31 Disch. Stack W/Gasket 28/29HP Little Wonder $950.54
MP020006.31 Disch. Exhst W/Gasket 28/29HP Little Wonder $1,318.92
MP020007 Wear Liner Kit 28/29HP SM/TB Little Wonder $557.07
MP020008.31 Trailer Mount Frame - Subaru Little Wonder $2,045.00
MP020008-B.31 Trailer Mount Frame - Briggs Little Wonder $1,998.20
MP020009.17 Stabilizer Leg 28/29HP TB RED Little Wonder $218.08
MP020009.31 Stabilizer Leg 28/29HP TB Little Wonder $207.57
MP020009.33 Stabilizer Leg 28/29HP TB GRN Little Wonder $211.73
MP020010.32 Fuel Cell Tray 28/'29HP SM/TB Little Wonder $214.10
MP020011.17 Fender,RH 29hp RED w/labels Little Wonder $440.44
MP020011.31 FenderRH Tow Behind (only) Little Wonder $310.24
MP020011.32 Fender,RH 29hp GRN w/labels Little Wonder $346.20
MP020012.17 FenderLH W/BRACKET 29HP RED Little Wonder $341.88
MP020012.31 FenderLH Tow Behind (only) Little Wonder $310.24
MP020012.32 FenderLH W/BRACKET 29HP SG Little Wonder $341.88
MP020013.17 SUPPORT STRAP,INT HSE 29HP RED Little Wonder $203.96
MP020013.31 SUPPORT STRAP,INT HSE 29HP SIL Little Wonder $160.32
MP020014.17 12" NOZZLE 29HP RED Little Wonder $307.40
MP020014.31 "Nozzle 28/29HP 12""dia." Little Wonder $284.61
MP020014.32 12" NOZZLE 29HP STEEL GRAY Little Wonder $290.30
MP020015.17 Handle 28/29HP Nozzle RED Little Wonder $279.68
MP020015.31 Handle 28/29HP Nozzle Little Wonder $258.94

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



MP020015.32 Handle 28/29HP Nozzle STL GRAY Little Wonder $264.12
MP020016.17 Draw Bar Assembly 28/29HP TB Little Wonder $783.40
MP020016.31 Draw Bar Assembly 28/29HP TB Little Wonder $675.27
MP020016.32 Draw Bar Assembly 28/29HP TB Little Wonder $698.20
MP020017.17 Hose Guard 29HP RED Little Wonder $99.23
MP020017.31 Hose Guard 28/29HP TB Little Wonder $97.28
MP020017.32 Hose Guard 29HP STEEL GRAY Little Wonder $99.23
MP020018 Cover Plate 28/29HP SM/TB Little Wonder $32.32
MP020019.17 Boom Assembly 29HP RED Little Wonder $747.72
MP020019.31 Boom Assembly 28/29HP SM/TB Little Wonder $608.34
MP020019.32 Boom Assembly 29HP STEEL GRAY Little Wonder $620.50
MP020020.31 FRAME EXT,RIGHT 29HP SILVER Little Wonder $178.31
MP020021.17 Tail light Brackets 28/29 HPTB Little Wonder $98.90
MP020021.32 Tail light BRKT 28/29HP SG Little Wonder $143.56
MP020022.32 LICENSE PLT BRKT 28/29HP SG Little Wonder $100.87
MP020023.31 Fuel Cell HoldDown Bkt 28/29HP Little Wonder $85.00
MP020024.10 Intake Flange 29hp WHITE Little Wonder $464.48
MP020024.31 Intake Cover Assembly 28/29HP Little Wonder $366.97
MP020024.32 Intake Flange 29hp STEEL GRAY Little Wonder $374.32
MP020025 Impeller 29HP MONSTER Little Wonder $1,120.44
MP020026.32 MOUNTING RAIL 29HP SM + 5YD SG Little Wonder $332.70
MP020028 Impeller 18HP MONSTER Little Wonder $885.47
MP020029 Impeller 16HP (GV) Little Wonder $879.60
MP020031 "Impeller 13/14HP 1"" Bush. GV Little Wonder $719.64
MP020031-1 Impeller 13/14HP/GVScallop rep Little Wonder $994.28
MP020032 Impeller 29hp GV Little Wonder $848.28
MP020033 Impeller18HP GV Little Wonder $667.64
MP020034 Wear Liner 18HP GV Little Wonder $408.16
MP020035.31 HSG ASSY 18HP W/LABELS SILVER Little Wonder $2,052.60
MP020036.31 Dis.Stack 18HP W/LABELS SILVER Little Wonder $1,284.56
MP020037.10 INT FLG,18HP W/LABELS WHITE Little Wonder $699.68
MP020037.32 INT FLG,18HP W/LABELS STEEL GR Little Wonder $699.68
MP020038.17 DOOR,INTAKE 18HP W/LABELS RED Little Wonder $347.32
MP020038.32 DOOR,INTAKE 18HP W/LABELS SG Little Wonder $279.56
MP020039.17 Intake Hose Con. 18HP RED Little Wonder $206.32
MP020039.32 Intake Hose Con. 18HP SG Little Wonder $177.03
MP020040.17 Nozz. Assy 10" 18HP RED Little Wonder $305.80
MP020040.32 Nozz. Assy 10" 18HP STEEL GRAY Little Wonder $288.85
MP020041.17 Handle,18HP Nozzle W/GRIP RED Little Wonder $274.68
MP020041.32 Handle,18HP Nozzle W/GRIP SG Little Wonder $264.12
MP020042.17 SUPPT STRAP,INT HSE 18HP RED Little Wonder $211.80
MP020042.31 SUPPT STRAP,INT HSE 18HP SILV Little Wonder $192.61
MP020043.17 Boom Mast 14/18HP RED Little Wonder $301.92
MP020043.32 Boom Mast 14/18HP STEEL GRAY Little Wonder $285.15
MP020044.17 Boom Arm 14/18HP RED Little Wonder $344.08
MP020044.32 Boom Arm 14/18HP STEEL GRAY Little Wonder $324.98
MP020045.32 Batt. Hld-Dn 18HP STEEL GRAY Little Wonder $124.46
MP020046 Cover Plate,IMP HUB 14/18HP Little Wonder $34.32
MP020047 Impeller 14HP MONSTER Little Wonder $693.04
MP020050 Disc. Ext. Chte Elb.16/29HP GV Little Wonder $1,169.67

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



MP020055 "Nozzle 10"" 1pc. style GV" Little Wonder $611.96
MP020057 "Nozzle12"" 1pc. style GV" Little Wonder $621.64
MP020057.7 Nozzle, 12" 1 pc style GV repl Little Wonder $554.28
MP020058 "Nozzle16"" 1pc. Style GV" Little Wonder $645.87
MP020058.7 Nozzle 16"1pc fits Com/Mun GV Little Wonder $761.44
MP020065.31 Throttle Mounting Bracket Little Wonder $56.83
MP020066.31 Ext Chan RT Sprg Latch 28/29HP Little Wonder $220.47
MP020067.17 Wheel Chock Box Sfty Pack. Little Wonder $189.99
MP020067.33 Wheel Chock Box Sfty Pack. Little Wonder $189.99
MP020071 Wear Liner Kit Hrdw GV 25/29HP Little Wonder $540.84
MP020072 Wear Liner 30/35HP TB GV Little Wonder $1,072.24
MP020078 Blwr Hsing 20/29HP W/Liner GV Little Wonder $2,081.97
MP020103.32 Exhaust Shield 18HP SM Little Wonder $110.14
MP020104.31 Hsing & Deck Weld. 14HP Tail. Little Wonder $1,943.74
MP020105.31 Spacer Pivot Chute Little Wonder $42.77
MP020106.31 Stack Flange (SET) - 14HP Little Wonder $100.15
MP020107.31 Rotating Stack Weldment 14HP Little Wonder $686.99
MP020108.31 Sliding Chute Extension Little Wonder $200.86
MP020109 Tailgate Clamp Pad (1) Little Wonder $204.09
MP020110.32 Intake Flange 14 HP (Monster) Little Wonder $310.84
MP020111.32 Intake Door 14 HP Little Wonder $205.34
MP020112.32 Intake Hose Connector14HP Little Wonder $148.88
MP020113 14hp Subaru Crank Spacer Little Wonder $35.54
MP020114 14HP Housing to Engine Spacer Little Wonder $34.00
MP020115 Screw Tailgate Clamp (1) Little Wonder $152.16
MP020116.31 "Disch. Ext. Stack 24"" 18HP" Little Wonder $839.82
MP020117 Locking Strap 14HP Disch. Chte Little Wonder $73.46
MP020118.17 Nozzle Assembly, 8" Red Little Wonder $361.76
MP020118.32 Nozzle Assy 14HP Tail. Mount Little Wonder $211.45
MP020119.17 Handle w/Grip, 8" Red Little Wonder $277.84
MP020119.32 Handle 14HP Nozzle (incl. Grip Little Wonder $182.72
MP020120.31 "Support Strap 18""14HP Band" Little Wonder $156.72
MP020121 Impeller 35HP GV TB/Dump Little Wonder $1,690.03
MP020124 Boom Pivot Assembly GV Little Wonder $688.24
MP020128.31 "48"" Disch. Ext. Stack Kit 14 Little Wonder $692.97
MP020131 Boom 4' 16/29HP GV Little Wonder $482.75
MP020132.31 Blower Housing,35/36hp Silver Little Wonder $2,816.18
MP020133.10 Intake Flange, 35/36hp (WHITE) Little Wonder $1,787.03
MP020136.31 Disch. Stack 35/36HP Little Wonder $1,482.48
MP020138.17 Fender,left 35/36hp w/mrkr red Little Wonder $563.72
MP020139.17 Fender Assembly, Right Little Wonder $560.32
MP020140.31 Disch. Elb. 35/36HP Little Wonder $2,220.32
MP020143.32 Fuel Tank Bracket,35/36hpGRAY Little Wonder $560.32
MP020144.31 Fuel Tank Hold-Down Strp 35/36 Little Wonder $560.32
MP020145.32 Belt Guard Kit,35hp GRay Little Wonder $1,549.65
MP020146 Impeller 35HP W/Mtg hardware Little Wonder $2,257.44
MP020147.17 "Strap Intake Hose 16"" Band" Little Wonder $339.62
MP020147.31 "Strap Intake Hose 16"" Band" Little Wonder $339.62
MP020148 "Clamp 12"" Flex to Elbow" Little Wonder $209.04
MP020149 35HP Impeller Shaft Little Wonder $472.83

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



MP020152.17 35 HP Boom Ass'y Little Wonder $938.49
MP020152.32 35 HP Boom Ass'y Little Wonder $938.49
MP020153 Heat Shield, 35hp B&SVGD Little Wonder $548.36
MP020154.17 "16"" Nozzle TL35BVG" Little Wonder $914.72
MP020154.32 "16"" Nozzle TL35BVG" Little Wonder $710.58
MP020158 TLG13/14 Intake Flange (GV) Little Wonder $349.92
MP020162 Impeller Fast Vac Blower Little Wonder $252.68
MP020179.31 "Disch. Stack Ext.12"" 28/29HP Little Wonder $577.68
MP020180.31 "Disch. Stack Ext.24"" 28/29HP Little Wonder $771.20
MP020181 Exh. Guard 28 TL/SM (Subaru) Little Wonder $58.41
MP020194.32 Fuel Tank Support Bracket, 29hp (STEEL GRAY) Little Wonder $60.68
MP020195.32 Fuel Tank Sprt Brkt Kit 28/29H Little Wonder $47.64
MP020198 Spreader Hopper Weldment Little Wonder $547.54
MP020223.32 SHROUD,RADIATOR DOOR,36HP GRAY Little Wonder $295.33
MP020242 Wear Liner Kit W/Hdwre 16HP GV Little Wonder $487.46
MP020244 Spring Guide GV Style Boom Little Wonder $280.05
MP020247 T-Bolt Little Wonder $70.63
MP020248.31 "Disch. Stack 28/29HP SM/TB 30 Little Wonder $1,639.22
MP020249.32 Tailgate Mounting Option for S Little Wonder $629.26
MP020277.31 Discharge Stack-Short -18HP Little Wonder $1,119.76
MP020305.17 Hose Coupler, 16" Little Wonder $484.07
MP020306.31 Discharge Elbow,10yd TL Silver Little Wonder $4,389.83
MP020307 12" Coupler Little Wonder $368.26
MP020307.17 Hose Coupler, 12" (RED) Little Wonder $594.17
MP020311.7 Trailer Frame, 10-Yard (Black) Little Wonder $11,321.07
MP020312.17 Safety Prop Rod, 10-Yard (RED) Little Wonder $472.05
MP020313.17 Fender, LH 10-Yard (RED) Little Wonder $1,847.51
MP020314.17 Fender, RH 10 Yard Red Little Wonder $1,847.51
MP020315.7 Brkt Ctr Fender Support 10yd Little Wonder $463.24
MP020316.7 Taillight Bracket, LH 10YD Blk Little Wonder $375.69
MP020317.7 Taillight Bracket, RH 10YD Blk Little Wonder $322.86
MP020318.32 Dump Body,10 YD STEEL GRAY Little Wonder $15,576.89
MP020319.32 Tailgate, 10-Yard (STEEL GRAY) Little Wonder $3,010.75
MP020320.32 Leaf Box Front Panel 10YD Gray Little Wonder $3,058.33
MP020321.32 Leaf Box LH Panel 10YD Gray Little Wonder $4,293.92
MP020322.32 Leaf Box RH Panel 10YD Gray Little Wonder $4,293.92
MP020323.32 Leaf Box Rear Header 10YD Gray Little Wonder $2,395.86
MP020324.32 Leaf Box Clamshell Door 10Yd Little Wonder $4,470.50
MP020325.32 Leaf Box Rear Screen 10Yd Gray Little Wonder $3,132.10
MP020326.32 Leaf Box Frt Screen 10YD Gray Little Wonder $3,188.88
MP020327.32 SCREEN CLIPSLEAF BOX 10 YDGRAY Little Wonder $548.36
MP020328.31 Leaf Box Discharge Stack Slvr Little Wonder $2,304.71
MP020329 Wear Liner,Discharge Elbow10yd Little Wonder $562.08
MP020330.31 Skid Mount Base 35hp 10yd silv Little Wonder $6,808.13
MP020331.17 Equipment Box, 10-Yard (RED) Little Wonder $1,584.45
MP020332.17 Lid 10YD Equipment Box Red Little Wonder $815.83
MP020333.32 Battery Hold Down Clips 10Yd Little Wonder $520.28
MP020334.32 Inside Corner Posts 10Yd Lf Bx Little Wonder $520.28
MP020361.17 "Y" Adapter, 16" to 2-8" Little Wonder $1,552.96
MP020371 NOZZLE MOUNT W/MOUNTING HOLES Little Wonder $261.74

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



MP020380 Rod End, Door (10-Yard) Little Wonder $106.24
MP020404 TL14SUB Impeller Little Wonder $929.48
MP020405.17 Hose Flange, 14HP TL Little Wonder $343.62
MP020411.17 Boom Mast, 14HP Little Wonder $615.21
MP020416.31 Clamping Ring, 14 HP Little Wonder $223.39
MP020602.10 FLANGE, DUAL INTAKE AGVAC10 Little Wonder $3,128.34
MP020604.32 PANEL, FRONT FILTR 10YRD Little Wonder $7,655.65
MP020605.32 PANEL, BACK FILTR 10YRD Little Wonder $4,640.25
MP020613.17 NOZZLE, AGVAC 8IN Little Wonder $731.91
MP020700 IMPELLER, AGVAC-IMPELLER, ONLY FOR 8365-06-CSV Little Wonder $4,293.92
MP020710 IMPELLER, AGVAC-IMPELLER Little Wonder $4,293.92
MP030002 Intake/Exhaust Hose-12""x6' E Little Wonder $2,868.78
MP030021 Discharge Hose Metal 12""x 8' Little Wonder $939.32
MP030022 Discharge Hose Metal 12""x10' Little Wonder $1,009.88
MP030023 Discharge Hose Metal 12""x 6" Little Wonder $926.36
MP030024 Discharge Hose Metal 7""x 30" Little Wonder $238.72
MP030025 Discharge Hose Metal 7""x 5'" Little Wonder $509.52
MP030026 Discharge Hose Metal 8""x10'" Little Wonder $563.40
MP030027 "Discharge Hose Metal 8""x5'" Little Wonder $381.00
MP030028 "Discharge Hose Metal 12""x12' Little Wonder $2,836.63
MP030029 "Disch. Hose Flex. 8""x5' Blk Little Wonder $551.48
MP030090 "Int. Hose 10""x10' RFHW BLK" Little Wonder $534.08
MP030091 "Int. Hose 8""x10' RFHW BLK" Little Wonder $591.74
MP030092 Intake Hose 12x10'RFHW BLK Little Wonder $633.60
MP030094 "Int. Ho. 16""x10' FLX-TH HD B Little Wonder $1,214.32
MP030100 "Int. Hose 6""x10' RFH BLK " Little Wonder $343.28
MP030107 Intk Hose 8"x20"RFHW,BLK/BLK Little Wonder $1,365.21
MP030119 FLEXTUBE, 8INX25FT YLW .040 Little Wonder $520.28
MP040001 Axle Cap. 2000 lbs (28/29HP) Little Wonder $1,343.76
MP040002 "Tire & Wheel Assy 15"" Silver Little Wonder $623.58
MP040003 "Hitch Coupler for 2-5/16""bal Little Wonder $492.83
MP040004 "Pintel Coupler 3""" Little Wonder $178.28
MP040005 Jack Sw. Mt Sgle Whl 1000 lbs Little Wonder $194.44
MP040006 "Hitch Coupler for 2"" ball" Little Wonder $466.46
MP040013 Jack Swivel Mount Dual Wheel Little Wonder $294.33
MP040017 "Hitch Pin 7/8""x8"" W/Pull Ri Little Wonder $78.45
MP040018 Axle Cap. 3500 lbs (35/36HP) Little Wonder $1,834.32
MP040019 Axle Lug Nuts 27-008 1/2-20 Little Wonder $13.10
MP040020 Axle,6000lb Straight HD Little Wonder $2,992.08
MP040021 Tandem Axle Hanger Kit 10yd Little Wonder $650.32
MP040023 Jack, (10-Yard) Little Wonder $362.73
MP040024 Axle, 3500lb 5yd Little Wonder $2,683.65
MP050003 PTO Shaft BlowerEnd 4000 Little Wonder $568.99
MP050009 4 Bolt Flange Bearing 1-7/16" Little Wonder $255.44
MP050010 4 Bolt Flange Bearing 1-1/4 Little Wonder $255.44
MP050023 Belt 35BVG Little Wonder $536.00
MP050029 PTO Blower 4000 belt set of 5 Little Wonder $602.94
MP050030 "Q2 X 1-7/16"" Bushing Taper-L Little Wonder $149.33
MP050033 Boom Bearing, 1-1/2" 2-Bolt FB Little Wonder $159.20
MP050041 "Collar 2-1/4"" Single Split" Little Wonder $98.12

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



MP050042 "Hub Taper Lok Type P3 1-1/8"" Little Wonder $196.07
MP050046 Belt, 35hp Impeller Little Wonder $412.04
MP050047 Sheave 6.9x5,Bushing 1-7/16 Little Wonder $524.24
MP050049 Belt Set, Impeller 36hp Little Wonder $514.08
MP050062 Q3x1-7/16" Bushing Taper Loc (35 HP) Little Wonder $251.33
MP050065 Shaft Collar, 2-pc 1-7/16"clmp Little Wonder $122.00
MP060038 CAP, BREATHER HYDRO UNIT Little Wonder $96.11
MP070001 Fuel Cell 6 gal. EPA CARB Little Wonder $528.14
MP070002 35 HP Fuel Cell 7 Gal. Little Wonder $707.49
MP070004 Vapor(EVAP) Cann. 6 Gal 29HP Little Wonder $157.18
MP070005 Vapor (EVAP) Cann. 7 Gal 35HP Little Wonder $157.18
MP070009 36HP Yanmar Fuel Cell 7 Gal. Little Wonder $749.41
MP070010 1/4 Low Perm Fuel Line Little Wonder $109.17
MP070011 1/4 Shut Off Valve Little Wonder $109.17
MP070012 1/2 to 1/4 Reducing Elbow Little Wonder $109.17
MP070013 1/2 Fuel Clamp Little Wonder $109.17
MP070016 7/16 Clamp Little Wonder $109.17
MP070017 1/4 to 3/16 Reducer Little Wonder $50.26
MP070018 1/2 Vapor Line Little Wonder $109.17
MP070019 3/4 Wide Cushion Clamp Little Wonder $107.04
MP070021 2 Tube Cushion Clamp 3/4" 10pk Little Wonder $109.17
MP070022 5/16 to 1/4 Red. Coup. 36hp Little Wonder $50.71
MP070023 1/4 ID Fuel Line Black SAE 5' Little Wonder $109.17
MP070024 5/16 ID Fuel Line Black SAE 5' Little Wonder $110.92
MP070025 1/2" HC,Worm Drive,36hp,10pk Little Wonder $109.17
MP070026 6/7 Gal Fuel Cell Cap29hp/35hp Little Wonder $139.68
MP070027 7 Gal Diesel Fuel Cell Cap/36 Little Wonder $90.99
MP080025 Exhaust Manifold, 29hp Little Wonder $159.60
MP080036 Oil Drain Valve 18&35hp Little Wonder $109.17
MP080037 Oil Drain Tube 18/35/36hp Little Wonder $109.17
MP080045 Control Panel, 36hp Yanmar Little Wonder $2,250.38
MP080051 Adapter,14mm x 1.5 6fp,(35hp) Little Wonder $185.80
MP080052 Metric Bonded Seal 14mm Little Wonder $109.17
MP080053 Clamp, Muffler 35hp Little Wonder $109.17
MP080054 Elbow, Muffler 35hp Little Wonder $109.17
MP080055 Flapper Cap, Muffler 35hp Little Wonder $121.54
MP080060 Flapper Cap, Muffler,YANMAR 36 Little Wonder $135.84
MP080061 Throttle Cable, Yanmar 36hp Little Wonder $359.35
MP080082 Ignition Switch, 36HP Diesel (Yanmar) Little Wonder $355.28
MP080088 Relay, 36HP Yanmar Little Wonder $407.83
MP080089 Timer, (HC0108) 36HP Yanmar Little Wonder $493.30
MP080090 Timer, (HC0119), 36HP Yanmar Little Wonder $594.45
MP080091 Relay 12V 70A, 36HP Yanmar Little Wonder $118.01
MP080119 Isolator, 32 X 32, M8 X 1.25 Stud, 36HP Yanmar Tier 3 Little Wonder $160.51
MP090001 Light Assembly Stop/Tail Little Wonder $72.28
MP090003 Bracket, License Plate W/Light Little Wonder $65.57
MP090004 Battery Box 29HP Little Wonder $106.60
MP090006 Battery 18HP Series Little Wonder $207.95
MP090007 Battery Cable Red, 18HP (8") Little Wonder $63.06
MP090009 Battery Cable, Red 29HP Little Wonder $78.92

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



MP090010 Battery Cable Black,18HP (13") Little Wonder $63.06
MP090011 Battery Cable, Black 29HP Little Wonder $59.84
MP090013 "Micro Switch ""Roller Style"" Little Wonder $68.48
MP090014 "Micro Switch ""Plunger Style" Little Wonder $68.48
MP090017 Speed Control Swtich Little Wonder $87.93
MP090025 Wiring Harn w/Tailight kit29hp Little Wonder $413.65
MP090026 Wiring Harn w/Tailight kt35/36 Little Wonder $548.36
MP090031 Tab Insulator, Red (6/Pkg) Little Wonder $63.06
MP090032 RV Plug, Trailer 7-Way Little Wonder $65.28
MP090035 Battery Cable, Red 43" - 35hp Little Wonder $130.36
MP090036 Battery Cable, Black 43" - 35h Little Wonder $96.96
MP090037 Clamp,Medium,Metal, 10 pk Little Wonder $63.06
MP090038 Battery Cable, Red 56" - 36hp Little Wonder $109.44
MP090039 Battery Cable, Black 56"-36hp Little Wonder $109.44
MP090042 Battery Cable,Black 16"(10yd) Little Wonder $80.84
MP090043 Battery Cable,Red 68"(10-Yard) Little Wonder $150.36
MP090044 Battery Cable,Black 61"(10yd) Little Wonder $145.44
MP090045 Breakaway Switch Little Wonder $77.12
MP090046 11-501 Reflector Little Wonder $63.06
MP090047 11-502 Reflector Little Wonder $63.06
MP090048 3/4" Round LED - AMBER Little Wonder $63.06
MP090049 3/4" Round LED - RED Little Wonder $63.06
MP090050 Strip Light, ID P/N 11-300 Little Wonder $65.57
MP090051 4" Round Incandescent Lights Little Wonder $63.06
MP090052 Cushion Clamp,1/2"wide,(10pkg) Little Wonder $63.06
MP090053 Battery Cable Cover - Black Little Wonder $63.06
MP090054 Battery Cable Cover - Red Little Wonder $63.06
MP090055 Battery Cable, Red 75"10YD36hp Little Wonder $192.68
MP090056 Battery Cable, BLK 68"10YD36hp Little Wonder $186.44
MP100108-1 Label, Safety - Personal Protective Equipment (1 ea.) Little Wonder $25.08
MP100109 Label, Safety - Impeller/Fan Blades (10 ea.) Little Wonder $75.20
MP100109-1 Label, Safety - Impeller/Fan Blades (1 ea.) Little Wonder $27.82
MP100110 Label, Safety - Hot Surface (10 ea.) Little Wonder $93.14
MP100110-1 Label, Safety - Hot Surface (1 ea.) Little Wonder $17.16
MP100112 Label, Safety - No Sit, Stand Ride (10 ea.) Little Wonder $88.21
MP100113 Label, Safety - Transport (10 ea.) Little Wonder $75.50
MP100114 Label, Swirl 18/29HP Little Wonder $94.12
MP100115 LABEL, SWIRL 35-36 HP Little Wonder $180.51
MP100116-1 Label, "18HP" (1 ea.) Little Wonder $37.59
MP100118 LABEL, 35HP Little Wonder $317.91
MP100120-1 Label, 18HP Flap Decal (1 ea.) Little Wonder $58.91
MP100121 Stack Decal Little Wonder $68.15
MP100122 Label, 29hp Stack Little Wonder $178.39
MP100125 Monster Labels - 10 pack Little Wonder $225.35
MP100127 Label, Safety - Crush (10 ea.) Little Wonder $237.33
MP100128 Label, Safety - Safety Arm (10 ea.) Little Wonder $117.98
MP100131-1 Label, Throttle 18HP (1 ea.) Little Wonder $25.08
MP928818 Shipping Leg, 35/36hp Truckloa Little Wonder $271.71
P00500-0620 Retainer Mantis $2.85
P00500-0970 PRIMER BASE Mantis $27.59

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



P00500-0980 Screw Mantis $1.04
P00500-1070 Shaft Throttle Mantis $7.00
P00500-3120 Pump Purge Mantis $7.67
P02100-1113 Piston Kit Mantis $76.74
P02100-4670 Gasket Kit Mantis $20.72
P02100-6160 Cylinder Cover Mantis $81.89
P02100-6193 Gasket Kit Mantis $27.26
P02100-7600 Gasket Kit Mantis $29.71
P02100-7712 Piston Kit Little Wonder $64.66
P02100-7772 PISTON KIT Mantis $49.82
P02100-9110 Gasket Kit Mantis $28.72
P02200-2100 E-Ring Mantis $1.04
P02200-4600 Rope Starter Mantis $6.15
P02200-4610 Spring Pawl Return Mantis $2.83
P02200-4620 Pawl Starter Mantis $3.67
P02200-4630 Screw Mantis $2.83
P02200-4640 Plate Cam Mantis $5.60
P02200-4660 Spring Return Mantis $2.74
P02200-4670 Spring Pawl Mantis $4.32
P02200-4680 Spring Rewind Mantis $11.99
P02200-4690 Drum Starter Mantis $8.34
P02200-4700 Spring Assy Mantis $55.21
P02200-4740 Pawl Starter Mantis $2.74
P02200-4990 Grip Starter Mantis $4.32
P02200-6500 Case Starter Mantis $10.68
P02200-6510 Spring Pawl Return Mantis $3.46
PO2100-1102 Piston Kit Mantis $74.50
V10000-0080 Gasket Cylinder Mantis $7.41
V10000-0160 Gasket Cylinder Mantis $7.21
V10300-1360 Intake Gasket Mantis $2.85
V10400-0072 Gasket Exhaust Mantis $6.35
V104000160 Exhaust Gasket Mantis $1.04
V10400-0410 Exhaust Gasket Mantis $12.22
V10400-0590 Shield Muffler Mantis $11.77
V14100-0010 Plug Mantis $1.04
V15000-0371 Eye Plate Mantis $1.04
V29900-0290 Knob Fastener Mantis $2.83
V47100-1190 Fuel Pipe 3 x 5 x 180 Mantis $2.87
V47100-1200 Fuel Pipe 3x5x70mm Mantis $2.83
V47100-1210 Oil Pipe Mantis $2.83
V47100-1230 Fuel Pipe 3x5x210mm Mantis $7.21
V47100-3720 Pipe, 3 x 5 x 70 Mantis $6.04
V47500-2200 Tube Mantis $1.70
V48500-0450 Igition Lead Mantis $7.82
V48500-1080 Lead Ignition Wire Mantis $3.35
V553000010 Bearing Needle Mantis $11.84
V553000060 Bearing Needle Mantis $9.05

Little Wonder -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23


	SGC MSRP Parts List



